

PUBLISHED BY JOHN WISDEN & CO LTD

# **SCHOOLS CRICKET IN 1988**

Eight of the players selected for the English Schools Under-19 side in 1987 were available again in 1988, owing to younger players having been selected in place of those involved in the 1987 International Youth Tournament in Ireland. Of the internationals, only that against Irish Schools resulted in an outright win, although those against Welsh Schools and Scottish CU Colts might well have been won had the middle-order batting been positive enough to allow earlier declarations.

Including the two matches at Lord's, played under the appellation of MCC Schools, sixteen players appeared for the senior Schools side. They were: N. V. Knight (captain), M. C. J. Ball, N. A. Derbyshire, B. C. A. Ellison, D. A. Graham, N. J. Gregory, A. Habib, D. W. Headley, I. J. Houseman, M. C. Ilott, M. J. Kellaway, J. J. Lewis, M. Patel, P. J. Rendall, N. Shahid and R. W. Sladdin. Their schools may be found in the scorecards of matches played at the MCC Festival, Oxford. Players eligible for the Under-17 matches against the Sri Lankan Schools were not considered for the games against Irish Schools and Scottish CU Colts.

The strength of the team lay in its top-order batsmen and spin bowlers, with a major factor in its success being the captaincy of Knight, the winner of the Gray-Nicolls Trophy, who was quietly efficient and astute in his bowling changes. He was also in fine form with the bat, scoring 369 runs in eight innings, and with his opening partner, Lewis, he always provided a positive start. If not quite reaching the heights of the previous season, Graham gave sound support, while Habib showed much flair and promise for the future. Shahid's best batting form eluded him, but his leg-spin always commanded respect and brought him seventeen wickets. He shared the majority of the 66 wickets taken with Ball, the off-spinner, who was the leading wicket-taker with nineteen, bowling an excellent line either over or round the wicket. Another thirteen were shared between two slow left-armers, Sladdin and Patel, although the latter played in only one match, owing to a school tour. With the efficient Kellaway setting an example behind the stumps, the catching and ground fielding were good.

A feature of the year was the number of schools players who appeared in first-class cricket. M. R. Ramprakash, although still eligible, was not considered for English Schools in view of his commitments with Middlesex. Ball played for Gloucestershire, P. C. L. Holloway, who was withdrawn from the MCC Schools Festival to stand by for Warwickshire, later played for the county, and Ilott was released from the games against Irish Schools and Scottish CU Colts to make his

Championship début for Essex.

Against Welsh Schools at Usk on July 24, 25, English Schools won the toss and elected to bat, as they did in all three home internationals. Well placed at 162 for four, they finally scored only 191 for eight from their 60 overs, the middle order having failed to build on their good start. The Welsh captain, R. D. B. Croft, bowled his off-spin intelligently to take six for 63. In reply, Welsh Schools managed 167 for six, thanks mainly to an innings of 67 from D. L. Hemp. The spinners, Shahid, Ball and Patel, bowled 48 of the 60 overs. England's second innings followed a similar pattern to the first; from 160 for three the required acceleration did not materialise, the declaration was delayed, and Welsh Schools were eventually set 226 in 100 minutes and twenty overs. They lost Hemp for 38, Patel took four wickets in four overs, and the tenth-wicket pair had to survive the last five balls to save the match at 101 for nine. Patel finished with four for 13 and Ball three for 17.

The side then went to Dublin for the first time in four years to play Irish Schools at Leinster CC on August 2, 3. Lewis (40), Knight (73) and Graham (48) again gave the innings substance, taking them towards 235 for five in 55 overs. When Irish Schools replied, Headley took the first two wickets, but the brunt of the bowling was borne by Shahid (four for 46) and Ball. At 129 for nine, Irish Schools were in danger of being asked to follow on, but after five tense overs this was averted and they were dismissed for 155. Led by Knight's 72, English Schools declared after 28 overs at 153 for three, a lead of 233. Following a hostile opening spell from Houseman (three for 32), Irish Schools again lost wickets to Shahid (three for 15) and Ball. Despite a brave 55 in 174 minutes from Dunn, the home side could manage only 104, leaving English Schools winners by 129 runs.

The final game, against Scottish CU Colts, was played at Edgbaston on August 4, 5. Knight (54) and Lewis (36) put on 111 for the first wicket, but apart from Shahid (46) the others made little of the slow left-arm duo of McKnight (two for 48) and Sheridan (five for 49). In reply to England's 197 for nine in 60 overs, the Scottish batsmen fared little better against the slow left-arm bowling of Sladdin (five for 23) and were dismissed for 149 in 59.1 overs. After an opening partnership of 78, Knight 35, Lewis 61, English Schools struggled to 172 for eight before declaring, again unable to cope with Sheridan (five for 41) and McKnight (three for 70). Set 221 to win, Scottish CU Colts were given an ideal start of 95 for the first wicket, but as wickets fell to Headley and Ball (four for 14), they settled for a draw at 141 for eight.

The first tour of England by an Under-17 Schools team saw Sri Lanka play twoday games against two different ESCA XIs, three one-day games and two threeday games against English Schools Under-17. The two-day games at Guildford and Molesey CC were both drawn. The Sri Lankans won the first one-day match, played at Uxbridge, by 123 runs after English Schools had collapsed from 61 for one to 92 all out. However, at Chelmsford the following day the Sri Lankans were dismissed for 161 in reply to England's 220 for four (A. Williams 112 not out, K. Jahangir 53). The deciding match at The Oval was abandoned without a ball bowled. Rain intervened again in the first three-day match, at Taunton, in which the Sri Lankans declared at 305 for seven and finished at 79 for one after English Schools, helped by an unbeaten century from Holloway, had in turn declared at 313 for five. The second three-day match, at Canterbury, was also drawn. The Sri Lankans made 174 from 92 overs (J. C. Hallett five for 35) and had English Schools 36 for four before T. Radford, with an unbeaten half-century, led a recovery to 187. Faring much better second time around, the visitors declared at 303 for six to set a target of 291 at 5 runs an over. A double-century partnership between Radford (107) and R. Warren (99) put them on course, but the later batsmen could not sustain the momentum and English Schools were 247 for six when bad light intervened.

Rain, which spoiled most of the Welsh Schools' international season, did not prevent their being outclassed by the Sri Lankan side at Pontarddulais. That they scored as many as 227 in reply to the Sri Lankans' 320 for two declared was due to a five-hour 112 from the captain, G. D. Lucas, who added 81 for the ninth wicket with G. Isaac. The match ended in a draw, with the Sri Lankans 183 for two in their second innings.

The Under-19 side, captained by the Glamorgan Colt, R. D. B. Croft, drew their matches against Irish Schools and Scotland Under-19, in addition to that against English Schools. Lucas again provided the only major score with 70.

The MCC Schools Festival at Oxford was again fortunate to lose only a small amount of time to the rain, mainly on the second of the four days. It did, however, cause the HMC game to be transferred hastily to the Lincoln College Ground from Magdalen College School.

#### HMC SOUTHERN SCHOOLS v THE REST

At Lincoln College, July 16, 17. Drawn. A wet wicket on the first day had all the batsmen struggling, with the notable exception of Knight. Not until Ellison came in with The Rest 80 for six was the initiative temporarily wrested from the bowlers. Long, slow left-arm, bowled with great accuracy on a wicket giving some help to take seven for 16. Southern Schools fared little better, and had Knight not been dropped early on, they would have been dismissed very cheaply by some tight seam bowling from Headley, Derbyshire and Ellison. Conditions were easier on the second day. Williams and Timm gave The Rest a sound start, Knight having declared 41 behind, and when Southern Schools were set a target of 200 in 48 overs, Shahid and Ecclestone put on 102 for the first wicket, the latter blossoming after a slow start. The loss of three wickets for 13 runs arrested their progress and with Headley and Ellison giving nothing away, the target was looking unattainable when rain ended play with eleven overs remaining. The wicket-keeping on both sides was sound; the fielding of Knight and Headley outstanding.

#### The Rest

A. S. Williams (Bury GS) c Turner b Long	10-	-c Kutner b Shahi	d 43
D. M. J. Timm (William Hulme's GS)		C Italier o bilain	
	. 18 -	- run out	
C. G. Stanton (Warwick) c Turner b Long	. 24-	- b Long	0
†J. P. Crawley (Manchester GS) b Long	. 2-	- not out	41
J. R. C. Dakin (Sedbergh) c and b Long	. 16	run out	24
*N. J. Gregory (Ipswich) c Knight b Long	. 21	-c Knight b Jahan	gir 19
D. W. Headley (Royal GS, Worcester) b Long .	. 1	not out	2
B. C. A. Ellison (Rugby) c Usher b Long	. 37		
C. P. Goodier (King's, Chester) not out	. 4		
S. J. White (King's, Macclesfield) not out	. 0		
Extras	. 16	Extras	4
Here in a second of the second of the second of		1 de la Maria Comme	G.D. StJ. Parel
	149	1/41 2/51 3/78	(5 wkts dec.) 158
6/80 7/140 8/140		4/121 5/151	

N. A. Derbyshire (Ampleforth) did not bat.

Bowling: First Innings—Jahangir 10-4-21-0; Usher 12-3-32-1; Holdsworth 13-3-29-0; Long 21-14-16-7; Shahid 13-4-45-0. Second Innings—Usher 6-1-15-0; Jahangir 7-0-24-1; Holdsworth 5-1-22-0; Long 9-2-32-1; Kutner 9-2-27-0; Shahid 6-1-35-1.

#### **HMC Southern Schools**

T. C. Nicholson (Eastbourne) c Crawley	
b Headley .	5 – (3) c and b Ellison 4
*N. V. Knight (Felsted) not out	
M. J. Hastwell (Hurstpierpoint) c Crawley	
b Headley .	4 – (4) c Stanton b Ellison 1
S. C. Ecclestone (Bryanston) c Crawley b Headley	0 – (1) run out
D. M. Kutner (City of London) c and b Derbyshire	5 – not out 0
N. Shahid (Ipswich) c and b Ellison	4 – (2) not out
K. Jahangir (Aldenham) c Crawley b Ellison	5 to continue A. D. School Street
†I. D. Turner (St George's, Weybridge) not out	4 9) 4 100 100 0 10 4 10 10 10 10 10 10 10
Extras	14 Extras 7
1/27 2/38 3/38 4/60 (6 wkts dec.) 5/100 6/103	

B. C. Usher (Malvern), C. M. Long (Brighton) and R. J. W. Holdsworth (Clifton) did not bat.

Bowling: First Innings—Derbyshire 10-2-32-1; Headley 10-2-27-3; Goodier 7-2-8-0; Ellison 7-1-27-2. Second Innings—Headley 12-4-25-0; Derbyshire 4-2-6-0; White 9-2-37-0; Goodier 7-1-31-0; Ellison 5-0-11-2.

# ESCA NORTH v ESCA SOUTH

At Keble College, Oxford, July 16, 17. ESCA North won by 4 runs. With only Goldthorp and Irani able to master the left-arm seam-spin combination of Ilott and Patel, the North were restricted to 158 in their 60 overs. Rain limited the South's reply to 37 overs on the first day, with Habib unbeaten on 53, scored in 62 minutes with nine fours. Further rain next morning delayed the start until after lunch, whereupon the South, having declared 21 behind at their overnight score, bowled out the North for 84. The spinners, Ball and Patel, shared the wickets on a helpful pitch. A target of 114 with ample time looked well within the South's grasp until four wickets fell for 1 run and at 66 for eight the balance had swung to the North. However, Ball and Kellaway added 19, and llott joined Kellaway to add another 24 before, with nine balls remaining, Houseman bowled Kellaway to bring his side an exciting victory.

#### **ESCA North**

*G. Wells (King George V, Southport) lbw b Ilott 0-(2) c Habib b Patel 28
D. Weston (Holy Trinity, Halifax) b Ball 19-(1) b Ball
J. R. Goldthorp (Leeds GS) c Rendall b Patel 52 – (11) b Patel 15
1. Bradford (Branston, Lincoln) c Phillips b Patel 21 – (3) c Kellaway b Ball
J. Gunn (Baysgarth, Hull) c Kellaway b llott 2 – (4) b Patel
J. Hugnes (St Christopher Hatton, Northampton)
b Ilott . 4 – (5) c and b Ball
R. Irani (Smithhills HS, Bolton) c Habib b Patel 41 – (6) b Ball
†A. Johnson (Royal GS, Colchester) c Phillips
b Patel . 1 – (7) lbw b Ball
R. W. Sladdin (Sowerby Bridge HS) not out 4 – (8) c Ball b Patel
C. Hawkes (Loughborough GS) not out 1 – (9) not out
1. J. Houseman (Harrogate GS) (did not bat)(10) [bw b Ball 0
B 5, 1-b 3, w 4, n-b 1
The state of the s
1/0 2/59 3/97 4/104 5/104 (8 wkts) 158 1/18 2/18 3/47 4/47 5/50 84
6/123 7/132 8/155 6/51 7/52 8/57 9/61
Parties First V. H. O. C. O. D. L. H. C. C.

Bowling: First Innings—Ilott 21–7–42–3; Rendall 7–3–13–0; Laudat 9–2–28–0; Ball 9–2–21–1; Patel 14–1–46–4. Second Innings—Ilott 7–2–9–0; Rendall 9–3–15–0; Ball 19–10–17–6; Patel 17–3–41–4.

### **ESCA South**

LOCA South
D. Parsons (Eastleigh C of E) c Johnson
b Hughes . 29 - b Houseman
P. J. Rendall (Broadoak, Weston-super-Mare)
run out . 7 – (5) c Weston b Hawkes 8
*D. A. Graham (Chipping Campden) b Irani 12 - b Sladdin 27
A. Habib (Taunton) not out
A. Phillips (Aston Tech. Coll.) c Weston b Irani. 0-(4) c Johnson b Hawkes 1
S. Laudat (Oxford School) not out 10-c Gunn b Sladdin 8
J. J. Lewis (King Edward VI, Chelmsford)
(did not bat)(2) run out
M. C. J. Ball (Ball Col E) (did not bat) b Houseman
M. Patel (Dartford GS) (did not bat) lbw b Hawkes 0
†M. J. Kellaway (Eastleigh C of E) (did not bat) -b Houseman
M. C. Ilott (Francis Combe, Watford) (did not bat) - not out
L-b 6, w 1, n-b 11
1/34 2/61 3/61 4/61 (4 wkts dec.) 129 1/4 2/19 3/25 4/45 5/65 109
6/65 7/66 8/66 9/85

Bowling: First Innings—Houseman 9-1-27-0; Hughes 9-0-32-1; Irani 9-0-42-2; Sladdin 6-1-18-0; Hawkes 4-3-4-0. Second Innings—Houseman 13.3-2-15-3; Irani 11-5-25-0; Sladdin 14-3-37-2; Hawkes 12-7-18-4.

At Keble College, Oxford, July 18. N. V. Knight's XI won by eight wickets. G. Wells's XI 99 (B. C. A. Ellison five for 28); N. V. Knight's XI 103 for two (N. V. Knight 41 not out).

At Wadham College, July 18. Drawn. N. J. Gregory's XI 230 for three dec. (D. M. J. Timm 53, A. Habib 100 not out [sixteen fours], N. J. Gregory 43 not out); D. A. Graham's XI 191 for six (J. J. Lewis 62).

At Christ Church College, July 19. MCC Schools East won by six wickets in a twelve-a-side match. MCC Schools West 115 (A. Habib 41 not out; B. C. A. Ellison five for 32); MCC Schools East 116 for five (N. V. Knight 33 not out; N. A. Derbyshire three for 29).

The match at Lord's between MCC and MCC Schools may be found in the MCC section, and that at Lord's between MCC Schools and the National Association of Young Cricketers may be found in Other Matches at Lord's, 1988.

Reports from the Schools

Despite the loss of many fixtures to the weather, five batsmen from the schools reviewed here passed 1,000 runs: N. A. Hunt of Nottingham HS (1,108), J. W. S. Porter of Dauntsey's (1,104), T. C. Nicholson of Eastbourne (1,056), S. Smyth of Foyle and Londonderry College (1,026) and N. V. Knight of Felsted (1,013). Porter's runs came in just thirteen innings at an average of 110.40, while Knight averaged 101.30. Four bowlers took 60 wickets or more: R. Cousins of Wellingborough (72), S. M. Aga of Arnold (69), N. Shahid of Ipswich (67) and C. G. Oswald of Warwick (62). Shahid was the leading all-rounder with 937 runs in addition to his 67 wickets, while others of note were A. J. Clarke of Victoria College, Jersey (947 runs, 42 wickets), P. J. Le Cornu from the same school (920 runs, 43 wickets) and P. D. Chrispin of King Edward VI, Southampton (712 runs, 48 wickets). Of the thirteen other bowlers who took 50 wickets, A. G. Webster of Bradford GS scored 618 runs, G. A. H. Awudu of Bedford Modern 599, and B. C. A. Ellison of Rugby-514. The only hat-trick reported was performed by P. McGowan of Brentwood.

At Aldenham, K. Jahangir headed the averages with 508 runs and 49 wickets and went on to play for English Schools Under-17 v Sri Lanka Schools. For Alleyn's, a young side, J. Papanastasiou (right-arm fast) and A. C. Winter (right-arm fast-medium) played a major part in their four victories, especially those v Highgate and Wilson's. But the batting relied too heavily on the HMC Under-15 player, P. C. Berglund. An encouraging feature in a disappointing season for Allhallows was the promise shown by P. Holland, a fifth former, who opened both the batting and bowling. Ampleforth opened with three wins in April, yet won only once more in the next eleven matches. Under the captaincy of J. R. Elliot, they were a happy side, and in D. H. Churton and W. H. Crichton-Stuart they had two spinners who bowled well in harness together. The absence through injury of R. Booth, a talented wicket-keeper, and the unavailability for academic reasons of another key player were handicaps not easily overcome. It is a matter of concern to learn that the English Schools opening bowler, N. A. Derbyshire, seemingly lacked motivation or commitment during the term, to the extent that the school did not put his name forward for the Oxford trials.

In Arnold's season of rebuilding, S. M. Aga's left-arm spin bowling brought him a school record of 69 wickets, including nine for 61 v Silcoates, and S. Taylor's leg-spin captured 23 wickets, including six for 38 v William Hulme's GS. The captain, A. D. Jones, scored 100 not out v Queen Elizabeth's GS, Wakefield, while B. S. Little had innings of 100 not out v Hutton GS and 107 v Bangor GS. A young Ashville College side did well, beating the XL Club, Mount St Mary's, Giggleswick, Batley GS, Scarborough College, Old Ashvillians, Harrogate GS, Dame Allan's and Queen Elizabeth GS, Wakefield. Their four defeats were at the hands of MCC, Pocklington, Bradford GS and Royal GS, Newcastle.

Another successful season for **Ballymena Academy GS** culminated in their winning the Ulster Schools Cup and being undefeated on a tour to Edinburgh. The team was built on a nucleus of experienced players under the captaincy of the all-rounder, J. T. Glass. P. S. Rainey (medium) led the attack with 51 wickets, and there was an encouraging return of 35

wickets for the young leg-spinner, C. B. Williams. Glass, Rainey and J. M. Kennedy, the school's most prolific batsman with 677 runs, were selected for Ulster Schools. A young Bancroft's side matured as the season progressed, showing commitment and enthusiasm under the captaincy of A. C. H. Knight and laying a foundation for future seasons. Knight's unbeaten 106 v the Royal Anglian Regiment was a highlight. G. P. Brown bore the brunt of the bowling, opening with genuine fire but suffering from some weak close-catching, R. Patel was an effective stock seamer, and P. Brown developed as an off-spinner, obtaining turn and flighting the ball intelligently. G. J. Maynard was a reliable opening bat but tended to lose his wicket once he looked set.

Bangor GS recovered from a mediocre start to record seven wins, including that v hitherto unbeaten King's Macclesfield. They were hampered by injuries to bowlers N. S. Taylor and R. G. Scott, as well as to the captain, S. C. McKenna, who none the less headed the batting averages. That Barnard Castle enjoyed a much better season than was expected resulted mainly from the consistent bowling of C. M. Fairey and J. G. H. Murphy. The latter also dominated the batting. Bedford, although without any old colours, were unbeaten by schools and had the better of most drawn games. Haileybury were beaten by 111 runs. Sensibly led by M. J. Simms, whose seam bowling improved with every match, the XI was characterised by an unselfish and enthusiastic attitude throughout. The Australian all-rounder, R. E. Sims, lent some welcome aggression to the side's performances.

Bedford Modern School enjoyed wins v Kimbolton, Stamford, Nottingham HS, Royal GS Colchester, Wolverhampton GS and the Gentlemen of Bedfordshire, the last-mentioned by one wicket in the penultimate over. G. A. H. Awudu, a right-hand batsman and fast bowler, virtually beat Stamford single-handed, scoring 109 and taking six for 54. Among other matchwinning returns was seven for 37 v Royal GS, Colchester. N. R. Ali backed him well with the new ball and there was good support from M. T. Cavanagh, a leg-spinner, and the captain, G. C. Black (left-arm fast-medium). P. A. Simmonds, one of five batsmen to pass 300 runs, scored 77 in 50 minutes v Nottingham HS and 111 v Gentlemen of Bedfordshire. Beechen Cliff, beaten only in their last match, recorded six victories, the highlight being that by five wickets over a strong Bath CC side, achieving a target of 214. As many as 23 players appeared for the XI, which D. J. Adams led by example, ensuring that enjoyment remained a priority. The bowling honours were again shared by the spinners, S. M. Priscott (slow left-arm) and J. D. Colbourne (leg-spin).

Berkhamsted began promisingly with two draws and a win v Brentwood, only to suffer three successive defeats and endure three more draws before beating a strong Old Boys side and, in their last match, Kimbolton. A failure to score runs fast enough, and the bowlers' inability to contain consistently, were weaknesses in a season that nevertheless had its moments. A record of no wins does scant justice to an inexperienced Bishop's Stortford XI which improved markedly as the term progressed. In three of their drawn games, their opponents survived with nine wickets down. R. N. McIntyre and R. D. F. Wright were useful all-rounders, with the latter scoring the side's only hundred, v Framlingham. The bowling generally lacked penetration, and the spin attack was disappointing, but dropped slip catches merely compounded the problem.

Blundell's, who lost to Taunton, Sherborne, MCC, Clifton and the Devon Dumplings, also went without a win, although rain cost them a likely victory v King's, Taunton. The most consistent batsman was N. A. MacIver, who, with C. D. Bending, passed 300 runs, while R. S. Castle (left-arm medium) was the leading bowler. Bradfield, with an experienced XI, enjoyed one of their most successful seasons, beating Charterhouse, Westminster, Winchester and Wellington plus five club sides. R. W. F. Perry, an opening batsmen scored 599 runs, including 109 not out v Radley, as well as heading the bowling averages. J. D. Pearce was the leading wicket-taker, his slow left-arm spin claiming 34 wickets, and the team's accurate bowling and outstanding fielding were features of the season. Bradfield took part in the Sir Garfield Sobers Schools Festival in Barbados in August, as did Bradford GS, whose first overseas tour it was. Consequently, 1988 was the longest and fullest season in Bradford's history, with 34 matches, of which they won eighteen. Schools beaten included Royal GS Lancaster, Bolton and William Hulme's GS, and in the Barbados tournament Sherborne, Tonbridge and Presentation College, Trinidad. A strong bowling attack dismissed its opponents 22 times, and although the batting averages were dented by some poor pitches in the Caribbean, the year saw a number of fine innings played.

Brentwood's cricket was dominated by their captain M. D. Wilkins, a left-hand bat and off-spin bowler. Even on slow pitches his power enabled him to pierce the field or hit over the top; his unbeaten 115 v Berkhamsted, for example, included six sixes. Fourteen-year-old G. K. Fletcher, a left-handed opening batsman, scored an excellent 50 against an attack that included the former Essex off-spinner, D. L. Acfield. Against Framlingham, P. McGowan, a leg-spinner, had a hat-trick in his return of seven for 59. For Brighton College, J. P. Gibson and the captain, C. P. Sweet, scored 701 and 601 runs respectively. C. M. Long's 53 wickets included seven for 17 v Hurstpierpoint. Their nine victories improved their record to 99 wins in the last nine years.

A young Canford side did better than expected, defeating the XL Club, King Edward VI Southampton, Bryanston, Sherborne and MCC. Their leading batsmen were J. A. Perry and the captain and wicket-keeper, J. P. Blissard-Barnes, while T. R. Murray-Walker (medium) headed the bowling. Caterham, showing excellent team spirit under the able captaincy of R. L. M. Mauger, compensated for any lack of remarkable individual performances by every member of the side contributing at some stage. Of the batsmen N. B. Driscoll, S. J. Dawes and D. N. Podbur were exciting to watch, but the bowling depended too heavily on the fast-medium opener, D. J. Paisey. Cheltenham College enjoyed some good wins, notably those v Shrewsbury and Dean Close. Chigwell's record of only one win – over Buckhurst Hill CC – did not reflect the overall standard of their cricket. Good bowling saw them dismiss many of their opponents, but not quickly enough for the batsmen to capitalise. The captain, D. Clark, hit eight sixes in his 126 v Woodford Wells CC; the season's best bowling return was A. Brandon's six for 14 v Forest.

Christ College, Brecon, were particularly badly hit by the weather with eight matches abandoned without a ball bowled. Of their four wins, the most exciting was at home v Royal GS, Worcester. Put in, the College struggled to 141 all out and in reply Royal GS cruised to 61 for one. However, R. T. W. Horne, having conceded 18 runs from his first two overs, found line, lift and movement to bowl out the visitors for 81 and finish with seven for 28. The side batted in depth, and a predominantly seam attack was well supported by splendid catching and ground fielding. Christ's Hospital, another generally strong fielding side, managed only two wins, but the introduction of several promising Colts during the season provided optimism for the future. The strength of the XI was their bowling, with T. K. W. Welch and T. A. Fooks, the openers, performing consistently.

A young, exciting Clayesmore side enjoyed their best season for many years, winning eight games and losing only to Sherborne. The captain, G. Owton, opening batsman and wicket-keeper, increased to nine his centuries for the XI, hitting five in 1988 – 113 v Canford, 132 v Fosters, 116 v Hardye's, 100 not out v Millfield and 106 v MCC. Fifteen-year-old J. C. Latimer (né Rumball) scored his maiden hundred, 112 not out v Bearwood College, having converted to opening batsman when a disc injury restricted his promising pace bowling. J. Dike's in-swing bowling brought him 50 wickets, including seven for 28 v Victoria College, lersey, and five in an innings another four times. Clifton College, also a young side, began well by beating Cheltenham, Blundell's and Colston's, just failed to beat Marlborough in an exciting draw, and lost by 1 run to Rugby. Highlights were returns of nine for 37 by C. M. Spiro v Taunton and nine for 52 from R. J. W. Holdsworth, the captain, v Colston's, both bowlers swinging the ball at fast-medium. Hundreds were scored by four batsmen, of whom M. J. R. Clark was the most accomplished. J. R. A. Williams captained Wales Under-15 and M. G. N. Windows represented HMC Under-15.

Given the side's youth and inexperience, Colfe's had a successful season. Much depended on R. Harmer, the captain and an accomplished left-handed opening bat, but injuries to the opening bowler, M. Wainman, and to P. Whiteland, a right-hand bat and leg-spin bowler, restricted the side's prospects in the later part of the season. Colston's, too, were hampered in the second half of the season by an injury to a key bowler, J. C. Reice's accurate medium pace being much missed. They had begun well with wins over Bristol Cathedral School, Queen Elizabeth's Hospital, Wycliffe College and Kingswood. Coventry School – Bablake retained the Birmingham and Warwickshire Under-19 Cup for the third year in succession and the eighth time in ten years. Most of their six wins came in that competition. The two defeats were by Royal GS Worcester and King Henry VIII, Coventry, and some drawn games could have gone either way. The captain, D. J. Barr, a left-handed batsman, played for Warwickshire Under-19 and M. G. H. Sutton, slow left-arm, for Warwickshire Under-15.

Cranbrook could not live up to the high standards of the previous two XIs, but the young side were ably captained by R. P. T. Lisle and showed promise for 1989. S. P. France was the quickest bowler on their school fixture list, while K. Wookey looked to have the potential to develop into an excellent all-rounder. If suffering a lean season in terms of matches won, Cranleigh none the less played some exciting cricket. In the draw v King's, Canterbury, there was a century by each side (R. A. J. Grove 105) and Cranleigh, chasing 263, were 5 runs short with nine wickets down at the end. The Lancing match finished with the scores level. T. C. Crouch (slow left-arm) and N. C. Radbourne (off-spin) bore the brunt of the bowling and benefited from generally enthusiastic fielding. The season culminated in an enjoyable two-week tour of Canada.

Outstanding for Dauntsey's was the captain, J. W. S. Porter, who in thirteen innings scored 1,104 runs, nearly four times more than the next batsman and 230 more than his own school record of the previous year. His speed of scoring led to several victories when a target had been set, and there were memorable wins v MCC, beaten in the final over, and King Edward's, Bath, when the winning four was hit off the last ball. N. L. Jephson advanced both with the bat and behind the stumps, while the medium-pace bowling of A. R. Gilmour became more accurate and hostile as the season progressed. Dean Close enjoyed an increasingly successful season in which four matches were won and one tied. T. A. Edginton, the captain and leading batsman, included 101 not out v Monmouth among several high scores, and bowled his left-arm spin well at times. T. M. Churchill, another slow left-armer, saw the results of his dedication and application when he finished with the most wickets. In a season of rebuilding, with only three returning from the previous XI, Denstone recorded notable victories over Bromsgrove and Abbot Beyne. Against the latter, the medium-pace allrounder, J. Snape, returned eight for 46 and went on to head both averages and to captain English Schools Under-15. Although Dover College were unable to overcome the handicap of a weak attack, the batting was sound, with twelve fifties being hit in addition to the two hundreds from J. D. Rowse, a Kent Schools Under-16 representative. The captain, S. P. Howkins, ended his four years in the XI with a total of 1,757 runs and 105 wickets, the secondbest record since the war.

Downside put out one of their best XIs for many years. A varied, well-balanced attack provided the captain, D. P. Morris, with many options and bowled out the opposition in eight of their thirteen matches. Dismissed themselves only twice, the side batted in depth, with six batsmen scoring fifties and G. C. J. Barrington making 107 not out in 25 overs v Strathallan. The Duke of York's Royal Military School likewise enjoyed their most successful season of late, playing well as a unit and working enthusiastically in the field. A. P. Glasby, the captain, batted soundly and correctly and recorded the side's only hundred, while A. G. Wilkinson and S. Gale both bowled well. On tour they beat Abingdon by one wicket, and at Royal GS, High Wycombe, were beaten by 1 run off the last ball. An excellent season brought Dulwich College seven wins, with Whitgift, Mill Hill, Ampleforth, Strathallan and Royal GS, Lancaster among the teams beaten. In a drawn game, St Paul's, with whom they tied in 1987, finished just 1 run behind Dulwich's 206 for seven declared, while in the Founder's Day match v Merchant Taylors', Dulwich scored 303 in 54 overs for the loss of five wickets. The captain, T. D. J. Ufton (son of the former Kent player, D. G. Ufton), made 132 not out in two hours. N. K. M. Talonpoika, a Colt, scored two centuries and topped both averages. Although the bowling could not match the batting, the fielding was outstanding. D. V. Trivedi claimed 21 dismissals behind the stumps (19 ct, 2 st), and J. P. Howland held nine catches.

At **Durham**, fourteen-year-old W. P. C. Weston, a left-handed opening batsman and left-arm fast bowler, showed much promise, scoring 458 runs and topping the bowling averages with 31 wickets. The captain, A. G. Clayton, returned six for 52 in the tie v Pocklington and finished with 33 wickets. The School won the Barclays Under-17 Cup, beating Millfield on run-rate in a rain-affected final.

On Eastbourne College's tour of New Zealand at Easter, the left-handed T. C. Nicholson scored 420 runs at 52.50 and then amassed a further 1,056 at 55.57, a College record, in the school term. He scored centuries v MCC, Cranleigh, Ardingly and Hurstpierpoint – against whom he and A. J. T. Halliday put on 174 for the first wicket. Fast bowler E. S. H. Giddins took 56 wickets, including nine for 14 (all bowled) against an Indian Schools XI and eight for 32 v Brighton College. F. A. Ali's 34 wickets included seven for 41 against a South African Schoolboys XI. Two early wins by The Edinburgh Academy were followed by two losses and a

series of draws, a general brittleness in the batting and a temporary loss of form by two bowlers contributing to the malaise. However, on the damp wickets of July, opponents were bowled out for under 120 in six successive innings, and a run of five consecutive victories brought the season to a pleasing conclusion. Elizabeth College, Guernsey, were unbeaten for the second time in three years in a season which saw them undertake a five-match tour of the mainland, followed by a four-school festival in Guernsey. Their better performances were achieved mostly when batting first. S. B. R. Mackay and D. J. Marshall formed the basis of the batting, well supported by the captain and left-hander, N. E. G. Garrett. Mackay's 121 v King Edward VI, Southampton, was the side's only century, and notable performances with the ball were P. J. A. Moody's five for 9 v Victoria College, Jersey, and Garrett's six for 36 v Tiffin. In an enthralling game which either school could have won, Millfield finished with 168 for nine, chasing 177 to win.

The season at Ellesmere College provided handsome pickings for the Marvell brothers, both of whom scored 400 runs. D. J., a sound wicket-keeper, hit 101 not out v Rydal School, sharing a stand of 181 with his younger brother, M. J., whose left-arm spin bowling claimed 45 wickets and was instrumental in most of the team's six victories. A moderate Eltham College side made a poor start to the season, losing six of their first seven matches. The second half saw a revival, led by the captain, S. J. Goodfellow, whose fast-medium bowling and aggressive batting confirmed him as a useful all-rounder. Emanuel, who won eight matches, were runners-up in the Surrey Cup and semi-finalists in the London Cup. M. D. Coe was an outstanding all-rounder with 42 wickets and 848 runs, while the captain, S. J. Legg, also totalled 800 runs and hit the side's only hundred. The bowling of Enfield GS was weak, but by the end of the season, their batting had become both attractive and effective. The last two matches were won when chasing runs against the clock. Three centuries were scored in consecutive matches, D. Bowen successively hitting 135 v Merchant Taylors' and the first hundred for the School v MCC, and O. White hitting 109 v Queen Elizabeth's, Barnet.

A successful Epsom College XI was built on a trio of medium-pace bowlers - P. J. Vickars, W. E. J. Crawford and D. A. George - who set up the situations which resulted in most of the six wins. KCS Wimbledon, Dulwich, Christ's Hospital and St John's, Leatherhead were the schools beaten; Lancing and King's, Canterbury inflicted the only defeats. Vickars took seven for 38 v Christ's Hospital and six for 41 v Dulwich. D. R. Bance and G. D. Saunders-Griffiths both played three-figure innings, but the batting rarely inspired long-term confidence. Eton, a relatively inexperienced side, benefited from their winter tour of Hong Kong and Australia to achieve five wins - Bradfield by seven wickets, Charterhouse by nine wickets, the touring King's School, Parramatta by six wickets, the Butterflies and MCC. They did, however, suffer their first defeats in two years - to Radley, by three wickets off the last ball, and to Eton Ramblers. J. K. Erith (fast-medium) and T. P. M. Fleming (slow left-arm) were again the pick of the bowlers, while the batting was characterised by consistency rather than great deeds. Against Bradfield the left-handed H. R. E. Petre, an exciting batsman, helped Eton score 29 from the last eleven balls to win the match. Exeter School's young side managed more wins than in recent years but were possibly fortunate to escape with just the one defeat, by Simon Langton GS. The left-handed C. L. Bawden, again the leading batsman, shared in an opening partnership of 161 v Wellington School with R. P. Corney, the captain. The bowling was average, the fielding commendable.

Felsted's unbeaten record, with nine victories, owed much to the outstanding all-round feats of their captain, N. V. Knight. He also captained the English Schools and played for Essex II. A left-handed opening batsman, he hit five hundreds to top 1,000 runs for the second successive season, averaging 101.30; this took his total for the XI in four seasons to more than 3,000 runs, including ten centuries. Two of his hundreds and 280 runs came in his last three matches. He made a brilliant unbeaten 168 v Winchester, scoring 109 of the last 112 runs and breaking the School record for an individual innings - 158 not out by his brother, A. V. Knight, in 1986. In addition, mixing right-arm seam and wrist-spin, he took the most wickets, including a match-winning spell of five for 8 from ten overs in the 2-run victory over Uppingham. A highlight for Fettes College was the return of seven for 30 v Loretto by J. R. S. Lloyd. Forest's captain, A. C. Richards, led his side by example, and whether batting or bowling his off-spin he had another fine season. His 104 in the win over the XL Club was the XI's only hundred. There were important contributions from P. I. O'Neill at No. 4, B. J. Barnett, a left-hander who was also an outstanding fielder, and A. R. Heyes, the wicketkeeper. P. Butler and L. Adenaike, the opening bowlers, had tremendous stamina, and it was a hostile spell of six for 32 from Adenaike that helped beat Brentwood.

A strong, all-round Foyle and Londonderry College XI gained thirteen wins, capturing the Gordon McCullough Memorial Cup and reaching the final of the Northern Bank Schools Cup. The batting was dominated by S. Smyth, the captain, whose 1,026 runs included five centuries. He also captained Ulster Schools, for whom the bowlers, M. Simpson and S. Baldrick, were likewise selected, although injury prevented Baldrick from playing. Framlingham reported an encouraging season, with their young side enjoying a run of four consecutive wins against schools. In the eight-wicket victory v Bishop's Stortford, 201 was added for the second wicket by S. E. Iliffe (106 not out) and S. C. Giller (92). Giller, as well as heading the batting averages, was the leading wicket-taker.

Giggleswick, beaten in all five games on a three-city pre-season tour of Australia, began well at home by defeating Oakwood and the XL Club. However, lacking consistency, especially in their batting, they managed only one more win. The captain, M. P. Kaye, a left-handed batsman and spin bowler, enjoyed another good all-round season. Glenalmond, beaten only by Merchiston Castle, had schools wins v Fettes, Kelvinside, The Edinburgh Academy and Strathallan. Though out for seven weeks owing to injury, the captain, J. P. Brown, scored the most runs, including the side's only hundred. The bowling was impressive in its depth and variety, reflecting perhaps the amount of cricket played at the school. While a young side struggled to score runs on the North Lawn, Gordonstoun's bowlers were a dominant factor in a season which saw the XI win seven of their eleven matches. At Grenville College the wicket-keeper, G. S. Dermody, dominated the batting, C. P. Ely took the most wickets, and S. Wait, a fifteen-year-old who represented Devon in that age group, opened the bowling to good effect in his first season. Gresham's, beaten only by Ipswich in schools matches, were indebted to their seam bowling and the batting of T. Allison, H. E. M. Spence and S. Mussellwhite, a strong captain.

A winter tour of the Far East provided Haberdashers' Aske's with valuable experience and engendered a good team spirit which stood them in good stead for the 1988 season. They played entertaining cricket and were unbeaten, the most exciting of their eleven wins being v Queen Elizabeth's, Barnet, when they scored 124 in 12.3 overs. In a strong batting line-up, A. V. Spencer, the captain, and D. I. Chippeck batted superbly to score more than 600 runs apiece, Chippeck's including 120 v Enfield GS. The penetrative attack had three good seamers in D. A. Jordan, D. G. Musgrave and B. V. Arumugam, with D. B. Quinn (leg-spin) and M. I. Yeabsley (off-spin) lending contrast. Haileybury also benefited from a winter tour, the experience gained in Australia being a factor in their nine victories. Fine leg-spin bowling brought M. C. Goodson 45 wickets, with his return of six for 37 instrumental in the defeat of Harrow. He also scored 431 runs. D. C. L. Beynon, in his first year as captain, showed much promise and scored 619 runs.

Hampton enjoyed a successful, satisfying season with ten wins, only one loss, and a memorable draw v MCC in which they finished 1 run short of victory. The bowling, generally penetrative, was built around the left-arm spin of S. J. Patel, well supported by seamers S. A. H. Cochrane and R. A. F. Hall, each in his first season. J. P. Diprose scored two centuries and C. R. Westaway one, but the batting proved more solid when setting rather than chasing a target. A. J. B. Sales combined captaincy with wicket-keeping to good effect. Highgate's four wins included one by ten wickets v the XL Club and another by nine wickets v Westminster. D. N. Amato, the captain, was a consistent all-rounder, with 40 wickets and 451 runs, including four consecutive fifties. Also noteworthy was the match-winning bowling of R. N. A. Davenport, who took seven for 23 when Abingdon were bowled out for 59 - the only time they were dismissed by another school. Fielding an experienced side, Hipperholme GS had hoped for better results than one win and eight defeats, though three of these were by the narrowest of margins. On the bright side, there were some good bowling performances, particularly J. Hemingway's six for 39 v Habergham and J. F. Holt's six for 20 v Read. Hurstpierpoint could not repeat their success of 1987, although their Colts did win the Lord's Taverners' Trophy final in which M. Semmence took five for 9 v Oundle. M. J. Hastwell, who headed the XI's batting averages, played for Sussex II.

**Ipswich** had an outstanding season, winning eleven of their sixteen matches and losing only to the Old Boys in the last over after a declaration. N. Shahid was again their key player, scoring 937 runs and taking 67 wickets with his leg-spin. In all schools and representative games, he took 103 wickets. Shahid and the captain, N. J. Gregory, shared three century opening partnerships, two of which ensured ten-wicket wins v Gresham's and the Gentlemen

of Suffolk, and both represented English Schools. Shahid also played for Essex II. T. Young's eleven catches and nineteen stumpings were another fine effort. Kelly College lost only one schools match, beat Wellington School in a close finish, and had the better of draws v Allhallows and Plymouth College. A. Adebayo, the captain and left-hand bat, hit a hundred and three fifties, while J. R. Wigley, another left-hander, usually gave the innings a good start. Adebayo, L. R. Shapcott and D. B. Broughton, all medium-pacers, were the pick of the bowlers but had to work for their wickets on the hard, flat pitches of May and June. A relatively young Kent College XI provided the school's most successful season for more than a decade, winning six games and losing only once. A strong batting side, they were captained by J. Barker, who opened the batting with S. Warley, the leading run-scorer, and kept wicket. In a balanced attack, G. Jenkins and R. Grove (both fast-medium) combined with fourteen-year-old E. McCabe (slow left-arm) to take most wickets.

King Edward VI College, Stourbridge, missed out on potential wins because of bad weather and unfavourable declarations. S. Mees and the captain, G. R. Haynes, who broke his own College record with an innings of 155 not out, scored consistently and quickly but lacked support. J. I. Hill (slow left-arm) took the most wickets in an attack which struggled at times on good pitches. The positive captaincy of M. Treherne, if sometimes costing matches by his declarations, brought King Edward VI, Southampton eleven wins. The mainstay of the team was P. D. Chrispin, left-hand bat and opening bowler, who collected 48 wickets and 712 runs. M. L. Tidby bowled his off-spin tenaciously and J. D. Stanley, opening the batting, scored 709 runs. King Edward's, Birmingham, lost only to MCC. The captain, P. N. J. Inglis, scored 116 v Camp Hill, M. J. Goodall's leg-breaks reaped six for 54 v Warwick, and M. M. Dean (fastmedium) took seven for 24 v Royal GS, Worcester. King Henry VIII, Coventry, enjoyed their best season for many years. Fine fielding supported an attack in which J. N. Plevin (fastmedium) was outstanding. His return of eight for 14 was the significant contribution in the six-wicket defeat of Coventry School, Bablake, the Warwickshire Under-19 champions. K. P. Street scored a maiden century v J. B. Vent's XI, and Colts P. H. Harrison, M. D. Scott and G. Gascoyne all made promising contributions.

King William's College, Isle of Man, reported cricket varying from excellent to dreadful. The former resulted in victories v Solihull, Aldenham, MCC and Queen Elizabeth GS, Wakefield. The captain, A. P. Woodward, bowled at a useful pace for long spells to take 43 wickets, as well as making a considerable contribution with the bat. M. L. Craine, an opening batsman, headed the averages in his first full season. King's College, Taunton, beat Canford, Monmouth and the XL Club, and with all except the captain expected to return, hopes are high for 1989. N. K. L. Coulson led his young side well and had an excellent year personally with 577 runs and 30 wickets. The left-arm spinner, D. J. G. Dowsett looked a good prospect, as did A. F. Lacy-Smith, an opening bowler, and M. F. D. Robinson, a batsman who bowled tidily. Indifferent results for King's College School, Wimbledon, stemmed from some inconsistent and diffident batting, even from experienced players. The steadiest batting came from the fifteen-year-old J. Parrish, and D. W. Talbot turned in consistently good all-round performances.

King's School, Bruton, reported a much more rewarding season than in 1987, with victories over Compton House, Allhallows, the Old Boys, Sexeys School, Bristol GS and – in the final over – King's, Taunton. Leading the side maturely and with some vision, J. Petrie had a good term with bat and ball, while wicket-keeper-batsman N. Allison produced an array of scoring strokes to head the batting averages. Unbeaten in schools matches, King's, Canterbury, defeated Epsom, Highgate, Eastbourne and St Lawrence College. They batted first in every match, winning the toss only once, and might have won more games with another strike bowler to support J. R. Davies. His 48 wickets included a return of seven for 54 which nearly brought victory v Sutton Valence, the only school to bowl them out. Runs were plentiful, with four century opening partnerships. The left-handed opening batsman, N. V. Daley, scored 145 not out in King's 262 for two declared v Cranleigh (258 for nine). King's, Chester, recorded six wins and only one loss, but their July was frustrating with seven fixtures completely rained off and three washed out soon after starting. If anything, the XI missed a depth in bowling to support the powerful batting line-up and the off-spin of the captain, C. P. Goodier.

An inexperienced side, King's, Ely, worked well together to produce a series of excellent wins, many in close finishes. The batting was dominated by the captain, T. D. Gallop, and R. J. Claxton, a left-hander who opened for Cambridgeshire Under-19, while D. Hindle, who captained Cambridgeshire Under-17, took 44 wickets bowling his left-arm slows. King's, Macclesfield, having drawn their first match, then set a school record by winning eight in

succession before their fortunes changed and they won only one of the last ten. Schools beaten were Cheadle Hulme, William Hulme's GS, Arnold, Bolton, Stockport GS, Birkenhead, Rossall and Abbot Beyne. Their strong point was the leg-spin bowling of S. J. White, who took 50 wickets for the second successive season, and played for The Rest at Oxford, while there was positive batting from the captain and wicket-keeper, S. R. Swindells. After a predictably shaky start, the young King's, Rochester, XI played well and were unlucky not to win many of their drawn games. M. J. Walker, a fourteen-year-old left-handed opening batsman, was an outstanding prospect whose 818 runs included 124 v Chatham House. A possible weakness was the lack of penetrative bowling to support the captain, I. J. Nightingale, who captured 58 wickets.

Another school fielding an inexperienced side, King's, Worcester, struggled to score enough runs for a useful attack to bowl at. Some valuable all-round performances came from D. A. W. Hughes, whose century against a Jersey Schools XI ended the season on a high note. Kingston GS only once scored more than 150. With the senior players falling below expectations, the junior players took a long time to find their feet, although E. S. Gratton and M. E. Bendel hinted at better times ahead. Kingswood, with a stronger batting side than for many years, were dismissed only once. On the other hand, only one school side, Dauntsey's, was bowled out; set 194, they collapsed to 37 all out as J. M. Thompson took seven for 14. The captain, R. W. Lewis, increased his career aggregate to a new school record.

Lancing's single defeat was by Tonbridge in the first match of the season; thereafter they won ten and drew five games in probably the College's longest unbeaten sequence. They beat Brighton College, Hurstpierpoint and Eastbourne to win the Langdale Cup, and in other fixtures defeated Sussex Schools, Free Foresters, Ardingly, Epsom, Sussex Martlets, Hurstpierpoint and Charterhouse. A tight, accurate attack was spearheaded by A. S. Puddephatt (fast), with R. H. D. Spink (medium) and A. R. Hewitt (off-spin) supporting admirably. Bowling first and chasing low scores left few opportunities for heavy scoring, but five batsmen scored 300 runs. Of these, the captain, A. A. Gosden, with 374 runs, achieved Lancing's highest recorded average, 93.50. For Leeds GS T. C. Walton had an outstanding season, scoring 632 runs at 126.40 and taking 41 wickets at medium pace, which culminated in his selection for England Schools Under-15. Equally significant were the all-round contributions of J. R. Goldthorp (leg-spin and googlies) and G. O. J. Hill (medium), who put on four century opening stands, including 216 in the win v Bradford GS and 195 in the defeat by Nottingham HS. Both played for Yorkshire Senior Schools and Goldthorp for ESCA North. Other schools beaten were Ermysled's GS, Hipperholme GS, Hymer's College, Bradford GS and Woodhouse Grove.

Leighton Park went without a win, although twice they were close to victory. They lacked bowlers to support the medium-paced openers, P. Wall and I. Dhajoo, and a batsman to complement the run-scoring of the captain, J. Thomas, who represented Berkshire Schools Under-19. The Leys fielded their strongest batting side for some years. The wicket-keeper, D. O. Solomon, scored 124 v Felsted, and notable contributions came from the captain, C. W. Barker, P. R. Searle and N. R. Lankester. However, Searle (fast-medium) and Lankester (legbreaks) were the only bowlers to take ten wickets, and at least four likely victories eluded the side because they failed to prise out the last batsmen. The Leys participated in the schools festival in Barbados. Liverpool College, with a young side, managed only one victory, but it was an impressive one, achieving a target of 225 to beat Manchester GS. The batting was grittier than in 1987, but the bowlers, suffering from inexperience and often lacking control, failed to dismiss any school side. Lord Wandsworth College had five wins over schools. Their strength lay in the batsmen's ability to chase a target, with eleven fifties coming from the top four. The stylish batting of M. J. Critchley was a delight to watch. Although lacking penetration, the attack was sufficiently containing.

Lord Williams's School, Thame, failed to live up to their pre-season promise, especially with the bat. With the captain, T. Jordan, not striking form until well into the season, much depended on the all-rounders, M. Bateman and G. Stanbury. In schools matches they beat Aylesbury GS by six wickets and drew close games v Magdalen College School (the scores were level) and Wellingborough School. Against Loretto's economical attack, only Glenalmond passed 150. The captain, M. C. Eglinton, took the most wickets, while S. S. Hodgson's slow-medium in-swingers brought him returns of four for 6 v Dollar Academy and five for 1 v Kelvinside Academy. The batting was at times brittle, too much depending on

Hodgson, who opened the innings. A right-arm bowler, he batted left-handed. They were unbeaten at the St Peter's, York, festival and finished with a good win v Cranleigh. Loughborough GS reported another successful season; their one defeat by Uppingham was the first by a school for some years. They bowled better than they batted, but there was a fine unbeaten 111 v Union HS by the captain, I. Bell, who also captained Midlands Schools. The slow left-armer, C. J. Hawkes, took 34 wickets and went on to play for English Schools v Sri Lanka Under-17; S. Pickering took eight for 36 v King Henry VIII, Coventry.

It was a season of rebuilding for Magdalen College School, but they had many exciting finishes, including one tied match. Although several inexperienced players developed well, the batting understandably lacked the depth to back up the captain, J. A. Turner, and M. B. Bixby, an outstanding Colt. The leading wicket-taker was again S. N. Webb (slow left-arm). J. R. Wileman, the Malvern College captain, was pre-eminent, with 31 wickets bowling medium-fast and 783 runs, including 106 not out in his first match of the season and 133 not out v Marlborough. Against Clifton, he and B. C. Usher reached three figures off consecutive balls and he also took five for 36. Manchester GS did better before half-term, when good team performances resulted in wins v Bolton, Stockport GS, Shrewsbury and Birkenhead. Later, doubts over the quality of the bowling were realised and only two more matches were won v Newcastle-under-Lyme and King Edward VII, Lytham. The batting was excellent, with J. P. Crawley, opener and also wicket-keeper, scoring 900 runs, including 152 not out v Royal GS, Lancaster, and 160 not out v Liverpool College in successive matches. His opening partner, the left-handed D. J. Worsley, while more circumspect, hit a delightful unbeaten 124 v Arnold and M. J. P. Ward, striking a rich vein late in the season, hit an unbeaten 100 v Bury. C. F. Sinton, a thirteen-year-old leg-spinner brought in to balance the attack, was the discovery of the season and finished with the most wickets, including six for 55 v Bradford GS.

Marlborough College were undefeated; but unable to bowl sides out on good pitches, and rarely set a realistic target because of their strong batting line-up, they managed only four wins. Opposing captains invariably recalled their 296 in 55 overs v Free Foresters. J. S. Kerr, a positive captain, was the most prolific batsman, D. M. A. Bevan (medium) the most consistent wicket-taker, and M. A. Foulds was outstanding in the field. T. C. Marcon showed promise behind the stumps. Merchant Taylors', Crosby, overcame the absence through injury for much of the season of their captain and wicket-keeper-batsman, R. W. Glynne-Jones. They lost just the once and had a ten-wicket win v King William's College, Isle of Man, as one of two victories. I. G. Sutcliffe, opening bat and off-spinner, impressed in his first full season, scoring 109 v Leeds GS, and I. K. Wright, the acting-captain, batted with patience and application. Merchant Taylors', Northwood, batted vigorously to beat St Albans, Enfield GS, University College School, Westminster, Mill Hill and Bryanston in schools matches and lost only to Highgate. With 867 runs, including 140 not out v Westminster, A. J. Brand scored more than anyone since the legendary Raphael and Dennis in 1901. Bowling off-spin, he also took 35 wickets, six of them for 20 v Highgate. With the seam bowling disappointing, much depended on Brand and the fifteen-year-old slow left-arm spinner, R. A. Hawkey, who took 52 wickets.

Merchiston Castle won their first five schools matches, and after defeats by Ballymena Academy GS and The Edinburgh Academy, they finished by beating Denstone and Nottingham HS on a tour of the Midlands. S. J. Elworthy, 32 wickets at 8.03 apiece, and S. D. L. Francis (left-arm) comprised an effective seam bowling partnership that gave little away and was supported by admirable fielding. The side batted all the way down the order. The season was made memorable by D. M. Streek's innings of 242 in a two-day match v Fettes College. He hit his first hundred in 80 minutes before lunch and batted in all for three and a quarter hours, hitting 37 fours and one six. With A. H. W. Boyle he added 237 for the fourth wicket and Merchiston Castle declared at 379 for six. It is believed that Streek's innings, the total and the partnership are all records for Scottish schoolboy cricket. Millfield, unbeaten by schools for the third successive season, were a powerful batting side who recorded six centuries. D. L. Hemp hit three of them. With the England Under-17 strike bowler, J. C. Hallett, frequently unavailable because of injury, the bowling was steady rather than penetrative. G. D. Lucas captained Welsh Schools Under 17 and along with Hemp played for the Under-19 side. [Note: In the Millfield report in the 1988 Wisden it states incorrectly that G. D. Lucas batted with P. C. L. Holloway in an unbroken opening partnership of 252. The stand, worth 250, was between Holloway (103 not out) and D. Luckes (132 not out).]

Mill Hill had a disappointing season; they beat MCC but lost seven schools matches. Milton Abbey's young side enjoyed an exciting season, with strong batting and good fielding to support their spinners, H. E. Panter (slow left-arm) and H. G. H. Groves (off-breaks). R. S. Padmore, 121 not out v Allhallows, and S. J. E. Courage, the captain and wicket-keeper, with 121 v King's, Bruton, played the outstanding innings. Monkton Combe's season was their most successful for some years. They won seven matches – five against schools – and lost only to MCC. The opening partnership of R. S. Deacock and R. J. Payne, well supported by the captain, M. P. Davis, underpinned the batting; the bowling was spearheaded by N. F. Robb, who took 36 wickets at medium pace.

Newcastle-under-Lyme School found that batting could be an embarrassingly difficult business. Only M. H. Colclough, a third-former and Staffordshire Under-17 representative, demonstrated an ability to build an innings. Consequently, the hostile bowling of D. J. Brock was often wasted. A young Norwich School side acquitted themselves well, achieving good wins v Holbrook RHS, St Joseph's and King Edward VI, King's Lynn, and coming close in other encounters. The pace bowling of N. R. Temperley brought him 32 wickets, while the batting potential shown by A. J. Rushmer, R. F. Blackburn, A. J. R. Williamson and S. E. Jessup, augurs well for 1989. Although disappointing in terms of results, the season of Nottingham HS was memorable for the batting of the captain, N. A. Hunt, whose 1,108 runs included five centuries, three of them in consecutive games.

As expected, The Oratory's experienced XI excelled, going through the season unbeaten. Nine wins included those v Douai by 193 runs, St Edmund's College, Pangbourne College and Shiplake College, all by four wickets, and MCC by five wickets. Few sides could cope with the all-round attack, spearheaded by S. R. Wright, who bowled fast and well for his 42 wickets at 8.64, including six for 31 v Leighton Park. The batting, headed by P. J. Coverdale, the captain, was strong, with fifteen-year-old J. Clarke an outstanding prospect. Oundle were rewarded for playing positive cricket. In schools matches they lost only to Stowe, following a declaration, and beat Mill Hill, The Leys, Uppingham, Oakham and St Edward's. Batting through the order, they were able to achieve targets, often against the clock. The captain, R. Jenkins (fast-medium) bowled exceptionally well for his 52 wickets, including six for 58 v Rugby, and took his total in three years to 133. Oakham looked a useful side in the field, with I. Forsyth a particularly effective medium-pace bowler, but the batting was weak. An exception was the opening batsman, U. Malhotra, an exchange student from Delhi, who scored 500 runs.

The Perse beat Culford, Chigwell and a Cambridgeshire County Club XI, and went close in a number of drawn games. Despite the presence of several attacking batsmen, and expectations aroused by the captain, N. M. Law's 100 not out in the first match v Framlingham, the batting disappointed in the latter part of the season. Off-spinner D. L. Young, the leading bowler, took seven for 81 v Old Perseans, and there were sustained spells of hostile fast bowling by R. M. C. Scott. An enjoyable and successful season for Plymouth College culminated in a tour to Denmark, where the Danish Under-18 side inflicted their only defeat of the summer. The attack was well led by C. Vinson, whose return of seven for 12 in nine overs v Warwick was a highlight. The first six batsmen did all that was expected of them, usually at a brisk rate, and there were hundreds from S. Summers and A. Kerr, the wicket-keeper, whose 25 dismissals included six stumpings.

Pocklington won ten of their first fourteen matches before rain affected six. The outstanding game was a tie v Durham. The opening partnership of A. T. Pettinger and M. J. Wood, who scored 1,406 runs between them, provided a strong base from which to set a target or chase one. Wood was also the leading bowler, his leg-spin accounting for 51 batsmen. Prior Park College had a mixed season. Although batting collapses led to two of their defeats, the team's real weakness was an inability to bowl sides out and capitalise on winning positions. M. Woodhouse topped the batting averages for the third year, to finish his career with 1,600 runs for the XI, and G. Lee, an off-spinning all-rounder, is expected to be the mainstay in 1989.

In a season which saw a return to home matches, Queen Elizabeth GS, Wakefield, were hampered both by injuries and by a negative attitude on the part of some players. Too often heads were allowed to drop under pressure. Notable exceptions were the captain, P. Maynard, G. Millman and G. Littlewood. With no one batsman capable of holding the innings together, it required three or four to make moderate scores to give the bowlers a chance and this did not

always eventuate. Victories were achieved over Hipperholme GS, William Hulme's GS, Oakwood, Batley GS and Old Savilians. Despite their lack of a penetrative attack. Queen's College, Taunton, reported a satisfactory season, in which they lost only to Wesley College from Perth, Australia. The captain, B. C. Wixey, headed the averages, and M. Knight and M. E. Gibson played valuable supporting innings. A more penetrative attack might have led to fewer draws.

Unbeaten by schools, Radley owed much to their captain, M. J. Lowrey, whose 686 runs included an innings of 144 v Winchester. Ratcliffe College, lacking any depth of batting, were carried by their captain, R. J. Adcock, who scored the side's only hundred - v Robert Smyth - and was the most penetrative bowler with his left-arm swing. Reading's young side was built around O. D. Beckett and T. J. C. Dance - left-hand opening bat and right-arm opening bowler - who scored nearly 1,000 runs between them. Beckett hit 119 not out v Royal GS, Colchester, and 102 not out v Reading Blue Coat; Dance scored 111 v his old school, Lord Wandsworth College, and took six for 36 v Reading Blue Coat and seven for 22 v Leighton Park, Dismissing Pangbourne College for 25, Dance took six for 12 and B. D. Hall, a legspinner, four for 11. The failure of the senior batsmen in the Reed's XI to score consistently placed a heavy burden on two promising all-rounders, J. R. Dharmasena and J. R. Ovenden. Five of the sixteen fixtures were won. A talented Reigate GS side developed a frustrating tendency to squander winning positions, although there were eight good victories, including those by eight wickets v Emanuel and Caterham. The captain, C. S. Bates, J. P. Jackson and M. M. G. Wright led the way with the bat, and J. S. Hudson made 100 v Hampton. The main back-up for the XI's outstanding left-arm seam bowler, D. F. Rowlinson, whose 49 wickets were the best return in recent times, came from the left-arm spin of D. M. Gregory.

Under the captaincy of J. Fellows, **Rendcomb** played some fine cricket to win six matches, losing just one. The attack was well-balanced with pace from C. Huck, seam support from C. Bannister and N. Suffolk, and contrasting spin from A. Jones (left-arm) and H. Le Fleming (off-breaks). Early in the season, runs were not scored quickly enough, but the rate improved later. **Repton** beat Rugby, Oakham, Malvern, Wrekin and the Repton Pilgrims, losing only to MCC and Royal GS, Worcester. They had the upper hand in many of their nine draws, but struggled to bowl out the opposition. There were some notable batting performances, with three-figure innings from the captain, C. E. Wall, R. F. Williamson, R. A. C. Jerman and A. E. Jordan. **Rossall's** bowlers similarly lacked the ability to force a win, which resulted in eleven draws and just three wins – v Merchant Taylors' Crosby, the XL Club and Old Rossallians. The captain, D. M. Indo, led the batting by example, becoming the first Rossall player for several years to top 500 runs, while fourteen-year-old J. Elliott did well to head the batting averages in his first season.

Royal GS, Guildford, frequently bowling sides out cheaply, won ten of their last thirteen matches. P. Challinor, who also scored the side's only century, and M. Gore provided the edge to an incisive attack. Royal GS, Worcester, followed an Easter tour of Zimbabwe with an excellent domestic season. D. W. Headley was often too quick for schoolboy batsmen, and the leg-spin of the captain, J. S. Waters, gave contrasting support. G. T. G. Burrow and M. J. N. Taylor, who made two hundreds, provided a solid start to the batting, and M. J. Walker invariably made runs when it mattered. Headley represented English Schools, as did the Rugby captain, B. C. A. Ellison, who had an outstanding all-round season for his school. Against Marlborough he scored 104 not out and took six for 93; in the 1-run victory over Clifton, his figures were nine for 81. Another highlight was the opening partnership of 128 v Stowe between R. R. Montgomerie and G. A. D. Whittaker. Rugby's Under-15s were runners-up in the Lord's Taverners' Trophy, which augurs well for the future. Rydal put behind them an early defeat by Birkenhead to develop into a useful side, beaten thereafter only by MCC. The high point was a first win v William Hulme's GS, in which the captain, A. G. Moore, scored a fine century. The bowling revolved around P. J. Acheson (leg-spin) and the opener, R. L. Stewart, who returned six for 5 v Ruthin.

St Albans began a run of six consecutive wins with the stuff of schoolboy fiction. H. E. Sherman, having had his nose broken during fielding practice beforehand, took six for 5 in his first match in the XI to help defeat local rivals, St Columba's. The sequence ended with victory over the Old Boys for the first time in 25 years. The batting had depth and wickets were easier to come by than in recent years. In their centenary year, St Dunstan's enjoyed their second successive season unbeaten by schools. They lost only to a strong Old Boys side. The

opening batsman, M. J. Dowse, scored consistently, but the outstanding batting came from G. R. S. Scovell, who hit three hundreds in the last five matches: 104 not out v Royal GS, Guildford, 100 not out v the XL Club, and 100 v Barnard Castle. The last two were scored in successive matches, with the second fifties coming from eleven and thirteen balls respectively. Bowling leg-breaks and googlies, Scovell was also the leading wicket-taker. A tour of Australis was planned for December. St Edmund's, Canterbury, had an enjoyable season of positive cricket played under the intelligent and selfless captaincy of M. J. E. Horton. J. D. Bowden, a fourteen-year-old left-hander, came within 40 runs of the school record and hit 162 v the XL Club. Another highlight was the ten-wicket win v the Old Boys.

The results of **St Edward's**, **Oxford**, failed to do justice to their potential. There were particularly good performances v Abingdon, Eton and MCC. Although generally lacking the penetration to achieve positive results, the bowlers stuck to their task well and particular improvement was shown by J. M. E. Lawes (off-spin) and M. S. Ghalib (leg-break/googly). The batting was always explosive, if occasionally irresponsible, but A. C. Dobson was a dependable opening bat. T. H. C. Hancock's all-round contribution revealed him as a player of considerable promise. **St George's**, **Weybridge**, beaten only by MCC, defeated Kingston GS, St Benedict's, Tiffin and St John's, Leatherhead. I. D. Turner, who scored the most runs and captured 28 wickets with his off-breaks, took six for 46 v St John's, Leatherhead – and later kept wicket for HMC Southern Schools at Oxford. J. Sayers's 101 not out v Tiffin was the side's only hundred, and the left-arm spinner, T. Clark's 34 wickets included six in an innings v St Benedict's.

St John's, Leatherhead, beat the XL Club, KCS Wimbledon and Whitgift to win more matches than in 1987, but defeats still outnumbered victories. Nor could they take comfort from any outstanding individual performances. The young players of St Joseph's, Ipswich, made pleasing progress, and could have won more games with greater experience in the middle-order batting. At St Lawrence College much depended on L. M. Willsmer, right-hand bat and medium-pace swing bowler, but R. J. Elliott looked a fine prospect. Their three wins came v Dover College, Framlingham and Old Lawrentians. St Paul's, for whom seven batsmen passed 150 runs, reported an unremarkable season in which they were unbeaten by schools. Following their tied match v Dulwich by 1987, they finished the 1988 fixture on 205 for seven in reply to Dulwich's 206 for seven declared. St Peter's, York, drew twelve of their eighteen matches. In a batting line-up boasting depth and ability, W. J. Robinson played some fine, aggressive innings, including 125 not out v Pocklington. P. F. Wand bowled his slow left-arm spin impressively and N. P. Durham kept to a consistently high standard. At the end of term, St Peter's hosted a successful six-school festival.

Sedbergh's season did not quite live up to the expectations inspired by a successful tour of Trinidad at Christmas. No batsman scored heavily, and only S. D. Gawthorpe with any consistency. A well-balanced attack proved too strong for most opposition, but too many sides were content to settle for a draw from an early stage. Highlights for Sevenoaks were innings of 100 not out v Brentwood by J. D. Fry and 100 v Ardingly by D. E. Neil-Dwyer. Sherborne, ably captained by T. R. Ashworth, beat Bradfield, Clifton, Blundell's and Haileybury, and in schools matches lost only to Canford. There were fine innings by P. Hodges and S. J. Leeke, particularly their unbroken fifth-wicket partnership of 150 v Millfield, and M. C. Evans. The bowling, built on the pace of R. P. O. Springfield and the off-spin of Hodges, was backed up proficiently in the field and by the excellent wicket-keeping of J. de la Hey. Shrewsbury's relatively inexperienced XI recorded encouraging wins v Malvern, Uppingham and Ellesmere, thanks mainly to the batting and astute captaincy of J. M. Jones. The runs (435) and wickets (40) of D. J. Bowett proved valuable, as did the bowling of his left-arm opening partner, D. M. W. Roberts, whose 27 wickets included six for 22 v Malvern.

In a highly successful season, Simon Langton GS won ten times, losing only to Exmouth CC. The batting was strong, founded on the first three – N. S. Cox (left-hand), D. G. Newton and N. R. Henn. P. C. Relf captained the XI efficiently and bowled his off-breaks with considerable success, often in tandem with A. D. Judge (slow left-arm). Solihull's early-season pattern was rather like the weather's – scattered showers and sunny intervals. They lost three times through poor batting and then produced an opening stand of 160 v King's, Worcester, with a century from E. J. M. Jones. A tour of the Isle of Man heralded an improvement with victory by 193 runs over an island Under-19 XI, P. Wheeler scoring an unbeaten 100 in a total of 273 for two. Subsequently, Bromsgrove, Old Sils, University College School and Barnard

Castle were also beaten. An unbroken seventh-wicket partnership of 119 between D. C. Pritchard (93) and M. Bevins (44) carried Solihull to victory when Barnard Castle's 228 for nine looked out of reach.

Stamford, who beat only Nottingham HS, were disappointed not to do better. The batsmen too often failed to build on a start of 20 or 30, while in turn the bowlers struggled to maintain a consistent line and length. A tie v the Old Boys, resulting from enterprising batting by the school, was one of the season's few highlights. Although winning only three matches, Stockport GS enjoyed their cricket. The captain, I. Millner (left-hand), several times held the innings together and won selection for Cheshire Under-19. R. Patel, when he recovered from injury, was the most reliable bowler, and his seven for 53 v William Hulme's GS was a major factor in Stockport's most convincing victory. P. Duckworth, slow left-arm bowler and left-handed batsman, contributed a number of valuable all-round performances.

Stonyhurst remained unbeaten by a school for the second successive season, although Sedbergh came close to upsetting their record. While the lack of penetrative bowling was a handicap, the splendid example set by the captain, G. O'Driscoll, with the bat made the school difficult to beat. His two impressive unbeaten centuries, the highest 146 v Royal GS, Lancaster, were the best innings by a Stonyhurst cricketer for some time. Strathallan, a weak side on paper, performed better than expected and won five times. Their success owed much to the consistent batting of the opener, R. B. Moffat, and the effective strike bowling of R. A. Hatfield and R. G. Brown. A highlight for Sutton Valence, who won nine matches, was J. Barr's return of seven for 23 v the XL Club.

For Taunton, with eight wins and only one defeat, two players were outstanding. P. C. L. Holloway, the captain and wicket-keeper, who had joined the school from Millfield, scored 568 runs, including 152 not out v Fettes. In addition, he was called up by his county, Warwickshire, to make his first-class début and represented English Schools Under-17. A Habib, who headed the batting averages, represented English Schools Under-17 and Under-19, having been the leading run-scorer at the MCC Schools Festival. Had Tiffin's ability to score runs been matched by a similar ability to take wickets, they would have had a wonderful season. N. J. B. Howell, opening bat and captain, amassed 902 runs, with two hundreds and seven fifties, and J. Matthews, a forcing middle-order left-hander, also hit two hundreds. Both played for Surrey Young Cricketers. With D. K. Jones, Howell put on a record-breaking opening partnership of 250 v St Benedict's, each reaching three figures. Their five victories were all against school sides. Trent College, a young side, played attractive, attacking cricket and an encouraging season resulted. T. C. White's three hundreds equalled the school record, and I. R. Birch's 32 wickets indicated that there is still a place in the game for the leg-spinner.

Trinity beat eight sides, among them Eltham College, King's Rochester, Caterham, Emanuel and KCS Wimbledon, but with a fixture list of 21 games they had hoped for more wins. The bowling, if somewhat disappointing, possessed an effective medium-pacer in J. D. Good, who took 50 wickets; J. D. Morley was the leading batsman with more than 700 runs. The season was rounded off with a tour of Holland. A highlight for University College School was an innings of 103 not out v Westminster by fourteen-year-old R. J. Ayre. The only other player to reach three figures was A. J. Stewart, who headed the batting. Missing key players through injuries, Uppingham could manage wins only v Bishop's Stortford, Trent and Loughborough GS. The major innings was an excellent unbeaten 104 by J. H. Renison v Repton. Victoria College, Jersey, were dominated by two outstanding all-rounders: A. J. Clarke (947 runs, 42 wickets) and the captain, P. J. Le Cornu (920 runs, 43 wickets). Le Cornu finished five seasons in the XI with an aggregate of 3,105 runs, beating W. Jenner's record by 77, while Clarke's 111 v Elizabeth College, Jersey, was only the third post-war century for Victoria against their Channel Islands rival.

Prompted by the attacking captaincy of C. G. Stanton, Warwick School were involved in some close finishes, with four matches being decided off the last ball. Stanton scored centuries v the XL Club and Royal GS, Worcester, but the most successful player was the all-rounder, C. G. Oswald, whose well-controlled off-spin brought him 62 wickets, seven more than the school record set by G. J. Lord in 1979. Watford GS, while competently captained by M. Kendall, had a lean season, beating only Tiffin and drawing eleven games. Often, victory was but a few runs or wickets away when stumps were drawn. A. Griffin set a school record of 613 runs, 532 of them coming before the end of May.

869

Wellingborough beat Wisbech GS, Watford GS, Alleyn's, Trent College, Kimbolton and Ratcliffe in an excellent season; their only defeat was by Millfield at a festival in Guernsey. R. Cousins had an outstanding season, bowling with genuine pace at times to finish with 72 wickets, while J. M. Attfield confirmed his promise with 608 runs and 35 wickets, bowling off-breaks. Wellington College beat Winchester, lost to Bradfield and MCC, and drew the other twelve matches played. M. C. K. Hodgson, a left-hander, hit a hundred v Stowe and was the mainstay of the batting. But the middle order was fragile. The bowling, steady if unspectacular, was not helped by vital catches being dropped, although the ground fielding was keen. Wellington School, too, suffered from the dropping of critical catches. They lacked the batting and bowling to achieve many positive results, but a young side gained valuable experience.

Despite hopes of something better following a winter tour of India, Westminster's performances were maddeningly uneven, four victories being interspersed with overwhelming defeats. The captain, J. Hyam's failure to score runs haunted others, and without the aggressive contribution of D. J. Cogan, who scored 104 not out v Lords and Commons, the record would have been dire. The bowling was similarly nondescript, with A. Lancaster, the most promising bowler, missing much of the season through injury. Whitgift won four matches, including those v Trinity and Christ's Hospital, but in other schools matches lost to Brighton, Dulwich, KCS Wimbledon and St John's, Leatherhead. The batting tended to be unreliable, with the exception of N. S. Auer, who passed 600 runs for the second season. William Hulme's GS maintained their reputation for positive cricket, with only one match drawn, apart from the three curtailed by rain. The win at Birkenhead, chasing 215, was a highlight, and an innings of 144 not out from the opening batsman and captain, D. M. J. Timm, resulted in a splendid victory v King Edward's, Lytham. On tour, their out-cricket was of the highest standard and ensured wins v Pocklington, Hymers and Bolton Abbey CC. However, A. D. Cleary's six wickets were just not enough to prevent Bradford GS from winning off the last ball.

Woodhouse Grove, with a relatively inexperienced side, played positive cricket and were rewarded with wins v Bootham, Bradford GS, Hymers and Queen Elizabeth GS, Wakefield. Their only defeat was at the hands of Leeds GS. J. L. Gomersall's sound technique stood him in good stead at the start of the innings and, a more forceful batsman than in 1987, he was selected for Yorkshire Senior Schools. S. N. Lee, who played for Yorkshire Schools Under-15, took 28 wickets with well-controlled, well-flighted leg-spin and googlies, including seven for 58 v Bootham and six for 48 v Bradford GS. Worksop's young side improved as the season progressed. The batting relied on fourteen-year-old R. A. Kettleborough, although others, especially J. D. Goode, played useful innings. The bowling was steady but often lacked the penetration to force a win. Wrekin College, also with a young side, achieved some excellent results, including wins v MCC, Wellington CC, Shropshire Gentlemen and Liverpool College. S. R. Jackson led by example with both bat and ball, and C. C. P. Davies, a junior Colt, revealed some good stroke-play when scoring 116 runs in his two appearances.

Wycliffe College reported a generally disappointing season, not least because of the weather, but their young players did gain valuable experience. J. F. P. Tovey and G. M. Collins opened the batting with some consistency, M. H. Workman and R. M. Clements provided fleeting moments of class, and the captain, S. G. Cady, put together some hard-hitting innings towards the end of the season. J. M. Thomas deserved more wickets from his canny medium pace, but the one bowler capable of working his way through a side was Cady with his left-arm quicks. Wyggeston and Queen Elizabeth I Sixth Form College were unbeaten, winning five of their seven matches. Another five were abandoned. The captain, J. L. Green (fast-medium), had figures of seven for 30 and nine for 11 in the defeats of King Edward's, Stourbridge and Lawrence Sheriff respectively. They won the Leicestershire Under-19 Cup for the third consecutive year, beating John Cleveland College in the final as they had in 1987.

### THE SCHOOLS

(Qualification: Batting 100 runs; Bowling: 10 wickets)

\* On name indicates captain. \* On figures indicates not out.

Note: The line for batting reads Innings-Not Outs-Runs-Highest Innings-Average; that for bowling reads Overs-Maidens-Runs-Wickets-Average.

### **ABINGDON SCHOOL**

Played 16: Won 3, Lost 5, Drawn 8

Master i/c: T. O'Mahony

Batting—\*P. D. Lunn 9–0–396–110–44.00; G. R. Peddy 16–3–384–65–29.53; N. D. Franklin 14–1–320–93–24.61; J. S. Greenland 13–0–293–79–22.53; M. Snow 14–1–289–44–22.23; R. J. Tilley 12–1–241–76–21.90; R. J. Winsley 12–5–143–43–20.42; E. J. Tilley 13–2–149–36–13.54.

Bowling—P. D. Lunn 177-44-441-38-11.60; E. J. Tilley 79-22-234-12-19.50; R. E. Clark 150-37-420-21-20.00; M. J. Herd 111-22-328-10-32.80.

#### ALDENHAM SCHOOL

Played 13: Won 3, Lost 3, Drawn 7. Abandoned 1

Master i/c: P. K. Smith

Batting—K. Jahangir 13-1-508-103\*-42.33; M. A. Knopp 13-1-377-104\*-31.41; \*G. E. Peel 11-0-251-67-22.81; W. Pethybridge 9-1-180-48-22.50; P. M. O. Pennick 11-3-138-70-17.25; T. G. Munyard 9-1-108-34-13.50; J. M. B. Clemow 10-2-100-65-12.50.

Bowling—K. Jahangir 197-82-401-49-8.18; P. M. O. Pennick 94.6-19-328-18-18.22; G. E. Peel 89-8-359-13-27.61.

# ALLEYN'S SCHOOL

Played 16: Won 4, Lost 4, Drawn 7, Tied 1. Abandoned 1

Master i/c: S. E. Smith

Batting—P. C. Berglund 18–3–385–87\*–25.66; D. S. Herridge 15–2-283–77\*–21.76; G. R. Harrison 15–2–279–58\*–21.46; \*S. J. Clare 18–1–293–45–17.23; J. Papanastasiou 13–4–129–32–14.33; V. B. Jeffery 13–3–108–31\*–10.80; J. Naish 17–3–147–47\*–10.50; A. C. Winter 15–0–138–47–9.20.

Bowling—J. Papanastasiou 192–36–529–44–12.02; A. C. Winter 228–62–613–33–18.57; N. E. Humber 73–15–268–13–20.61; G. I. Wharton 97–22–278–13–21.38; P. C. Berglund 153–34–428–17–25.17.

# **ALLHALLOWS SCHOOL**

Played 12: Won 1, Lost 6, Drawn 5

Master i/c: P. L. Petherbridge

Batting—P. Holland 12–1–325–81–29.54; T. Elmhirst 9–1–162–60\*–20.25; C. Cuff 10–0–189–55–18.90; \*R. Enticott 11–1–137–41\*–13.70.

Bowling—R. Enticott 68-15-223-10-22.30; P. Holland 85.2-7-330-13-25.38.

#### AMPLEFORTH COLLEGE

Played 14: Won 4, Lost 5, Drawn 5. Abandoned 3

Master i/c: J. G. Willcox

Batting—\*J. R. Elliot 14–2–387–72\*–32.25; P. T. Lucas 13–2–348–64–31.63; B. Stones 11–3–199–58\*–24.87; P. Bingham 7–1–148–38–24.66; N. A. Derbyshire 11–4–136–44\*–19.42; J. Thompson 14–1–250–62\*–19.23; B. Dow 12–1–181–31\*–16.45; G. Easterby 14–0–223–60–15.92.

Bowling—D. H. Churton 195.4–57–509–36–14.13; J. Thompson 46.4–8–150–10–15.00; N. A. Derbyshire 135–22–458–22–20.81; W. H. Crichton-Stuart 152.4–55–421–19–22.15; B. Dow 95.5–25–256–10–25.60.

# ARDINGLY COLLEGE

Played 18: Won 2, Lost 7, Drawn 9. Abandoned 1

Master i/c: T. J. Brooker

Batting—M. T. E. Peirce 8–2–203–96\*–33.83; P. A. Bradford 17–6–348–65\*–31.63; \*T. W. Butterworth 18–1–520–82\*–30.58; J. A. Newman 14–3–310–65\*–28.18; M. Newcomb 8–1–182–79–26.00; P. R. Spencer 18–0–405–65–22.50; N. P. Mather 18–0–286–58–15.88; T. D. James 10–3–104–29\*–14.85; J. St G. L. Jessop 14–1–161–64–12.38.

Bowling—T. D. James 240–53–861–36–23.91; R. C. P. Maynard 120.5–14–513–16–32.06; J. A. K. Maynard 93–15–387–12–32.25; P. R. Spencer 109–25–388–11–35.27; T. W. Butterworth 190–44–659–15–43.93.

# **ARNOLD SCHOOL**

Played 20: Won 6, Lost 6, Drawn 8

Master i/c: S. Burnage

Batting—\*A. D. Jones 20–2–580–100\*–32.22; B. S. Little 18-1-516-107-30.35; P. M. Aga 18-5-274-63\*-21.07; M. Clinning 18-1-326-61-19.17; A. Flynn 14-0-153-26-10.92; S. Birtwistle 16-4-127-28\*-10.58; S. M. Aga 16-4-125-30-10.41; C. Leather 13-0-108-25-8.30.

Bowling—B. S. Little 33.4-7-104-12-8.66; S. M. Aga 362.2-98-978-69-14.17; S. Taylor 120.5-18-418-23-18.17; A. D. Jones 96.3-16-347-12-28.91.

# **ASHVILLE COLLEGE, HARROGATE**

Played 17: Won 9, Lost 4, Drawn 4. Abandoned 3

Master i/c: J. M. Bromley

Cricket professional: P. J. Kippax

Batting—A. W. Alexander 17-2-557-86-37.13; T. C. Drummond 17-2-387-71\*-25.80; S. J. Walmsley 16-0-304-61-19.00; R. D. Gunning 11-3-134-64-16.75; B. J. Drummond 15-1-222-43\*-15.85; A. J. B. Casey 16-1-134-38\*-8.93.

Bowling—B. J. Drummond 112-35-281-21-13.38; S. B. Henderson 157-39-500-35-14.28; A. W. Alexander 110-11-346-20-17.30; S. J. Walmsley 122-23-350-20-17.50; R. D. Gunning 108-26-371-20-18.55.

# **BALLYMENA ACADEMY GRAMMAR SCHOOL**

Played 27: Won 19, Lost 3, Drawn 5. Abandoned 1

Master i/c: E. C. B. Jackson

Batting—\*J. T. Glass 22-8-476-73\*-34.00; J. M. Kennedy 25-5-677-58-33.85; J. J. S. McBurney 21-5-414-86-25.87; P. S. Rainey 22-6-324-45-20.25; R. H. Bill 12-4-109-23\*-13.62; M. G. Glass 17-0-193-40-11.35; S. J. Surgeoner 22-0-183-31-8.31.

Bowling—P. S. Rainey 190–50–415–51–8.13; J. M. Kennedy 38–4–130–13–10.00; C. B. Williams 104-10-394-35-11.25; J. T. Glass 145-20-502-42-11.95; M. G. Glass 125-24-371-26-14.26; J. J. S. McBurney 158-31-376-26-14.46; R. D. Barclay 62-9-173-10-17.30.

#### **BANCROFT'S SCHOOL**

Played 20: Won 6, Lost 6, Drawn 8. Abandoned 1

Master i/c: J. G. Bromfield

Batting—\*A. C. H. Knight 21–3–476–106\*–26.44; D. J. Clark 5–0–113–69–22.60; G. P. Brown 21–1–407–72–20.35; G. J. Maynard 19–0–360–88–18.94; T. W. Clark 19–5–229–42\*–16.35; G. A. Fisher 19–2–225–73–13.23; J. P. Manning 16–4–146–27–12.16; P. Brown 17–1–171–32\*–10.68.

Bowling—D. J. Clark 37.4–4-120–13–9.23; A. Azad 38–6-110–10–11.00; P. Brown 137.5–21–465–37–12.56; G. P. Brown 195.4–52–586–35–16.74; R. Patel 158–35–463–27–17.14.

#### BANGOR GRAMMAR SCHOOL

Played 19: Won 7, Lost 6, Drawn 5, Tied 1. Abandoned 1

Master i/c: C. C. J. Harte

Batting—\*S. C. McKenna 8-1-200-65-28.57; S. L. Mann 15-2-342-94\*-26.30; D. W. Rothwell 12-2-227-84\*-22.70; N. S. Taylor 15-2-255-58\*-19.61; R. G. Scott 18-4-235-39-16.78; M. D. McLellan 11-1-149-29-14.90; S. R. McIlroy 10-1-131-41-14.55; P. A. McIlwane 15-3-162-28\*-13.50.

Bowling—M. W. R. McCord 162.2-24-500-38-13.15; R. G. Scott 120.5-24-350-24-14.58; M. W. Orr 80-23-192-11-17.45; S. L. Mann 90-8-328-14-23.42; N. S. Taylor 91.2-15-313-12-26.08.

# **BARNARD CASTLE SCHOOL**

Played 21: Won 8, Lost 2, Drawn 11. Abandoned 2

Master i/c: C. P. Johnson

Batting—J. G. H. Murphy 21–5–588–66\*–36.75; D. M. Parr 15–7–232–54\*–29.00; M. E. Jobling 18–3–389–61\*–25.93; R. D. Whittaker 20–2–384–47–21.33; G. H. Douglas-Hiley 13–3–178–75\*–17.80; J. Simon 13–4–149–36\*–16.55; \*R. E. W. Shield 19–1–256–59–14.22.

Bowling—J. M. W. B. Ward 69-13-217-15-14.46; J. G. H. Murphy 277-72-753-47-16.02; R. E. W. Shield 91.3-12-300-17-17.64; G. H. Douglas-Hiley 102.2-19-342-19-18.00; C. M. Fairey 302.2-76-851-47-18.10.

#### BEDFORD SCHOOL

Played 15: Won 4, Lost 2, Drawn 9. Abandoned 4

Master i/c: D. W. Jarrett

Cricket professional: R. G. Caple

Batting—R. E. Sims 17–2–479–61–31.93; G. L. Machin 15–3–332–65\*–27.66; M. W. J. Heslett 16–3–337–50–25.92; B. W. Bardner 12–7–120–38–24.00; M. J. Slack 16–1–300–93–20.00; R. W. H. Smith 17–0–286–41–16.82; R. G. O. Spencer 12–2–160–44–16.00; A. A. J. Woodford 9–2–107–43–15.28; D. R. Bolgar 13–2–139–40–12.63.

Bowling—R. W. H. Smith 128-33-339-29-11.68; \*M. J. Simms 116.5-31-352-24-14.66; B. W. Bardner 160-39-459-30-15.30; G. L. Machin 75-16-170-10-17.00; R. E. Sims 107-21-287-14-20.50; R. A. Jones 177-41-463-19-24.36.

#### **BEDFORD MODERN SCHOOL**

Played 18: Won 6, Lost 2, Drawn 10. Abandoned 3

Master i/c: N. J. Chinneck

Batting—G. A. H. Awudu 18–2–599–109–37.43; \*G. C. Black 17–3–383–63–27.35; P. A. Simmonds 14–1–352–111–27.07; A. C. Mackenzie 16–2–326–42–23.28; D. J. Outtrim 18–0–390–66–21.66; E. J. Seymour 12–1–177–48–16.09; E. R. Osborn 16–2–186–33\*–13.28.

Bowling—N. R. Ali 128-38-273-21-13.00; G. A. H. Awudu 273.2-59-750-54-13.88; G. C. Black 136.5-39-317-21-15.09; M. T. Cavanagh 160.5-28-520-24-21.66.

# BEECHEN CLIFF SCHOOL, BATH

Played 9: Won 6, Lost 1, Drawn 2. Abandoned 2

Master i/c: K. J. L. Mabe

Cricket professional: P. J. Colbourne

Batting—S. M. Priscott 4-3-126-41\*-126.00; G. Brown 3-1-115-67-57.50; \*D. J. Adams 8-4-170-61-42.50; D. W. Benton 6-1-189-89-37.80; P. C. McCoy 6-2-142-53\*-35.50.

Bowling—S. M. Priscott 87.4-25-241-19-12.68; J. D. Colbourne 62.5-12-248-17-14.58.

# BERKHAMSTED SCHOOL

Played 11: Won 3, Lost 3, Drawn 5. Abandoned 4

Master i/c: F. J. Davis

Cricket professional: M. Herring

Batting—\*C. D. Collett 11–2–262–92\*–29.11; D. T. Hodges 11–1–262–43–26.20; E. P. Shek 11–0–230–111–20.90; J. P. Crowther 7–1–109–40\*–18.16; A. P. Spooner 9–0–152–40–16.88.

Bowling—T. McA. Prentice 131–22–399–21–19.00; C. M. Lovegrove 181–46–449–23–19.52; R. D. Collett 78–8–231–10–23.10; D. T. Hodges 212–53–558–23–24.26.

# **BISHOP'S STORTFORD COLLEGE**

Played 12: Won 0, Lost 6, Drawn 6. Abandoned 6

All IA September of the Hamilton November All All

Master i/c: D. A. Hopper

Cricket professional: E. G. Witherden

Batting—R. D. F. Wright 10–1–280–101–31.11; R. N. McIntyre 12–2–284–52–28.40; W. A. J. Pugh 5–0–107–53–21.40; \*P. E. B. Armitage 11–0–225–50–20.45; D. N. Child 12–0–150–49–12.50; J. R. Torrance 12–0–107–19–8.91.

Bowling—R. D. F. Wright 96.3–17–309–18–17.16; R. N. McIntyre 148.5–33–445–18–24.72; J. R. Torrance 184–44–541–20–27.05.

### BLOXHAM SCHOOL

Played 15: Won 4, Lost 5, Drawn 6. Abandoned 1

Master i/c: I. K. George

Batting—D. Hill 13-5-371-62\*-46.37; \*N. Baig 15-1-590-81-42.14; M. Day 15-1-268-38-19.14; E. Hockey 11-1-185-44\*-18.50; A. Russell 11-0-155-54-14.09.

Bowling—M. Day 181-32-558-28-19.92; E. Hockey 133-32-417-20-20.85; M. Thompson 145.2-32-405-19-21.31; N. Baig 200-36-606-25-24.24.

# **BLUNDELL'S SCHOOL**

Played 14: Won 0, Lost 5, Drawn 9. Abandoned 3

Master i/c: E. R. Crowe

Cricket professional: E. Steele

Batting—A. S. J. Horton 13–4–243–47–27.00; N. A. MacIver 13–0–330–67–25.38; C. D. Bending 14–1–322–88–24.76; M. R. N. Hunt 7–0–126–56–18.00; A. J. Rew 13–1–185–47–15.41; D. J. Jewell 12–1–153–41\*–13.90; \*P. G. Wilson 10–0–130–28–13.00; P. D. Rogers 11–0–127–48–11.54; C. E. Bayly 13–1–125–35–10.41.

Bowling—R. S. Castle 215–64–588–32–18.37; A. J. Cartwright 101–19–432–21–20.57; P. G. Wilson 140.4–33–503–16–31.43; C. D. Bending 102–10–407–11–37.00.

#### **BRADFIELD COLLEGE**

Played 17: Won 9, Lost 4, Drawn 4

Master i/c: F. R. Dethridge

Cricket professional: J. F. Harvey

Batting—R. W. F. Perry 17–2-599–109\*–39.93; J. C. Adams 16–1–399–72–26.60; \*W. A. Oscroft 16–1–354–64–23.60; W. D. Cairns 15–2–198–33–15.23; T. Findjan 16–2–209–33–14.92; D. J. Wiggins 16–0–174–27–10.87.

Bowling—R. W. F. Perry 137–39–304–25–12.16; W. A. Oscroft 177–47–421–33–12.75; J. D. Pearce 226–76–492–34–14.47; E. G. Browning 176–38–451–29–15.55.

# **BRADFORD GRAMMAR SCHOOL**

Played 34: Won 18, Lost 11, Drawn 5. Abandoned 3

Master i/c: A. G. Smith

Batting—D. R. Chadwick 31–5–759–127–29.19; A. G. Webster 28–4–618–95–25.75; S. Henry 16–0–329–67–20.56; A. G. Stott 17–0–319–61–18.76; \*P. R. Miles 28–4–445–45–18.54; J. P. Collen 32–4–511–64–18.25; D. C. Whitfield 24–4–362–58–18.10; N. H. W. Marshall 23–2–240–33–11.42; R. A. F. Kitchen 23–6–169–41\*–9.94; R. A. Midgley 17–3–103–24–7.35.

Bowling—A. G. Webster 231.3–46–592–55–10.76; R. A. Midgley 112.5–15–376–27–13.92; R. A. F. Kitchen 239.5–49–683–48–14.22; P. R. Miles 213–51–771–53–14.54; D. Priestley 50.2–15–174–10–17.40; A. G. Stott 45–3–199–11–18.09; P. R. Booth 159–30–466–22–21.18; J. D. Morton 73.4–9–321–15–21.40.

## **BRENTWOOD SCHOOL**

Played 13: Won 2, Lost 3, Drawn 8. Abandoned 2

Master i/c: P. J. Whitcombe

Cricket professional: K. C. Preston

Batting—\*M. D. Wilkins 13–1–349–115\*–29.08; J. G. Northwood 13–2–290–50\*–26.36; C. J. Wilkins 12–2–263–50\*–26.30; R. T. Goodey 10–0–159–52–15.90; G. K. Fletcher 9–0–112–50–12.44; P. McGowan 11–2–102–43–11.33; M. A. Spackman 11–0–122–28–11.09.

Bowling—M. D. Wilkins 192-52-494-27-18.29; P. McGowan 158-17-544-24-22.66; I. F. Stronach 155-41-407-16-25.43; A. Majumdar 100-20-310-11-28.18; A. A. Witney 116-22-296-10-29.60.

# **BRIGHTON COLLEGE**

Played 19: Won 9, Lost 3, Drawn 7. Abandoned 1

Master i/c: J. Spencer

Cricket professional: J. D. Morley

Batting—J. P. Gibson 19-0-701-157-36.89; \*C. P. Sweet 18-1-601-98-35.35; R. B. Holt 16-4-412-91-34.33; C. N. Gates 19-2-422-65-24.82; R. Oliphant-Callum 17-1-381-73-23.81; C. P. Hart  $14-6-176-56^*-22.00$ ; P. E. Chettleburgh 12-2-200-43-20.00; N. D. Grey  $9-4-100-38^*-20.00$ ; D. Clout  $12-2-102-21^*-10.20$ .

Bowling—C. M. Long 311-128-717-53-13.52; C. P. Sweet 217.3-52-556-39-14.25; C. P. Hart 224.2-57-611-33-18.51.

# **BROMSGROVE SCHOOL**

Played 16: Won 5, Lost 5, Drawn 6. Abandoned 2

Master i/c: D. Langlands

Batting—\*P. C. Duffy 14-6-762-111\*-95.25; J. C. Reed-Daunter 11-2-289-63-32.11; A. Burton 7-0-156-44-22.28; W. Guck 13-3-174-31-17.40; H. W. Humphries 11-3-103-31-12.87; R. H. M. Beddall 11-1-128-42-12.80.

Bowling—P. C. Duffy 122.3–9-429–31–13.83; A. Wylie 145.2–37–328–23–14.26; J. C. Reed-Daunter 92–12–299–11–27.18.

#### BRYANSTON SCHOOL

Played 15: Won 3, Lost 5, Drawn 7. Abandoned 1

Master i/c: M. C. Wagstaffe

Batting-S. C. Ecclestone 12-3-751-126-83.44; R. G. Lee 14-1-412-117-31.69; T. Clarke 10-3-108-33\*-15.42; J. Singleton 11-3-106-27-13.25; T. J. Millard 11-0-125-37-11.36.

Bowling-R. G. Lee 186.4-29-558-31-18.00; S. C. Ecclestone 139.3-31-438-17-25.76.

#### CANFORD SCHOOL

Played 16: Won 5, Lost 6, Drawn 5

Master i/c: H. A. Jarvis Cricket professionals: D. Shackleton and P. Knowles

Batting—J. A. Perry 16-1-433-70-28.86; \*J. P. Blissard-Barnes 16-1-422-73-28.13; N. M. Roussel 12-5-168-49\*-24.00; R. E. M. Robinson 13-1-263-75-21.91; D. J. C. Allom 14-3-231-54\*-21.00; M. L. Harris 8-2-115-34-19.16; J. G. E. Bartholomew 14-0-226-43-16.14; M. W. Forward 12-0-120-25-10.00.

Bowling-T. R. Murray-Walker 187-25-547-35-15.62; J. R. Murray-Walker 118-22-327-15-21.80; A. G. Easton 150.3-24-491-20-24.55; N. M. Roussel 167.1-37-522-19-27.47.

#### **CATERHAM SCHOOL**

Played 16: Won 2, Lost 4, Drawn 10. Abandoned 1

Master i/c: A. G. Simon

Batting-N. B. Driscoll 15-2-406-67-31.23; S. J. Dawes 13-0-293-67-22.53; K. A. Amaning 14-2-260-77-21.66; D. N. Podbur 15-1-302-97-21.57; \*R. L. M. Mauger 15-1-256-51-18.28; D. J. Mear 12-2-150-33-15.00; M. W. Shackel 15-2-167-31-12.84.

Bowling-D. J. Paisey 220-48-576-37-15.56; N. B. Driscoll 123.3-27-385-24-16.04; S. A. Ghyas 97.1-17-332-16-20.75; R. L. M. Mauger 47.5-2-232-11-21.09.

#### **CHARTERHOUSE**

Played 15: Won 5, Lost 6, Drawn 4. Abandoned 2

Master i/c: J. M. Knight

Cricket professional: R. V. Lewis

Batting-G. I. MacMillan 15-3-549-116\*-45.75; C. E. L. Simson 16-2-589-112-42.07; \*A. E. Ivermee 16-3-286-82\*-22.00; G. R. Brooke 13-2-208-76-18.90; J. N. B. Bovill 11-0-195-46-17.72; P. Gorman 12-2-162-55-16.20; A. T. Grundy 11-1-145-58-14.50; S. Wilkinson 12-1-136-50-12.36.

Bowling-J. N. B. Bovill 198.5-61-493-43-11.46; C. W. Oatley 167-56-392-21-18.66; G. I. MacMillan 105-21-307-15-20.46; A. E. Ivermee 121-23-373-17-21.94; P. Gorman 128.5-26-425-17-25.00.

#### CHELTENHAM COLLEGE

Played 16: Won 6, Lost 4, Drawn 6. Abandoned 2

Master i/c: W. J. Wesson

Cricket professional: M. W. Stovold

Batting-\*G. F. Hill 16-2-432-89-30.85; T. N. Wyatt-Gunning 12-0-314-57-26.16; J. R. Boddington 14-0-366-81-26.14; I. O. Kirkland 15-2-330-98-25.38; E. G. Boyd 15-4-249-46-22.63; R. W. Harris 13-7-102-43\*-17.00; M. A. Crowther 12-0-106-38-8.83.

Bowling-M. A. Crowther 128.3-19-513-28-18.32; T. N. Wyatt-Gunning 193.5-28-656-32-20.50; A. R. Whitten 157-31-536-26-20.61; G. F. Hill 86.3-17-314-11-28.54; J. R. Davison 94-19-306-10-30.60.

#### CHIGWELL SCHOOL

Played 13: Won 1, Lost 6, Drawn 6. Abandoned 2

Master i/c: D. N. Morrison

Batting-\*D. Clark 12-0-367-126-30.58; J. Carpenter 13-1-360-72-30.00; T. Tarring 13-1-199-52\*-16.58; M. Flack 12-1-117-37-10.63.

Bowling-G. Haysom 78-18-203-12-16.91; I. Maskey 68-8-246-12-20.50; D. Clark 96.2-19-309-14-22.07; J. Carpenter 115.2-27-302-13-23.23; X. Ferguson 108.3-22-338-13-26.00.

#### CHRIST COLLEGE, BRECON

Played 12: Won 4, Lost 1, Drawn 7. Abandoned 8

Master i/c: C. W. Kleiser

Batting-E. P. M. Holland 9-4-152-55\*-30.40; \*M. Yendle 12-2-273-87-27.30; K. R. W. Lumby 9-2-188-54\*-26.85; K. L. Miller 10-2-178-52-22.25; R. T. W. Horne 12-3-190-63-21.11; M. J. Williams 8-2-113-30-18.83; S. D. Hooper 7-0-101-80-14.42; N. D. Powell 11-0-111-28-10.09.

Bowling-E. P. M. Holland 104.3-32-231-22-10.50; R. T. W. Horne 71.1-12-214-19-11.26; M. Yendle 63.3-10-179-11-16.27; K. L. Miller 105-32-227-10-22.70.

# CHRIST'S HOSPITAL

Played 16: Won 2, Lost 6, Drawn 8

Master i/c: R. H. Sutcliffe

Cricket professional: A. Karim

Batting-S. J. Hitch 12-1-221-50-20.09; \*J. R. Atkinson 11-1-192-64-19.20; R. A. Dawson 7-0-118-39-16.85; J. M. Sillett 14-1-206-67\*-15.84; J. H. Newsum 11-1-156-59-15.60; J. D. English 15-0-220-69-14.66; P. M. Emerson 13-0-186-38-14.30; J. P. Saunders 11-0-142-34-12.90.

Bowling-T. K. W. Welch 178-37-392-30-13.06; T. A. Fooks 182-33-519-32-16.21; J. D. English 114-18-384-22-17.45; J. R. Atkinson 98-12-419-15-27.93.

# **CLAYESMORE SCHOOL**

Played 15: Won 8, Lost 1, Drawn 6. Abandoned 2

Master i/c: R. P. Merriman

Batting-\*G. Owton 15-3-782-132-65.16; J. C. Latimer 11-4-316-112\*-45.14; J. Dike 13-3-214-65\*-21.40; R. Greene 13-2-178-69-16.18.

Bowling-J. C. Latimer 36-9-85-10-8.50; J. Dike 182-48-462-50-9.24; C. Eitzen 57.2-6-188-16-11.75; T. Bradbury 108.3-27-260-20-13.00; P. Griffiths 59-14-184-13-14.15.

#### **CLIFTON COLLEGE**

Played 19: Won 3, Lost 6, Drawn 10. Abandoned 1

Master i/c: C. M. E. Colquhoun

Cricket professional: F. J. Andrew

Batting-R. J. R. Clark 19-1-740-116-41.11; J. R. A. Williams 15-1-535-108-38.21; T. C. Henderson 15-5-358-114\*-35.80; J. A. R. Niven 16-3-446-107\*-34.30; M. G. N. Windows 14-5-275-45-30.55; J. P. Parish 12-2-182-38-18.20; J. C. Leek 9-0-123-33-13.66; \*R. J. W. Holdsworth 12-4-105-35\*-13.12.

Bowling-C. M. Spiro 282.1-41-994-39-25.48; R. J. W. Holdsworth 322.5-71-1,053-38-27.71; J. A. R. Niven 197.2-41-673-17-39.58.

#### COLFE'S SCHOOL

Played 15: Won 5, Lost 4, Drawn 6

Master i/c: P. Hollingum

Batting—\*R. Harmer 15-3-562-102\*-46.83; J. Carr 14-5-225-48\*-25.00; M. Horder 11-2-149-45-16.55; C. Webb 9-0-140-47-15.55; M. Brierley 14-1-197-34-15.15; G. Davies 13-0-137-25-10.53; P. Mears 14-0-133-39-9.50.

 $\begin{array}{lll} \textit{Bowling}-\text{M. Wainman } 106-19-282-17-16.58; \text{ R. Harmer } 74-10-261-15-17.40; \text{ R. Reynolds} \\ 110-21-418-19-22.00; & \text{M. Horder } 79-9-267-12-22.25; & \text{A. Wooff } 83-19-245-10-24.50; \\ \text{J. Carr } 143.1-28-430-12-35.83. \end{array}$ 

#### COLSTON'S SCHOOL

Played 18: Won 4, Lost 5, Drawn 9. Abandoned 2

Master i/c: M. P. B. Tayler

Batting—J. A. Franklin 17–6-561–92\*–51.00; \*R. L. Rees Jones 17–2-468–102–31.20; S. J. Harwood 13–5–211–45\*–26.37; J. E. Vickery 17–1–408–69–25.50; D. J. Hobbs 8–1–146–59\*–20.85; M. J. Brittain 10–2–139–52–17.37; M. N. Winrow 16–0–254–94–15.87.

Bowling—J. C. Reice 139.3–25–436–28–15.57; S. J. Davey 147–20–485–17–28.52; J. E. Vickery 120.3–13–548–18–30.44; R. L. Rees Jones 147–18–581–18–32.27; M. J. Brittain 80.2–7–434–10–43.40.

### **COVENTRY SCHOOL - BABLAKE**

Played 17: Won 6, Lost 2, Drawn 9

Master i/c: B. J. Sutton

Batting—\*D. J. Barr 16–3–595–92–45.76; D. Ormerod 17–5–375–63–31.25; D. Hopkins 17–0–412–122–24.23; D. Kingham 16–1–303–47–20.20; S. Jervis 15–3–232–47\*–19.33; M. Enever 9–2–114–32\*–16.28; D. Haywood 12–4–107–26–13.37.

Bowling—B. Parham 149.5–35–413–29–14.24; Azhar Khan 97.3–17–295–16–18.43; D. Hopkins 103.1–21–371–18–20.61; M. G. H. Sutton 110–28–302–14–21.57; D. Haywood 75–19–262–11–23.81.

#### CRANBROOK SCHOOL

Played 10: Won 1, Lost 4, Drawn 5. Abandoned 1

Master i/c: D. Firminger

Batting—\*R. P. T. Lisle 11–1–246–43–24.60; S. P. France 8–3–106–34\*–21.20; J. C. Honey 11–2–177–41–19.66; A. P. N. Secker 10–2–151–44\*–18.87; K. Wookey 8–1–127–35–18.14.

Bowling—K. Wookey 78.9-13-227-16-14.18; S. P. France 104.8-19-337-20-16.85.

#### CRANLEIGH SCHOOL

Played 18: Won 2, Lost 5, Drawn 11

Master i/c: C. J. Lush

Batting—P. J. Humphreys 4–1–114–62–38.00; R. A. J. Grove 18–1–576–105–33.88; \*N. C. Radbourne 17–1–426–58\*–26.62; B. Gurung 18–0–451–71–25.05; I. J. F. Wyness 16–3–267–40–20.53; S. L. McGuire 9–2–111–21–15.85; J. A. Letts 14–3–170–28–15.45; W. R. Stephens 15–4–149–43–13.54.

Bowling—N. C. Radbourne 196–39–618–28–22.07; T. C. Crouch 208–48–655–28–23.39; J. A. Letts 72–14–248–10–24.80; T. G. Robinson 67–12–248–10–24.80; I. J. F. Wyness 128–16–527–13–40.53.

# DAUNTSEY'S SCHOOL

Played 14: Won 6, Lost 2, Drawn 6

Master i/c: M. K. F. Johnson

Cricket professional: P. Rutledge

Batting—\*J. W. S. Porter 13–3–1,104–146\*–110.40; R. P. M. Smith 12–3–257–72\*–28.55; N. L. Jephson 12–1–293–63–26.63; R. Pollach 10–3–132–46–18.85; N. M. Harvey 9–3–103–16–17.16; K. D. Tadhunter 13–1–176–42–14.66.

Bowling-R. Pollach 109.1–19–339–23–14.73; E. J. Rayner 114–15–398–20–19.90; A. R. Gilmour 144.1–27–491–23–21.34; J. W. S. Porter 126–13–443–19–23.31.

### DEAN CLOSE SCHOOL

Played 12: Won 4, Lost 4, Drawn 3, Tied 1. Abandoned 3

Master i/c: C. M. Kenyon

Cricket professional: C. Gabbitas

Batting—\*T. A. Edginton 11–1–448–101\*–44.80; G. G. Hunton 7–0–176–80–25.14; D. A. Breese 8–0–176–50–22.00; S. K. Organ 12–1–174–37–15.81; C. J. Townsend 11–1–158–65–15.80; T. M. Churchill 10–0–116–51–11.60; R. J. Husband 12–0–128–40–10.66.

Bowling—T. M. Churchill 119.3–25-400-36-11.11; T. A. Edginton 144-28-483-28-17.25; C. N. C. Hodges 84-20-250-11-22.72; S. K. Organ 96.1-24-351-10-35.10.

#### **DENSTONE COLLEGE**

Played 11: Won 2, Lost 4, Drawn 5. Abandoned 3

Master i/c: A. N. James

Batting—J. Snape 10–3–305–74–43.57; \*P. R. Dennis-Jones 9–3–156–47\*–26.00; A. J. Gagie 10–3–151–61\*–21.57; A. S. H. Oyston 10–1–171–96–19.00.

 ${\it Bowling}{\rm -J.~Snape~112.4{\rm -}34{\rm -}303{\rm -}16{\rm -}18.93};~J.~Broughton~52{\rm -}5{\rm -}196{\rm -}10{\rm -}19.60};~R.~J.~Harris~89{\rm -}19{\rm -}267{\rm -}11{\rm -}24.27.$ 

#### DOUAI SCHOOL

Played 8: Won 0, Lost 4, Drawn 4. Abandoned 3

Master i/c: J. Shaw

Batting—J. Adcock 6-3-119-46-39.66; M. Allen 6-1-126-55-25.20.

Bowling—\*R. Lumb 120–18–394–11–35.81; T. Padgham 104–9–514–11–46.72.

#### DOVER COLLEGE

Played 16: Won 1, Lost 13, Drawn 2. Abandoned 1

Master i/c: D. C. Butler

Batting—J. D. Rouse 14–1–560–104–43.07; \*S. P. Howkins 16–1–417–83–27.80; D. M. Rouse 16–1–360–60–24.00; D. J. Winwood 16–1–262–48–17.46; S. J. Schilder 14–0–240–58–17.14.

Bowling—S. P. Howkins 303.1-48-1,051-46-22.84; J. D. Rouse 141.5-18-555-12-46.25.

## DOWNSIDE SCHOOL

Played 13: Won 6, Lost 2, Drawn 5. Abandoned 2

Master i/c: K. J. M. Burke

Batting—A. C. Ratcliffe 12–5–354–78\*–50.57; G. C. J. Barrington 12–2–321–107\*–32.10; S. M. J. Roberts 13–4–279–59\*–31.00; \*D. P. Morris 9–3–180–54–30.00; T. S. Pascal 11–0–240–81–21.81; N. C. R. Holmes 12–0–223–53–18.58; J. M. R. Higgins 11–0–191–47–17.36.

Bowling—C. E. Crossland 140.5–53–365–28–13.05; R. C. Thesiger 96–18–279–16–17.43; N. C. R. Holmes 49-5-175-10-17.50; J. M. Thesiger 92-23-223-12-18.58; G. C. J. Barrington 150.1-40-405-16-25.31.

# **DUKE OF YORK'S ROYAL MILITARY SCHOOL**

Played 16: Won 4, Lost 4, Drawn 8

Master i/c: S. Salisbury

Cricket professional: P. R. Bradbury

Batting—\*A. P. Glasby 16–2–425–102\*–30.35; C. N. Conway 11–2–258–80–28.66; S. Gale 13–0–263–57–20.23; M. I. Ive 14–3–196–42–17.81; R. A. Saunders 15–0–253–63–16.86; S. R. Fowler 15–3–177–40–14.75; D. J. Belcher 14–0–188–54–13.42; S. J. G. Lile 12–1–116–27–10.54; M. A. Hulme 15–1–137–36\*–9.78.

Bowling—A. G. Wilkinson 162-33-505-34-14.85; S. J. G. Lile 145-29-400-25-16.00; S. Gale 150-36-491-25-19.64; A. P. Glasby 100-13-385-16-24.06; S. R. Fowler 120-29-425-15-28.33.

# DULWICH COLLEGE

Played 15: Won 7, Lost 3, Drawn 5

Master i/c: N. D. Cousins

Cricket professionals: A. R. Ranson and W. A. Smith

Batting—N. K. M. Talonpoika 15–1–538–106–38.42; \*T. D. J. Ufton 15–1–465–132\*–33.21; M. E. Peffers 14–0–249–51–17.78; J. P. Howland 15–0–252–52–16.80; R. C. Tulsiani 11–1–152–33–15.20; A. P. Agar 14–4–145–43–14.50; R. F. Hollis 12–3–101–31\*–11.22.

Bowling—N. K. M. Talonpoika 92.2-5-365-22-16.59; R. W. Penry-Jones 157-31-498-18-27.66; R. F. Hollis 148.1-35-478-17-28.11; R. C. Tulsiani

### **DURHAM SCHOOL**

Played 15: Won 9, Lost 1, Drawn 4, Tied 1. Abandoned 1

Master i/c: N. J. Willings

Cricket professional: M. Hirsch

Batting—A. Roseberry 11-2-490-68-54.44; N. S. Whitfield 13-4-424-93-47.11; W. P. C. Weston 14-1-458-92\*-35.23; C. J. Lally 8-3-119-45\*-23.80; S. N. Monk 13-3-200-58-20.00; A. C. Bloore 11-2-126-32-14.00; \*A. G. Clayton 12-0-108-42-9.00.

Bowling—W. P. C. Weston 189–50–453–31–14.61; A. Roseberry 104–29–300–19–15.78; A. G. Clayton 228.1–59–543–33–16.45; N. S. Whitfield 161.2–45–398–24–16.58.

# **EASTBOURNE COLLEGE**

Played 22: Won 10, Lost 6, Drawn 6

Master i/c: N. L. Wheeler

Cricket professional: A. E. James

Batting—T. C. Nicholson 21–2–1,056–139–55.57; E. S. H. Giddins 11–5–190–92–31.66; \*G. E. Thwaites 21–2–573–77–30.15; A. J. T. Halliday 20–2–538–85\*–29.88; T. J. Duffill 22–7–384–75\*–25.60; P. J. Buckland 11–3–156–60–19.50; P. D. Horscroft 16–1–289–63–19.26; J. F. C. Toomer 16–3–206–53\*–15.84; F. A. Ali 12–2–106–27–10.60.

Bowling—E. S. H. Giddins 261-75-741-56-13.23; H. A. Skinner 54-6-225-12-18.75; F. A. Ali 275-72-743-34-21.85; G. E. Thwaites 128-27-454-16-28.37; P. J. Buckland 191-38-688-23-29.91.

#### THE EDINBURGH ACADEMY

Played 18: Won 10, Lost 3, Drawn 5

Master i/c: A. R. Dyer

Cricket professional: G. Reifer

Batting—C. J. Stirling 11–4–195–52–27.85; M. K. Wilkinson 16–2–337–53\*–24.07; \*M. T. Innes 20–3–390–60–22.94; K. F. Dyer 20–3–386–88\*–22.70; N. R. Dyer 16–4–258–50\*–21.50; A. R. J. Monaghan 18–2–300–46–18.75.

Bowling—C. J. S. Cairns 206.1–61–493–41–12.02; A. R. J. Monaghan 74.1–7–254–21–12.09; M. M. A. Simpson 193.1–48–513–33–15.54; N. R. Dyer 268.4–75–629–32–19.65; J. J. Edmond 118.3–38–258–10–25.80.

#### **ELIZABETH COLLEGE, GUERNSEY**

Played 24: Won 7, Lost 0, Drawn 17

Master i/c: M. E. Kinder

Batting—S. B. R. Mackay 20–3–653–121–38.41; D. J. Marshall 20–1–540–69\*–28.42; \*N. E. G. Garrett 19–6–244–35–18.76; P. K. Philp 17–3–235–37–16.78; M. L. Jefferies 15–1–221–52–15.78; O. Chadwick 18–5–194–36–14.92; M. Daley 12–5–104–61\*–14.85.

Bowling—D. J. Marshall 105-21-298-26-11.46; W. M. Walden 113.4-27-310-22-14.09; S. B. R. Mackay 132-33-360-25-14.40; N. E. G. Garrett 159.4-30-457-31-14.74; R. J. B. Turville 146.2-40-380-24-15.83; P. J. A. Moody 150.3-40-407-23-17.69.

### ELLESMERE COLLEGE

Played 15: Won 6, Lost 3, Drawn 6. Abandoned 2

Master i/c: E. Marsh

Cricket professional: R. K. Sethi

Batting—M. J. Marvell 15–6–432–92–48.00; D. J. Marvell 15–3–448–101\*–37.33; \*C. M. Reed 13–4–278–56–30.88; M. R. Winn 13–0–258–58–19.84; J. S. Marsh 12–0–219–44–18.25; T. A. R. Elston 16–1–250–65–16.66; N. J. B. Allan 12–4–128–28–16.00; W. J. Hart 12–2–150–32–15.00.

Bowling—M. J. Marvell 283–99–597–45–13.26; J. G. Slater 138–22–260–13–20.00; C. M. Reed 203–52–528–22–24.00.

#### **ELTHAM COLLEGE**

Played 13: Won 2, Lost 7, Drawn 4. Abandoned 3

Masters i/c: P. McCartney and B. M. Withecombe Cricket professional: R. Winup

Batting—L. W. Neil-Dwyer 11–3–337–61\*–42.12; \*S. J. Goodfellow 10–1–232–73\*–25.77; R. A. Morgan 11–1–250–102\*–25.00; J. J. Guthrie 11–2–211–103\*–23.44; N. S. White 8–1–120–41–17.14.

Bowling—S. P. Allen 79.3–16–294–19–15.47; S. J. Goodfellow 159.1–27–493–28–17.60; S. G. Hughes 97–12–288–12–24.00; N. A. O'Leary 89.5–17–344–13–26.46.

# **EMANUEL SCHOOL**

Played 21: Won 8, Lost 7, Drawn 6. Abandoned 1

Master i/c: R. M. Woodall

Batting—M. D. Coe 18-2-848-83-53.00; \*S. J. Legg 21-1-826-107-41.30; A. Din 17-0-437-40-25.70; A. Riley 13-5-189-54\*-23.62; I. Tournès 16-3-222-71\*-17.07; P. Ratna 19-0-302-61-15.89; J. D. Cole 16-3-157-37\*-12.07.

Bowling-M. D. Coe 242-73-647-42-15.40; J. D. Cole 201-51-511-27-18.92; D. Shore 177-47-469-22-21.31; D. Kohli 109-14-327-15-21.80.

# ENFIELD GRAMMAR SCHOOL

Played 18: Won 5, Lost 7, Drawn 6. Abandoned 2

Master i/c: J. J. Conroy

Batting—D. Bowen 16-0-643-135-40.18; J. King 16-4-401-90\*-33.41; O. White 17-1-502-109\*-31.37; S. Chandler 6-1-134-40\*-26.80; T. Holmes 9-3-156-27-26.00; S. Ewins 11-0-131-32-11.90; A. Griggs 15-0-172-46-11.46; P. Cully 11-0-122-31-11.09.

Bowling-P. Nicholls 169.5-24-611-28-21.82; N. Lutwyche 133.2-15-504-20-25.20; S. Graham 74.3-11-293-11-26.63; J. Gillespie 88.2-12-432-11-39.27; C. Browne

# EPSOM COLLEGE

Played 12: Won 6, Lost 2, Drawn 4

Master i/c: M. D. Hobbs

Batting—G. D. Saunders-Griffiths 8-0-205-117-25.62; D. R. Bance 13-1-302-104\*-25.16; D. A. George 9-4-109-29-21.80; G. K. Cohen 12-1-228-45-20.72; \*G. A. Coles 13-2-219-66\*-19.90; M. J. Merrington 13-0-227-65-17.46; P. J. Vickars 10-2-124-37\*-15.50; J. C. A. Collier 12-0-105-25-8.75.

Bowling-P. J. Vickars 180.5-43-465-34-13.67; W. E. J. Crawford 88-20-275-20-13.75; D. A. George 110.2-22-293-18-16.27; N. A. Morris 135.5-17-493-15-32.86. Played 15: Won 6, Lost 3, Drawn 6, Abendourd

# M DE SEATE-SIDE SAN ESTON COLLEGE

Played 14: Won 5, Lost 2, Drawn 7. Abandoned 1 Master i/c: J. A. Claughton Cricket professional: J. M. Rice

Batting—H. R. E. Petre 13-5-386-71\*-48.25; C. H. G. St George 14-3-389-84\*-35.36; A. G. Bignell 14-1-367-68-28.23; J. E. Carr 12-1-281-83-25.54; S. R. B. Martin 14-0-261-50-18.64; J. C. Prichard 11-4-126-43\*-18.00; J. T. Trusted 9-3-103-42\*-17.16.

Bowling-\*J. K. Erith 172.2-39-494-30-16.46; E. B. J. Johnson 197.4-40-586-34-17.23; T. P. M. Fleming 244.1-53-556-27-20.59.

# EXETER SCHOOL

Played 13: Won 4, Lost 1, Drawn 8. Abandoned 2

Master i/c: M. C. Wilcock

Batting—C. L. Bawden 13-2-344-82-31.27; J. P. L. Hottot 11-1-229-54-22.90; \*R. P. Corney 13-1-250-76-20.83; C. Q. Taylor 10-0-198-54-19.80; M. J. Stevenson 8-0-103-30-12.87.

Bowling-M. J. Stevenson 141.4-25-387-21-18.42; P. R. Taverner 170.1-38-467-24-19.45.

#### FELSTED SCHOOL

Played 17: Won 9, Lost 0, Drawn 8

Master i/c: M. Surridge

Cricket professional: G. O. Barker

Batting-\*N. V. Knight 16-6-1,013-168\*-101.30; R. J. Bentley 10-3-333-55-47.57; T. F. C. Cooper 16-2-509-82-36.35; S. J. Keys 12-2-342-73-34.20; J. D. Collard 17-0-379-59-22.29; R. J. Slater 8-3-104-33-20.80; S. E. Carson 15-2-234-61-18.00.

Bowling-R. J. Slater 66-14-176-16-11.00; T. F. C. Cooper 101-20-312-21-14.85; R. F. Kirby 89-23-236-14-16.85; G. R. Hussey 101-24-288-15-19.20; N. V. Knight 121-29-423-22-19.22; C. S. G. Staveley 159-49-457-17-26.88; I. F. Morgan 151-38-411-15-27.40.

#### **FETTES COLLEGE**

Played 11: Won 2, Lost 4, Drawn 5. Abandoned 4

Master i/c: M. C. G. Peel

Cricket professional: J. van Geloven

Batting-\*J. L. MacLean 11-2-313-111\*-34.77; J. A. Cardwell Moore 11-2-235-68\*-26.11; N. H. Turner 7-2-105-22\*-21.00; A. F. Rhodes 8-1-103-44-14.71; C. F. Hendry 9-1-100-27\*-12.50.

Bowling-J. L. MacLean 178.1-33-437-30-14.56; J. R. S. Lloyd 189-37-536-30-17.86; P. de Bernier 96-16-316-16-19.75.

#### FOREST SCHOOL

Played 16: Won 6, Lost 5, Drawn 5

Master i/c: S. Turner

Batting-\*A. C. Richards 16-2-696-104-49.71; P. I. O'Neill 15-2-503-76-38.69; B. J. Barnett 13-5-273-62\*-34.12; A. R. Heyes 13-0-212-53-16.30; P. Butler 16-2-187-37-13.35.

Bowling-A. C. Richards 172-62-438-34-12.88; P. Butler 184-36-522-33-15.81; L. Adenaike 241-53-681-30-22.70.

### FOYLE AND LONDONDERRY COLLEGE

Played 22: Won 13, Lost 4, Drawn 5

Masters i/c: G. R. McCarter and I. McKracken

Batting-\*S. Smyth 19-1-1,026-165-57.00; T. Dougherty 7-2-159-79\*-31.80; M. Simpson 18-3-421-66\*-28.06; G. Watson 15-2-263-46-20.23; D. Deans 20-1-326-41-17.15; S. Baldrick 17-2-246-79\*-16.40; R. Curry 21-1-298-89-14.90; B. Smyth 18-4-191-39-14.50.

Bowling-M. Simpson 206-75-360-42-8.57; S. Baldrick 139-42-310-34-9.11; D. Deans 155.2-38-382-34-11.23; G. Watson 84-9-369-25-14.76; A. Cooke 89.2-11-368-14-26.28.

#### FRAMLINGHAM COLLEGE

Played 14: Won 5, Lost 3, Drawn 6. Abandoned 1

Master i/c: P. J. Hayes

Cricket professional: C. Rutterford

Batting-S. C. Giller 14-4-437-92-43.70; S. E. Iliffe 14-1-361-106\*-27.76; R. Gemmill 12-2-212-45-21.20; \*P. C. E. Gubbins 11-2-174-62-19.33; K. H. Ip 11-1-154-55\*-15.40; N. I. Barker 12-0-118-38-9.83.

Bowling-S. C. Giller 184.3-63-422-32-13.18; M. J. Rutterford 85.1-27-192-14-13.71; M. J. Anstes 153.1–41–428–24–17.83.

# **GIGGLESWICK SCHOOL**

Played 14: Won 3, Lost 4, Drawn 7. Abandoned 2

Master i/c: R. C. Green

Cricket professional: T. M. Moody

Batting-\*M. P. Kaye 14-1-375-73-28.84; A. G. Holmes 13-0-258-60-19.84; G. B. Callan 13-2-211-63\*-19.18; D. A. V. Caton 14-0-261-50-18.64; D. M. Keoghan 14-3-168-35-15.27.

Bowling-M. P. Kaye 133-17-473-30-15.76; T. I. Bentley 59-8-207-12-17.25; D. A. V. Caton 64-7-223-10-22.30; J. R. Jackson 122-15-436-19-22.94.

### THE GLASGOW ACADEMY

Played 12: Won 2, Lost 9, Drawn 1

Master i/c: S. W. McAslan Cricket professional: P. A. Cooper

Batting-R. K. S. Fleming 11-0-146-63-13.27; L. S. Sandberg 11-2-103-36\*-11.44; K. Matthews 12-0-128-58-10.66; A. S. Campbell 12-2-104-23-10.40.

Bowling—R. K. S. Fleming 82.4-12-261-17-15.35; A. S. Campbell 101.5-15-285-15-19.00; D. W. Hutton 108.3-12-337-14-24.07.

#### GLENALMOND

Played 13: Won 6, Lost 1, Drawn 6. Abandoned 2

Master i/c: A. J. N. James Cricket professional: W. J. Dennis

Batting-\*J. P. Brown 6-1-321-100\*-64.20; I. M. S. Wilson 11-1-269-80-26.90; B. Hastie 13-4-175-33-19.44; N. H. Brown 10-2-122-44-15.25; D. R. Oswald 14-1-178-55-13.69; W. G. Sutton 14-0-174-49-12.42; R. M. Jebb 12-3-103-35-11.44.

Bowling-J. C. Caldwell 46.3-12-122-12-10.16; I. M. S. Wilson 131.1-48-309-30-10.30; B. Hastie 132.3-32-348-21-16.57; M. W. J. Crow 110.3-15-326-19-17.15; R. M. Jebb 107.5-23-335-17-19.70.

# **GORDONSTOUN SCHOOL**

Played 11: Won 7, Lost 3, Drawn 1

Master i/c: C. J. Barton

Batting-S. Thompson 9-2-281-63-40.14; A. Alireza 10-0-192-43-19.20; T. Larkman 11-1-158-42-15.80

Bowling-P. Wivell 52-11-166-14-11.85; T. Larkman 103-30-260-14-18.57; H. Cliffe-Thomson 71–6–205–10–20.50.

#### GRENVILLE COLLEGE

Played 16: Won 6, Lost 9, Drawn 1

Master i/c: R. J. Davis

Batting-G. S. Dermody 15-1+375-65-26.78; T. B. Rex 6-0-142-47-23.66; \*V. A. Evans 10-1-191-58-21.22; D. J. Grigg 8-1-110-30-15.71; D. Puddepha 10-1-133-43-14.77.

Bowling-J. Dodd 27-2-137-11-12.45; V. A. Evans 40-0-177-12-14.75; C. P. Ely 66-3-283-19-14.89; S. Wait 88-10-312-17-18.35.

#### GRESHAM'S SCHOOL

Played 14: Won 5, Lost 3, Drawn 6. Abandoned 4

Master i/c: A. M. Ponder

Batting-T. Allison 13-2-449-130\*-40.81; H. E. M. Spence 12-2-356-73-35.60; \*S. Mussellwhite 14-1-302-59\*-23.23; D. J. Newton 9-2-128-34-18.28; I. D. Barnett 11-2-155-41-17.22.

Bowling-C. Jackson 125.2-39-289-25-11.56; N. J. Roper 118-31-295-22-13.40; T. Allison 74.1-15-228-13-17.53; I. D. Barnett 118-23-342-19-18.00.

# HABERDASHERS' ASKE'S SCHOOL, ELSTREE

Played 20: Won 11, Lost 0, Drawn 9

Master i/c: D. I. Yeabsley

Batting-D. I. Chippeck 20-6-602-120-43.00; \*A. V. Spencer 20-3-635-94-37.35; S. T. Arumugam 10-1-281-51\*-31.22; R. W. Thacker 9-3-119-34\*-19.83; B. V. Arumugam 15-5-194-43\*-19.40; B. B. Moore 16-3-179-41-13.76.

Bowling-D. A. Jordan 58-24-86-14-6.14; M. I. Yeabsley 127.2-29-380-30-12.66; D. G. Musgrave 215-60-498-29-17.17; D. B. Quinn 173.2-26-632-32-19.75; B. V. Arumugam 115.1-23-301-14-21.50. HIPPERHOLME GRAMMAR SCHOOL

# HAILEYBURY

Played 19: Won 9, Lost 2, Drawn 8. Abandoned 1

Master i/c: M. S. Seymour

Cricket professional: P. M. Ellis

Batting-\*D. C. L. Beynon 19-4-619-114\*-41.26; L. Conroy 5-1-155-65-38.75; M. C. Goodson 17-4-431-73\*-33.15; I. E. Simmons 16-1-330-96-22.00; J. B. Jouning 19-0-394-101-20.73; E. G. Stapley 15-5-206-59\*-20.60.

Bowling-D. C. L. Beynon 61-22-128-12-10.66; M. C. Goodson 323-100-541-45-12.02; E. G. Stapley 82-20-220-16-13.75; E. G. Erith 253-60-668-37-18.05; G. A. Ritchie 69–18–185–10–18.50.

#### HAMPTON SCHOOL

Played 17: Won 10, Lost 1, Drawn 6. Abandoned 2

Master i/c: G. R. Cocksworth

Batting-J. P. Diprose 13-1-484-111-40.33; C. R. Westaway 17-3-408-107\*-29.14; D. W. Rixon 15-0-415-89-27.66; A. J. Maclenan 9-2-180-53\*-25.71; \*A. J. B. Sales 16-1-319-51-21.26; A. A. J. Bingham 14-3-229-38\*-20.81; S. A. H. Cochrane 11-3-129-36-16.12.

Bowling-R. A. F. Hall 180-20-459-37-12.40; S. J. Patel 226-25-626-47-13.31; S. A. H. Cochrane 133-20-345-24-14.37; J. G. J. Alexander 106-18-262-18-14.55; A. J. Maclenan 97-12-410-21-19.52.

# ASSESSED A 100 PL OC ARE CE HARROW SCHOOL WOLD FOR Birther M. South and

Creamy 15-5 List 64"-40 72" A Cloke 10 1-485-63"-26.42; C. Jornyn 15-2-198

Played 17: Won 5, Lost 4, Drawn 8

Master i/c: W. Snowden

Cricket professional: P. Davis

Batting-\*C. Keey 18-2-703-119-43.93; J. K. Bourne 18-4-460-101-32.85; C. Raper 16-6-299-44-29.90; M. Boralessa 14-1-383-76-29.46; C. A. Abraham 14-6-233-59-29.12; M. B. T. de Souza-Girao 17-0-263-40-15.47.

Bowling-C. Raper 196-49-335-29-11.55; J. E. Oppenheimer 181-27-406-29-14.00; R. D. Nelson 123-29-260-17-15.29; G. R. C. Bucknall 79-14-266-17-15.64; J. A. R. Hill 276-48-534-24-22.25.

# HEREFORD CATHEDRAL SCHOOL

Played 15: Won 5, Lost 0, Drawn 9, Tied 1

Master i/c: A. H. Connop

Batting-\*N. Denny 14-6-481-76\*-60.12; G. Powell 12-1-364-61-33.09; R. Binnersley 11-2-267-73-29.66; A. Mills 14-1-294-56\*-22.61; S. Price 11-5-120-26\*-20.00; A. Glinos 8-2-114-36-19.00; R. King 13-1-169-43-14.08.

Bowling-S. Price 84-23-216-16-13.50; G. Powell 148-39-435-29-15.00; M. Previté 59.5-6-261-16-16.31; S. Partridge 141.5-36-462-22-21.00.

# HIGHGATE SCHOOL

Played 15: Won 4, Lost 5, Drawn 6. Abandoned 2

Master i/c: C. J. Davies

Cricket professional: R. E. Jones

Batting-\*D. N. Amato 15-2-451-72\*-34.69; E. A. Wass 13-0-326-90-25.07; F. E. J. Wawn 15-3-205-42-17.08; J. R. L. Reed 9-1-130-49-16.25; D. E. Luka 12-1-168-28\*-15.27.

Bowling-J. E. Stoecker 109-21-290-20-14.50; R. N. A. Davenport 191-48-548-37-14.81; D. N. Amato 260.2-68-652-40-16.30.

# HIPPERHOLME GRAMMAR SCHOOL

Played 10: Won 1, Lost 8, Drawn 1. Abandoned 3

Master i/c: I. Hugill

Batting-L. Senior 9-4-161-82\*-32.20; \*J. F. Holt 7-1-111-31-18.50; J. Hemingway 9-0-129-38-14.33; R. Sandford 8-0-101-48-12.62.

Bowling-J. F. Holt 106-28-261-23-11.34; D. Revill 27-1-121-10-12.10; J. Hemingway 93.1-13-286-19-15.05.

### **HURSTPIERPOINT COLLEGE**

Played 15: Won 5, Lost 4, Drawn 6

Master i/c: M. E. Allbrook

Cricket professional: D. J. Semmence

Batting-M. J. Hastwell 14-3-594-114\*-54.00; W. J. Pike 17-4-370-86\*-28.46; P. N. Juniper 15-1-341-90-24.35; D. P. B. McGovern 13-0-228-62-17.53; E. W. Welch 13-0-219-46-16.84; H. I. Cordan 10-3-115-34\*-16.42.

Bowling-S. C. Twine 145.4-47-378-28-13.50; H. I. Cordan 107-29-293-17-17.23; M. J. Hastwell 114.4-32-324-17-19.05; C. D. J. Humphries 80.2-9-376-11-34.18.

# **IPSWICH SCHOOL**

Played 16: Won 11, Lost 1, Drawn 4

Master i/c: P. M. Rees

Cricket professional: R. E. East

Batting-N. Shahid 16-5-937-180\*-85.18; A. Douglas 15-4-464-117\*-42.18; \*N. J. Gregory 16-5-448-64\*-40.72; A. Cloke 10-3-185-63\*-26.42; C. Jermyn 11-2-198-80-22.00.

Bowling-N. Shahid 350-107-703-67-10.49; C. Mallam 138-32-394-20-19.70; J. Ledden 175.3-35-528-19-27.78; J. Paul 112-20-349-10-34.90.

# **KELLY COLLEGE**

Played 14: Won 5, Lost 3, Drawn 6. Abandoned 3

Master i/c: G. C. L. Cooper Cricket professional: N. Wonnacott

Batting—\*A. Adebayo 12-2-498-106-49.80; J. R. Wigley 14-3-255-61\*-23.18; S. J. Goaman 9-1-181-41-22.62; J. N. Edwards 8-3-107-38-21.40; K. R. Burgess 12-1-183-57-16.63.

Bowling-R. I. Loraine 67-14-212-13-16.30; A. Adebayo 108-21-306-18-17.00; L. R. Shapcott 91.1-20-291-17-17.11; D. B. Broughton 85-23-279-12-23.25; K. R. Burgess 62-13-247-10-24.70.

# KENT COLLEGE

edward I. S. denotes from Played 12: Won 6, Lost 1, Drawn 5

Master i/c: G. D. Opie

Batting-S. Warley 12-2-454-95\*-45.40; D. Moon 7-2-158-53-31.60; G. Jenkins 12-1-266-99-24.18; \*J. Barker 11-1-237-94-23.70; K. Bullen 8-2-142-54\*-23.66; J. Hooker 11-2-203-54-22.55; J. Venton 9-1-117-36-14.62.

Bowling-G. Jenkins 106.4-18-311-20-15.55; R. Grove 105-26-290-17-17.05; E. McCabe 74-9-275-16-17.18.

### KIMBOLTON SCHOOL

Played 13: Won 3, Lost 4, Drawn 6. Abandoned 6

Master i/c: T. J. Williams

Batting-\*A. W. T. Ramply 13-0-388-81-29.84; R. J. T. Ramply 13-2-281-53\*-25.54; S. D. Godden 12-0-240-59-20.00; A. D. Moffat 10-2-127-35\*-15.87.

Bowling-I. R. A. Prideaux 130.2-37-271-17-15.94; S. D. Godden 122.5-34-294-18-16.33; G. S. Littlewood 47.3-10-187-11-17.00; A. W. T. Ramply 113.3-27-322-17-18.94; R. J. T. Ramply 92-22-238-11-21.63.

# KING EDWARD VI COLLEGE, STOURBRIDGE

Played 13: Won 4, Lost 3, Drawn 6. Abandoned 5

Master i/c: M. L. Rvan

Batting-\*G. R. Haynes 6-2-325-155\*-81.25; S. Mees 12-1-370-93-33.63; J. I. Hill 7-3-117-46-29.25; R. C. K. Simmonds 8-2-143-36-23.83; J. M. Davies 9-3-138-56\*-23.00; G. O'Hanlon 11-2-149-50-16.55; A. D. Hadley 11-2-133-29-14.77.

Bowling-G. R. Haynes 58-17-99-15-6.60; A. J. R. Hingley 66-15-170-13-13.07; J. I. Hill 145-44-355-24-14.79; A. D. Hadley 93.5-21-254-16-15.87.

# KING EDWARD VI SCHOOL, SOUTHAMPTON

Played 24: Won 11, Lost 5, Drawn 8. Abandoned 1

Master i/c: R. J. Putt

Batting-P. D. Chrispin 21-3-712-112\*-39.55; J. D. Stanley 22-0-709-123-32.22; J. A. Heywood 15-2-356-84\*-27.38; A. S. Wright 18-4-295-70\*-21.07; J. A. Shepherd 21-3-369-55\*-20.50; R. P. Knights 9-2-133-33\*-19.00; C. B. Blishen 19-2-242-63\*-14.23.

Bowling-P. D. Chrispin 207-48-533-48-11.10; P. R. Cook 73-17-236-19-12.42; M. L. Tidby 154-24-538-31-17.35; B. Quantrill 74-21-260-14-18.57; R. M. Salter 61-9-256-10-25.60.

# KING EDWARD VII SCHOOL, LYTHAM

Played 18: Won 2, Lost 5, Drawn 11

Master i/c: S. T. Godfrey

Batting-E. J. McKnight 13-1-412-83\*-34.33; G. A. Roberts 18-3-496-62\*-33.06; \*J. A. Greenslade 17-2-420-108\*-28.00; R. W. Grime 10-2-129-30-16.12; P. J. MacAuley 12-2-152-25-15.20; C. D. Thompson 17-2-164-32-10.93; P. D. Shipston 13-2-114-26\*-10.36.

887

Bowling—P. C. Beverley 116.4-30-327-21-15.57; P. D. Shipston 135-24-473-17-27.82.

# KING EDWARD'S SCHOOL, BIRMINGHAM

Played 16: Won 4, Lost 1, Drawn 11. Abandoned 6

Master i/c: M. D. Stead Cricket professional: P. J. Knowles

Batting—\*P. N. J. Inglis 14-1-598-116-46.00; A. P. Hitchins 15-2-428-95-32.92; M. M. Dean 13-3-264-65\*-26.40; J. B. Pritchard 13-0-307-66-23.61; M. J. Goodall 12-4-187-57\*-23.37.

Bowling-M. J. Goodall 174.5-51-505-30-16.83; M. M. Dean 181.4-54-485-28-17.32; J. B. Pritchard 69.1-8-255-11-23.18; J. P. Coates 171-23-641-22-29.13.

### KING HENRY VIII SCHOOL, COVENTRY

Played 15: Won 8, Lost 3, Drawn 4. Abandoned 1

Master i/c: G. P. C. Courtois

Batting-R. J. Field 15-5-366-50\*-36.60; K. P. Street 15-2-418-100\*-32.15; P. H. Harrison 14-4-315-68\*-31.50; M. D. Scott 12-4-127-34\*-15.87; G. Gascoyne 15-0-231-35-15.40.

Bowling-J. N. Plevin 196.3-68-360-42-8.57; M. D. Scott 89-14-280-15-18.66; P. J. Cobb 127-22-361-17-21.23; J. P. Pearson 92.1-20-287-12-23.91.

### KING WILLIAM'S COLLEGE, ISLE OF MAN

Played 11: Won 4, Lost 4, Drawn 3. Abandoned 2

Master i/c: T. M. Manning

Cricket professional: D. Mark

Batting—M. L. Craine 11-1-369-72\*-36.90; \*A. P. Woodward 11-1-357-91-35.70; C. J. McGowan 7-1-110-36-18.33; G. A. R. Grenville-Wood 9-1-146-34-18.25; R. S. McAleer 10-1-125-40-13.88.

Bowling-A. P. Woodward 207.4-39-608-43-14.13; G. A. R. Grenville-Wood 82.3-18-326-15-21.73.

# KING'S COLLEGE, TAUNTON

Played 14: Won 3, Lost 4, Drawn 7

Master i/c: R. J. R. Yeates

Cricket professional: R. E. Marshall

Batting-\*N. K. L. Coulson 13-1-577-117-48.08; G. P. Singh 10-0-296-78-29.60; M. F. D. Robinson 13-2-268-52-24.36; W. J. K. Greswell 13-3-187-40-18.70; G. E. D. Davies 13-0-207-46-15.92; A. D. Bagshaw 12-1-165-68-15.00; P. N. Miller 13-0-194-50-14.92.

Bowling-N. K. L. Coulson 213.2-45-554-30-18.46; A. F. Lacy-Smith 58.5-6-256-13-19.69; D. J. G. Dowsett 181-34-530-26-20.38.

# KING'S COLLEGE SCHOOL, WIMBLEDON

Played 14: Won 3, Lost 5, Drawn 6

Master i/c: A. G. P. Lang

Cricket professional: L. J. Moody

Batting-J. Parrish 14-5-314-73\*-34.88; D. W. Talbot 11-1-278-92\*-27.80; \*J. Q. Cooper 11-0-215-38-19.54; N. Ash 13-4-154-52\*-17.11; B. J. D. Cook 11-1-142-51-14.20; R. J. Nightingale 10-1-102-32-11.33.

Bowling-F. Hasan 78.5-22-218-15-14.53; D. W. Talbot 194.4-57-520-29-17.93; N. J. Stafford 90.5-23-262-14-18.71; T. A. Preston 137.3-34-452-20-22.60; J. Q. Cooper 141.1-40-444-13-34.15.

# KING'S SCHOOL, BRUTON

Played 13: Won 6, Lost 3, Drawn 4. Abandoned 1

Master i/c: D. C. Elstone

Batting-N. Allison 9-1-235-69-29.37; C. Squire 14-2-340-81-28.33; R. Ashfield 11-3-189-39-23.62; T. Mornement 13-3-223-79-22.30; \*J. Petrie 13-1-246-66-20.50; A. Lewis 10-1-132-63\*-14.66; J. Holland 13-0-175-33-13.46.

Bowling-J. Petrie 89.3-16-292-20-14.60; R. Ashfield 55.4-7-203-13-15.61; N. Gammon 151.1-22-426-24-17.75.

### THE KING'S SCHOOL, CANTERBURY

Played 14: Won 4, Lost 1, Drawn 9. Abandoned 1

Master i/c: A. W. Dyer

Cricket professional: D. V. P. Wright

Batting-N. V. Daley 14-2-542-145\*-45.16; M. G. le Huray 14-4-407-89-40.70; \*S. R. Turner 13-1-442-79-36.83; M. I. Holden 11-5-145-54\*-24.16; J. R. Davies 13-2-243-50-22.09; A. J. H. Brown 13-1-238-50-19.83.

Bowling-J. R. Davies 231-61-561-48-11.68; T. A. F. Epps 86-21-237-19-12.47; T. J. Ward 152.3-40-430-20-21.50.

# THE KING'S SCHOOL, CHESTER

Played 17: Won 6, Lost 1, Drawn 10. Abandoned 7

Master i/c: K. H. Mellor

Batting-G. W. Jones 13-1-573-88-47.75; A. R. H. Mais 17-5-401-65-33.41; J. A. Sowerby 13-3-276-56\*-27.60; \*C. P. Goodier 15-5-267-83\*-26.70; J. Casey 14-1-336-67-25.84.

Bowling-C. P. Goodier 210.4-51-555-43-12.90; S. Williams 147-43-373-28-13.32; J. Casev 82-11-267-16-16.68; I. D. Kamaly-Asl 76-15-241-10-24.10.

#### THE KING'S SCHOOL, ELY

Played 16: Won 8, Lost 2, Drawn 6. Abandoned 1

Master i/c: R. M. Parsons Cricket professional: T. Morley

Batting-R. J. Claxton 14-4-473-84-47.30; \*T. D. Gallop 12-2-429-101-42.90; B. Bowens 14-3-235-49-21.36; M. C. Doggett 15-3-242-57-20.16.

Bowling-J. S. Wheeler 147-48-365-30-12.16; D. Hindle 204-50-623-44-14.15; R. J. Claxton 166-27-548-31-17.67.

# THE KING'S SCHOOL, MACCLESFIELD

Played 19: Won 9, Lost 6, Drawn 4. Abandoned 3

Master i/c: D. M. Harbord

Batting-\*S. R. Swindells 19-5-552-90-39.42; A. Jerman 13-2-276-78-25.09; D. Jenkins 19-1-388-93-21.55; A. Wilson 18-2-323-67-20.18; M. R. Palmer 8-0-106-42-13.25; P. Hammond 11-1-122-25\*-12.20; S. J. White 13-3-117-26-11.70.

Bowling-S. J. White 266-85-641-54-11.87; A. Jerman 99-23-215-16-13.43; M. R. Palmer 185-40-518-27-19.18; P. Hammond 170-25-521-26-20.03.

#### KING'S SCHOOL, ROCHESTER

Played 18: Won 2, Lost 3, Drawn 13. Abandoned 1

Master i/c: J. S. Irvine

Batting—M. J. Walker 16–1–818–124–54.53; N. D. Twiddy 18–1–551–95–32.41; J. J. Hogben 14–1–306–67–23.53; R. B. Lister 14–3–162–55–14.72; A. C. Mackenzie 16–4–114–21\*–9.50; \*I. J. Nightingale 15–2–122–48–9.38.

Bowling—I. J. Nightingale 326–75–814–58–14.03; N. D. Twiddy 116–20–296–21–14.09; J. A. Beslee 100–18–270–17–15.88; M. G. Tutton 99.5–15–351–17–20.64; M. J. Walker 98.5–13–295–12–24.58.

#### THE KING'S SCHOOL, WORCESTER

Played 17: Won 2, Lost 6, Drawn 8, Tied 1

Master i/c: D. P. Iddon

Batting—D. A. W. Hughes 18-0-465-109-25.83; R. G. Tomlinson 18-0-316-37-17.55; A. W. Underwood 17-2-257-76\*-17.13; R. P. Dow 18-0-265-48-14.72; A. P. Thompson 18-4-193-35-13.78; A. A. Robinson 16-2-141-36-10.07; R. E. Bishop 15-1-100-28-7.14.

Bowling—A. T. Crabbe 58-9-179-11-16.27; D. A. W. Hughes 154.5-23-597-29-20.58; J. M. Malins 108.2-8-462-20-23.10; M. J. Jelfs 89-13-330-13-25.38.

#### KINGSTON GRAMMAR SCHOOL

Played 17: Won 2, Lost 11, Drawn 4. Abandoned 2

Master i/c: R. J. Sturgeon

Batting—J. Snelling 17–1–268–51–16.75; E. S. Gratton 15–1–226–79\*–16.14; R. A. Chandler 16–1–241–85\*–16.06; R. A. Iley 13–0–157–29–12.07; M. Avoth 17–0–196–36–11.52; \*R. J. Paler 17–0–186–91–10.94; M. E. Bendel 14–1–139–28–10.69; S. J. Sherman 13–1–107–25–8.91.

Bowling—L. Chester 109.4–20–361–16–22.56; E. S. Gratton 140.2–22–503–20–25.15; S. J. Dowle 117.2–10–455–15–30.33; R. A. Chandler 106–5–520–17–30.58; M. E. Bendel 173.2–26–638–19–33.57.

#### KINGSWOOD SCHOOL

Played 12: Won 4, Lost 3, Drawn 5

Master i/c: R. J. Lewis

Batting—A. J. Sutherland 10-4-248-67\*-41.33; \*R. W. Lewis 11-2-318-83\*-35.33; J. H. Darby 10-3-206-75\*-29.42; P. E. Mills 11-0-290-66-26.36; H. R. Roper 11-0-267-49-24.27; R. M. Francis 9-0-199-44-22.11.

Bowling—R. W. Lewis 44.5-8-169-12-14.08; M. D. Beresford-Smith 101.5-23-316-19-16.63; D. J. Coleman 46.1-5-167-10-16.70; J. M. Thompson 95.1-16-373-19-19.63.

#### LANCING COLLEGE

Played 16: Won 10, Lost 1, Drawn 5. Abandoned 1

Master i/c: E. A. Evans-Jones Cricket professional: R. G. Davies

Batting—\*A. A. Gosden 10-6-374-71\*-93.50; C. D. A. R. Hand 4-2-117-40-58.50; J. A. Martin 13-5-312-80\*-39.00; A. K. Rimmer 15-6-324-84\*-36.00; P. M. Alcock 15-2-333-53-25.61; R. J. Cotton 15-1-351-55-25.07.

Bowling—A. S. Puddephatt 178.3–57–425–39–10.89; R. H. D. Spink 127–27–327–25–13.08; A. R. Hewitt 167–50–433–29–14.93; A. A. Gosden 93.2–24–289–18–16.05; B. W. Watson 91–13–320–11–29.09.

#### LEEDS GRAMMAR SCHOOL

Played 19: Won 7, Lost 3, Drawn 9. Abandoned 1

Master i/c: I. R. Briars

Batting—T. C. Walton 14-9-632-122\*-126.40; G. O. J. Hill 19-7-855-112\*-71.25; J. R. Goldthorp 17-3-792-139-56.57; J. D. Flint 14-1-327-57-25.15; R. G. Bourne 10-3-126-34-18.00; D. P. Hyde 9-2-110-52-15.71.

Bowling—T. C. Walton 220.2–50–589–41–14.36; G. O. J. Hill 86–16–233–16–14.56; J. M. Shaw 52.3–12–199–10–19.90; J. R. Goldthorp 167.4–25–572–27–21.18; A. J. Hodgson 148.2–42–432–20–21.60.

#### **LEIGHTON PARK SCHOOL**

Played 14: Won 0, Lost 4, Drawn 10. Abandoned 1

Master i/c: R. C. Boyd

Batting—\*J. Thomas 12-0-460-75-38.33; D. Park 6-0-178-88-29.66; J. Allen 13-0-181-29-13.92; I. Dhajoo 11-1-115-24\*-11.50.

Bowling—D. Park 39-8-155-10-15.50; P. Wall 92-14-224-11-20.36; J. Allen 117-16-406-13-31.23; I. Dhajoo 106-9-423-13-32.53.

#### THE LEYS SCHOOL

Played 15: Won 3, Lost 3, Drawn 9. Abandoned 3

Master i/c: P. R. Chamberlain

Cricket professional: D. Gibson

Batting—D. O. Solomon 14–1–529–124–40.69; \*C. W. Barker 14–0–441–107–31.50; P. R. Searle 15–3–378–74\*–31.50; C. R. D. Bullen 10–6–121–39–30.25; N. R. Lankester 14–0–392–79\*–28.00; J. S. Lewis 10–2–159–39–19.87; J. P. S. Tipple 9–0–148–38–16.44; D. D. Spencer 12–2–145–48\*–14.50.

Bowling-P. R. Searle 205.3-56-481-29-16.58; N. R. Lankester 169.4-18-532-26-20.46.

### LIVERPOOL COLLEGE

Played 11: Won 1, Lost 6, Drawn 4

Master i/c: Rev. J. R. Macauley

Batting—\*A. J. Pye 10–0–237–82–23.70; G. Locke 9–1–157–41\*–19.62; B. Owen 8–1–125–38–17.85; J. A. Harrington 11–1–167–39–16.70.

Bowling-J. A. Harrington 126-21-410-20-20.50; B. Owen 90-8-319-11-29.00.

#### **LLANDOVERY COLLEGE**

Played 12: Won 4, Lost 5, Drawn 3. Abandoned 4

Master i/c: T. G. Marks

Batting—D. M. I. Simcock 12-2-263-74-26.30; R. C. Jones 12-2-238-89\*-23.80; \*K. J. Whiskerd 10-2-137-39-17.12; S. W. Comley 9-3-101-37\*-16.83; D. W. Thompson-Smith 12-0-136-35-11.33.

Bowling—S. O. H. Thomas 79-5-415-23-18.04; M. J. A. B. Lewis 53-9-191-10-19.10; M. Patel 91-14-347-11-31.54.

# LORD WANDSWORTH COLLEGE

Played 15: Won 6, Lost 3, Drawn 6

Master i/c: G. R. Smith

Batting—M. J. Critchley 14-4-412-59\*-41.20; M. Culley 13-2-386-76-35.09 \*D. Carrington 13-1-365-64-30.41; E. J. Kearney 9-3-150-57-25.00; D. A. Berry 14-0-273-58-19.50.

Bowling—G. P. Hunter 110-24-333-17-19.58; D. L. C. Berry 93-16-302-14-21.57: D. A. Berry 134-11-598-27-22.14; D. J. Robinson 69-6-318-12-26.50; J. Bryce 73-12-386-14-27.57.

# LORD WILLIAMS'S SCHOOL, THAME

Played 12: Won 3, Lost 4, Drawn 5. Abandoned 2

Master i/c: A. M. Brannan

Batting-G. Stanbury 11-3-204-51-25.50; M. Bateman 11-2-210-35-23.33; M. Khan 12-2-194-60\*-19.40; \*T. Jordan 12-0-219-43-18.25; G. Morris 10-1-117-44-13.00; T. Fairn 12-2-122-27-12.20.

Bowling-M. Bateman 90.3-35-126-22-5.72; G. Stanbury 122.1-24-367-32-11.46; S. Blackwell 34.2-5-142-10-14.20; R. Stanley 78-16-203-11-18.45.

#### LORETTO SCHOOL

Played 17: Won 4, Lost 3, Drawn 10. Abandoned 1

Master i/c: R. G. Sellev

Batting-S. S. Hodgson 14-1-418-95-32.15; S. A. L. Rutherford 16-2-302-72\*-21.57; \*M. C. Eglinton 17-3-254-58-18.14.

Bowling-S. S. Hodgson 42-15-110-17-6.47; A. C. N. Smith 141-33-330-23-14.34; M. C. Eglinton 220-62-556-38-14.63; A. C. F. Mason 132-42-287-19-15.10; J. A. G. Grant 121-24-335-17-19.70.

# LOUGHBOROUGH GRAMMAR SCHOOL

Played 15: Won 7, Lost 1, Drawn 7. Abandoned 1

Master i/c: E. Thorpe

Batting-\*I. Bell 13-3-420-111\*-42.00; C. Jones 15-2-380-85-29.23; W. Dessaur 12-2-277-60\*-27.70; G. Leeson 14-1-248-44-19.07; S. Pickering 14-2-196-39\*-16.33.

Bowling—C. J. Hawkes 169-53-433-34-12.73; W. Dessaur 97.5-26-276-15-18.40; R. Fothergill 121-33-270-14-19.28; S. Pickering 113.4-23-333-16-20.81; C. Jones 142.3-28-462-22-21.00.

# MAGDALEN COLLEGE SCHOOL

Played 13: Won 3, Lost 3, Drawn 6, Tied 1. Abandoned 5

Master i/c: N. A. Rollings

Batting-\*J. A. Turner 12-3-343-100\*-38.11; M. B. Bixby 12-1-348-60\*-31.63; S. N. Webb 10-4-127-31\*-21.16; T. H. Boyles 12-0-232-48-19.33; J. C. Bobby 10-0-133-38-13.30; M. W. Suckling 11-0-133-39-12.09.

Bowling-D. Briggs 31-2-136-10-13.60; S. D. Stinchcombe 71-8-235-12-19.58; D. M. A. Andrews 55-5-198-10-19.80; J. A. Brady 110.4-27-288-13-22.15; S. N. Webb 178.3-39-589-25-23.56.

# MALVERN COLLEGE

Played 16: Won 4, Lost 6, Drawn 6. Abandoned 4

Master i/c: A. J. Murtagh

Cricket professional: R. W. Tolchard

Ratting-\*J. R. Wileman 15-4-783-133\*-71.18; I. K. Timberlake 4-1-125-60\*-41.66; B. C. Usher 16-3-482-100-37.07; T. W. B. Read 9-2-144-43\*-20.57; A. J. Hardwicke 12-1-175-68-15.90; A. C. Hiscock 14-0-195-28-13.92.

Rowling-J. R. Wileman 162.1-36-522-31-16.83; A. D. Noon 71.1-8-326-13-25.07; B. C. Usher 191-42-545-21-25.95; J. F. Phillips 114-16-405-12-33.75.

# MANCHESTER GRAMMAR SCHOOL

Played 16: Won 6, Lost 2, Drawn 8. Abandoned 1

Master i/c: D. Moss

Batting-J. P. Crawley 14-6-900-160\*-112.50; M. J. P. Ward 14-7-411-100\*-58.71; D. J. Worsley 12-2-408-124\*-40.80; D. N. Dada 7-0-188-75-26.85; S. E. Maggi 8-2-126-29-21.00; I. R. Cross 10-1-141-46-15.66.

Bowling—C. F. Sinton 173.5-30-518-32-16.18; M. C. Jones 124.3-37-273-16-17.06; \*R. B. Hennis 131.1-21-405-20-20.25; D. J. Worsley 136-35-364-16-22.75.

# MARLBOROUGH COLLEGE

Played 17: Won 4, Lost 0, Drawn 13

Master i/c: R. B. Pick Cricket professional: R. M. Ratcliffe

Batting-S. C. G. Thomson 15-3-498-96-41.50; G. W. Barker 17-5-492-77\*-41.00; \*J. S. Kerr 16-3-531-123\*-40.84; E. A. M. Longfield 10-7-122-33\*-40.66; T. C. Marcon 10-5-158-36\*-31.60; D. M. A. Bevan 12-0-336-88-28.00; M. A. Foulds 13-0-308-71-23.69; A. J. Robinson 17-2-348-54-23.20.

Bowling-D. M. A. Bevan 150-32-440-31-14.19; J. S. Kerr 129-22-415-22-18.86; J. J. Hey 108-28-278-12-23.16; G. F. J. Riding 102.3-23-360-13-27.69; E. A. M. Longfield 148-41-421-13-32.38; N. J. E. Cook 182-29-677-20-33.85.

# MERCHANT TAYLORS' SCHOOL, CROSBY

Played 15: Won 2, Lost 1, Drawn 12. Abandoned 3

Master i/c: Rev. D. A. Smith

Cricket professional: G. E. Trim

Batting-I. G. Sutcliffe 13-2-418-109-38.00; D. L. Clift 12-2-202-59-20.20; I. K. Wright 10-3-133-31\*-19.00; A. E. Antrobus 11-2-165-37-18.33; R. M. R. Williams 10-1-146-44-16.22; T. J. Ryan 13-2-177-54-16.09; G. S. Glynne-Jones 10-1-108-53\*-12.00.

Bowling-T. J. Ryan 95.5-15-360-21-17.14; I. K. Wright 125.4-31-368-20-18.40; S. R. McGee 138-32-408-16-25.50; I. G. Sutcliffe 134.4-24-424-14-30.28.

# MERCHANT TAYLORS' SCHOOL, NORTHWOOD

Played 23: Won 8, Lost 1, Drawn 14. Abandoned 1

Master i/c: W. M. B. Ritchie

Batting-A. J. Brand 22-6-867-140\*-54.18; K. J. Clifford 22-2-644-109\*-32.20; J. R. Harrison 20-3-426-93-25.05; J. L. Atkins 16-2-330-89-23.57; R. A. Hawkey 19-7-219-40\*-18.25; \*A. P. Solomons 16-2-184-35\*-13.14.

Bowling-A. T. S. Nicholson 56.5-21-100-14-7.14; R. A. Hawkey 287.1-62-966-52-18.57; A. J. Brand 308-94-728-35-20.80; S. W. Faulks 224.2-60-664-24-27.66; N. W. Bransdon 172.3-38-452-16-28.25.

# **MERCHISTON CASTLE SCHOOL**

Played 17: Won 9, Lost 4, Drawn 4

Master i/c: C. W. Swan

Cricket professional: I. Philip

Batting—D. M. Streek 18-1-639-242-37.58; P. W. R. Martin 16-2-369-57\*-26.35; A. J. K. Wilson 16-0-295-55-18.43; S. A. Hailstone 15-5-166-36\*-16.60; A. H. W. Boyle 16-2-220-65-15.71.

Bowling—S. J. Elworthy 120-46-257-32-8.03; S. D. L. Francis 201-64-450-34-13.23; D. M. Streek 181-43-474-32-14.81.

# MILLFIELD SCHOOL

Played 18: Won 6, Lost 1, Drawn 11

Master i/c: A. D. Curtis

Cricket professional: G. C. Wilson

Batting—G. W. White 2-1-123-84\*-123.00; D. L. Hemp 13-7-691-114\*-115.16; J. A. Brimacombe 6-4-165-63\*-82.50; I. Fletcher 15-4-668-113-60.72; R. I. Dawson 5-0-240-104-48.00; J. G. Humphrey 5-1-174-82-43.50; G. W. Hart 11-3-233-45-29.12; \*G. D. Lucas 10-4-163-43-27.16; J. C. Hallett 8-2-133-59\*-22.16.

Bowling—J. C. Hallett 143.1–37–337–26–12.96; G. W. White 55.4–11–195–13–15.00; S. D. Sutcliffe 65.2–11–222–12–18.50; J. R. Holliday 102–28–280–15–18.66; J. M. Box 178.5–44–508–23–22.08; N. F. Gibbs 136.2–34–457–16–28.56.

#### MILL HILL SCHOOL

Played 14: Won 1, Lost 8, Drawn 5. Abandoned 1

Master i/c: R. J. Denning

Cricket professional: G. A. R. Lock

Batting—A. B. Dell 13–1–439–78–36.58; A. J. McKelvie 7–2–114–43–22.80; M. R. Jacobson 9–3–116–49\*–19.33; J. H. Bohn 14–0–226–54–16.14; C. B. Forde 12–1–172–52–15.63; \*P. Achan 14–0–215–74–15.35; N. C. Propper 14–2–180–59–15.00.

Bowling—J. Handforth 75–19–166–11–15.09; G. E. S. Brock 123–23–396–20–19.80; C. B. Forde 143–33–397–20–19.85; P. Achan 73–15–235–10–23.50; E. M. Latter 157–31–534–21–25.42.

# **MILTON ABBEY SCHOOL**

Played 13: Won 6, Lost 4, Drawn 3

Master i/c: P. W. Wood

Batting—J. F. A. Baring 11–3–357–55–44.62; \*S. J. E. Courage 13–1–454–121–37.83; R. S. Padmore 12–2–376–121\*–37.60; A. J. Butler 10–5–157–35\*–31.40; C. P. Cook 12–2–207–67–20.70.

Bowling—H. E. Panter 105.2-34-300-30-10.00; R. G. Curran 101.1-27-274-21-13.04; H. G. H. Groves 138.1-37-432-28-15.42; M. C. Freegard 114-17-339-19-17.84.

# **MONKTON COMBE SCHOOL**

Played 12: Won 7, Lost 1, Drawn 4

Master i/c: P. C. Sibley

Cricket professional: N. D. Botton

Batting—R. S. Deacock 11–1–399–88–39.90; R. J. Payne 10–0–368–77–36.80; \*M. P. Davis 9–1–261–76–32.62; T. Simmons 11–3–196–41–24.50; R. A. Johns 9–1–168–60–21.00; M. J. Wheeldon 8–2–111–50–18.50.

Bowling—S. J. Kandavanam 86–20–228–17–13.41; N. F. Robb 184.3–38–504–36–14.00; S. J. Waters 34–4–169–10–16.90; W. B. Taylar 60.4–6–276–16–17.25.

# NEWCASTLE-UNDER-LYME SCHOOL

Played 14: Won 5, Lost 5, Drawn 4. Abandoned 2

Master i/c: R. K. Martindale

Batting—M. H. Colclough 11-2-257-45\*-28.55; D. J. Brock 10-1-202-72-22.44; \*R. W. Johnson 11-0-216-47-19.63; N. R. Hood 10-1-174-55-19.33; J. C. Mayo 13-0-240-57-18.46; J. N. Snape 12-1-147-23-13.36; J. I. Sheridan 12-1-140-24-12.72; J. N. Britton 12-2-126-38\*-12.60.

Bowling—D. J. Brock 127–28–297–27–14.70; M. H. Colclough 75.5–20–251–14–17.92; R. G. Mawby 92–22–291–15–19.40; M. Pate 89.3–12–318–16–19.87.

### **NORWICH SCHOOL**

Played 18: Won 3, Lost 5, Drawn 10

Master i/c: P. M. Evans

Batting—A. J. Rushmer 13-5-252-58\*-31.50; R. F. Blackburn 17-0-338-101-19.88; A. J. R. Williamson 17-1-305-78-19.06; S. E. Jessup 17-3-240-43-17.14; S. M. Hall 13-4-137-42-15.22; N. A. Colman 11-1-138-41\*-13.80; W. P. Hems 11-0-104-27-9.45.

Bowling—N. R. Temperley 180–38–485–32–15.15; A. J. R. Williamson 70–6–268–14–19.14; A. J. Rushmer 92–12–328–13–25.23; P. B. Allen 157.1–40–425–15–28.33.

# **NOTTINGHAM HIGH SCHOOL**

Played 18: Won 5, Lost 7, Drawn 6. Abandoned 2

Master i/c: P. G. Morris

Cricket professional: H. Latchman

Batting—\*N. A. Hunt 19-4-1,108-144-73.86; S. A. O'Brien 18-3-365-72-24.33; M. J. Bonsall 8-3-111-51\*-22.20; T. R. Leman 18-0-275-54-15.27; R. I. Howarth 11-2-131-26\*-14.55; N. P. Carr 14-1-166-67-12.76.

Bowling—J. Kennedy 115.1-24-317-20-15.85; R. I. Howarth 179.1-35-567-31-18.29; R. W. Dixon 81.4-16-248-13-19.07; T. R. Leman 137.4-31-411-21-19.57; S. A. O'Brien 109.5-15-349-17-20.52; A. S. Chisholm 151-43-433-14-30.92.

# THE ORATORY SCHOOL

Played 13: Won 9, Lost 0, Drawn 4. Abandoned 3

Master i/c: P. L. Tomlinson

Batting—\*P. J. Coverdale 10-4-321-76\*-53.50; J. Clarke 5-1-179-84\*-44.75; D. J. Sillence 8-1-247-63-35.28; C. Chaundler 3-0-102-45-34.00; J. N. Wallis 12-0-248-57-20.66; M. Sillence 8-2-112-48-18.66; S. R. Wright 9-2-112-28\*-16.00; R. D. Unwin 12-0-153-46-12.75; K. O'Flynn 10-0-111-43-11.10.

Bowling—S. R. Wright 167–48–363–42–8.64; J. N. Wallis 40–10–146–15–9.73; B. G. Welsh 35–8–110–11–10.00; M. Sillence 43–4–170–15–11.33; R. D. Unwin 122.3–29–336–25–13.44.

#### **OUNDLE SCHOOL**

Played 19: Won 8, Lost 4, Drawn 7. Abandoned 3

Master i/c: V. G. B. Cushing

Cricket professional: T. Howorth

Batting—J. McAlpine 16-4-435-74-36.25; R. Sharp 14-2-332-84-27.66; \*R. Jenkins 16-3-346-63-26.61; A. Chadwick 18-3-373-65-24.86; J. Arnold 15-4-236-43-21.45; T. Allerton 8-2-124-25-20.66; N. Williamson 15-4-213-35-19.36; T. Harrison 19-0-353-45-18.57; G. Spragg 8-0-105-28-13.12; W. Cartledge 13-3-111-20-11.10.

Bowling—S. Smale 139–47–422–25–16.88; R. Jenkins 309–64–943–52–18.13; J. Arnold 93–12–350–15–23.33; J. McAlpine 304–59–891–38–23.44.

### OAKHAM SCHOOL

Played 15: Won 3, Lost 2, Drawn 10. Abandoned 5

Master i/c: J. Wills

Batting—U. Malhotra 14–1–524–97\*–40.30; A. Pike 14–1–324–68–24.92; \*S. Gilliver 13–1–243–50–20.25; C. Howard 13–3–163–44–16.30; D. Ross 13–1–181–41–15.08; N. Kingham 13–2–105–28–9.54.

Bowling—I. Forsyth 192-61-451-28-16.10; D. Ross 154.3-42-420-24-17.50; J. Boughey 145.4-26-475-22-21.59.

#### THE PERSE SCHOOL

Played 17: Won 3, Lost 4, Drawn 10.

Master i/c: A. W. Billinghurst

Cricket professional: D. C. Collard

Batting—B. J. G. Edgar 12–3–294–60\*–32.66; \*N. M. Law 14–2–369–100\*–30.75; R. J. Doel 16–0–462–78–28.87; D. L. Young 14–4–216–46–21.60; P. J. Doel 14–0–249–56–17.78; J. G. S. Agar 14–0–201–47–14.35; W. R. T. Chalk 12–1–129–45–11.72.

Bowling—D. L. Young 208.4–37–582–35–16.62; N. M. Law 106.4–16–302–17–17.76; R. M. C. Scott 153.5–41–388–18–21.55; J. A. Standley 100–25–300–13–23.07.

#### PLYMOUTH COLLEGE

Played 21: Won 10, Lost 1, Drawn 10

Master i/c: T. J. Stevens

Batting—R. Colegate 17–6–714–83–64.90; S. Summers 19–3–672–107–42.00; A. Kerr 18–6–442–102\*–36.83; P. Stewart 14–4–274–63\*–27.40; R. Barker 20–4–365–67–22.81; M. Ellyatt 13–5–124–35–15.50; C. Vinson 13–3–129–40–12.90.

Bowling—S. Nicholson 106–30–346–28–12.35; C. Vinson 193–48–519–37–14.02; S. Howell 120.3–24–395–20–19.75; S. Macartney 104.5–14–419–21–19.95; \*B. Fox 113–18–529–23–23.00.

#### POCKLINGTON SCHOOL

Played 21: Won 13, Lost 3, Drawn 4, Tied 1. Abandoned 2

Master i/c: D. Nuttall

Batting—A. T. Pettinger 22–4–768–114–42.66; M. J. Wood 21–3–638–111–35.44; A. J. Inns 20–3–577–59–33.94; R. S. Hunter 14–3–250–51\*–22.72; J. D. Burnet 11–3–103–25–12.87; \*R. M. Ineson 17–4–166–45–12.76; C. M. Haynes 16–1–159–27–10.60.

Bowling—M. J. Wood 245.5-61-680-51-13.33; R. S. Hunter 198.2-59-491-35-14.02; R. J. Cox 216.5-52-493-33-14.93; S. K. Wilson 119-38-294-19-15.47; J. A. Webster 136.2-19-539-24-22.45.

#### PRIOR PARK COLLEGE

Played 14: Won 3, Lost 5, Drawn 6. Abandoned 3

Master i/c: P. B. Fisher

Cricket professional: E. Russell

Batting—M. Woodhouse 14–0–631–116–45.07; G. Lee 13–3–339–53\*–33.90; M. Polledri 12–2–229–94\*–22.90; G. Adekoya 10–0–145–42–14.50; A. McKeon 10–0–116–34–11.60.

Bowling—G. Lee 153-25-480-27-17.77; \*J. Powell 135-39-369-20-18.45; M. Woodhouse 53-10-194-10-19.40.

# QUEEN ELIZABETH GRAMMAR SCHOOL, WAKEFIELD

Played 14: Won 5, Lost 4, Drawn 5. Abandoned 2

Master i/c: T. Barker

Batting—S. Bailey 7-1-145-74-24.16; \*P. Maynard 12-3-178-37\*-19.77; P. Dickinson 14-0-268-52-19.14; G. Littlewood 12-1-184-37-16.72; H. Gledhill 9-1-118-34\*-14.75; G. Hunt 11-1-108-34-10.80.

Bowling—R. Bramley 76–19–198–13–15.23; S. Bailey 66–18–172–11–15.63; J. Smith 64-10-217-10-21.70; R. Bhagobati 102-15-365-15-24.33; G. Millman 100-17-320-11-29.09.

# QUEEN'S COLLEGE, TAUNTON

Played 15: Won 4, Lost 1, Drawn 10

Master i/c: J. W. Davies

Batting—\*B. C. Wixey 11–1–355–80–35.50; M. E. Gibson 11–1–246–56–24.60; K. Griffith 11–5–144–52–24.00; C. Amor 6–1–110–37–22.00; M. Knight 10–0–195–73–19.50; S. Burt 11–0–179–59–16.27.

Bowling—B. C. Wixey 91-19-263-23-11.43; S. Mirghavamedin 80-16-286-17-16.82; C. Amor 83-26-188-10-18.80; M. E. Irish 104-25-302-13-23.23; N. Jenner 91-22-301-11-27.36.

### RADLEY COLLEGE

Played 14: Won 6, Lost 1, Drawn 7. Abandoned 1

Master i/c: G. de W. Waller Cricket professionals: A. G. Robinson and A. R. Wagner

Batting—\*M. J. Lowrey 15–2–686–144–52.76; H. C. L. Sinclair 4–1–136–65–45.33; R. J. A. Wates 9–6–109–53\*–36.33; B. R. A. Lamb 14–5–206–68–22.88; J. T. M. Samuda 15–1–320–62–22.85; R. A. Jardine-Brown 13–1–252–67–21.00; R. G. Fuller 14–0–237–81–16.92; R. B. Waller 10–2–120–44\*–15.00.

Bowling—J. R. Pearce-Smith 114–28–253–17–14.88; G. D. L. Powell 260–107–515–33–15.60; M. J. Lowrey 181–48–443–23–19.26; R. B. Waller 147–44–376–19–19.78.

# RATCLIFFE COLLEGE

Played 14: Won 3, Lost 8, Drawn 3. Abandoned 1

Master i/c: R. M. Hughes

Batting—\*R. J. Adcock 13–2–320–104–29.09; M. Meredith 14–1–209–39–16.07; M. Hilton 14–2–118–22–9.83.

Bowling-R. J. Adcock 105.2-25-323-22-14.68; J. Astill 107.4-26-350-12-29.16.

# READING SCHOOL

Played 13: Won 5, Lost 2, Drawn 6. Abandoned 3

Master i/c: R. G. Owen

Cricket professional: A. Dindar

Batting—O. D. Beckett 12-6-533-119\*-88.83; T. J. C. Dance 12-3-459-111-51.00; \*I. C. Orpwood 13-3-243-58-24.30; J. M. Cole 8-0-139-66-17.37; G. J. Orpwood 9-0-155-31-17.22.

Bowling—T. J. C. Dance 127-26-346-30-11.53; B. D. Hall 144-29-457-21-21.76.

# REED'S SCHOOL

Played 16: Won 5, Lost 4, Drawn 7

Master i/c: G. R. Martin

Batting—S. M. Shiells 16-2-355-100\*-25.35; J. R. Ovenden 13-3-246-54\*-24.60 \*O. W. Pendered 15-2-238-49-18.30; J. R. Dharmasena 14-2-217-34-18.08; J. A. Lyne 14-2-214-86-17.83; A. R. W. Balls 14-2-198-50-16.50.

Bowling-J. R. Dharmasena 237.4-69-627-42-14.92; J. R. Ovenden 143.1-31-487-27-18.03; S. M. Shiells 100.5-20-425-19-22.36.

# **REIGATE GRAMMAR SCHOOL**

Played 23: Won 8, Lost 3, Drawn 12. Abandoned 2

Master i/c: D. C. R. Jones Cricket professional: H. Newton

Batting-\*C. S. Bates 18-4-551-79\*-39.35; J. R. Chapman 6-2-142-56-35.50; J. P. Jackson 23-2-658-92-31.33; M. M. G. Wright 21-0-547-90-26.04; P. A. Radford 21-3-429-75-23.83; J. S. Hudson 15-0-326-100-21.73; D. M. Gregory 23-4-398-64-20.94; G. J. Lawson 13-5-158-39\*-19.75.

Bowling-D. F. Rowlinson 279.3-56-791-49-16.14; M. P. Lander 198.5-41-563-32-17.59; D. N. Abbott 199.2-41-541-28-19.32; D. M. Gregory 268.1-69-775-40-19.37; G. J. Lawson 84.5-17-305-15-20.33.

#### RENDCOMB COLLEGE

Played 12: Won 6, Lost 1, Drawn 5. Abandoned 1

Master i/c: P. Sykes Cricket professional: D. Essenhigh

Batting-W. Sherwood 11-5-253-49-42.16; J. Carroll 12-3-301-50\*-33.44; R. Tate 7-2-121-48\*-24.20; \*J. Fellows 13-1-286-64-23.83; K. Holmes 9-4-102-26-20.40.

Bowling-A. Jones 109-24-309-33-9.36; H. Le Fleming 43.4-12-152-15-10.13; C. Bannister 83.4-21-240-17-14.11; N. Suffolk 85.1-19-267-16-16.68; C. Huck 99-18-285-14-20.35.

#### REPTON SCHOOL

Played 16: Won 5, Lost 2, Drawn 9. Abandoned 2

Master i/c: M. Stones

Cricket professional: M. K. Kettle

Batting-R. F. Williamson 14-4-640-128\*-64.00; \*C. E. Wall 15-2-634-142\*-48.76; R. A. C. Jerman 10-2-256-100\*-32.00; R. N. Wall 12-3-273-89\*-30.33; A. E. Jordan 17-1-447-110\*-27.93; D. R. Hand 12-2-276-85\*-27.60; H. B. Dytham 7-2-118-54-23.60; M. J. Hunter 11-1-129-42-12.90.

Bowling-A. Schumann 62-16-197-12-16.41; D. R. Hand 129-32-437-20-21.85; N. Moxon 132-40-409-17-24.05; R. N. Wall 82-19-268-10-26.80; C. E. Wall 132-34-409-14-29.21.

#### **ROSSALL SCHOOL**

Played 17: Won 3, Lost 3, Drawn 11. Abandoned 1

Master i/c: R. J. Clapp

Batting-J. Elliott 16-3-442-78-34.00; \*D. M. Indo 18-1-518-71-30.47; T. J. Stephenson 14-2-313-63-26.08; W. E. Hayes 17-1-383-57-23.93; N. H. Crust 13-5-154-41\*-19.25; C. M. Cocker 17-2-167-59-11.13.

Bowling-J. M. G. Woods 51-10-180-10-18.00; S. D. Holmes 187-40-531-22-24.13; W. E. Hayes 194-41-645-24-26.87; N. H. Crust 108-17-385-13-29.61; T. J. Stephenson 88-12-325-10-32.50.

# ROYAL GRAMMAR SCHOOL, GUILDFORD

Played 17: Won 10, Lost 2, Drawn 5. Abandoned 2

Master i/c: S. B. R. Shore

Ratting—A. Stedman 13-2-405-61\*-36.81; A. P. Challinor 13-3-366-112\*-36.60; \*M. Gore 13-4-280-47-31.11; B. Ray 14-1-296-92-22.76; L. Jones 17-0-342-66-20.11; A. Job 10-2-135-28-16.87; D. Goodchild 11-3-123-35-15.37; N. Thomson 13-2-133-31-12.09.

Rowling-A. P. Challinor 166.1-46-399-46-8.67; M. Hoyle 69-19-174-13-13.38; A. Stedman 84.5-16-221-16-13.81; M. Gore 222.3-57-551-36-15.30; N. Thomson 166-36-399-25-15.96.

# **ROYAL GRAMMAR SCHOOL, NEWCASTLE**

Played 16: Won 7, Lost 2, Drawn 7. Abandoned 2

Master i/c: D. W. Smith

Cricket professional: J. N. Graham

Batting-\*S. W. Johnson 14-3-547-107-49.72; O. Youll 15-2-398-81\*-30.61; C. Barnes 12-4-218-67\*-27.25; M. Hackett 11-2-229-89\*-25.44; J. R. Barton 14-1-308-71\*-23.69; P. Venn 13-3-208-62\*-20.80; J. R. Tyson 8-2-108-23\*-18.00; A. Markham 10-2-111-29-13.87.

Bowling—A. Markham 73.5-22-185-15-12.33; C. Graham 155.3-38-363-29-12.51; M. Skinner 43-8-178-12-14.83; P. Venn 165.1-32-486-29-16.75; S. W. Johnson 135.2-32-345-20-17.25.

# **ROYAL GRAMMAR SCHOOL, WORCESTER**

Played 19: Won 11, Lost 1, Drawn 7. Abandoned 5

Master i/c: B. M. Rees

Cricket professional: M. J. Horton

Batting-M. J. Walker 19-5-681-109\*-48.64; M. J. N. Taylor 18-3-622-104\*-41.46; G. T. G. Burrow 19-0-604-83-31.78; \*J. S. Waters 13-4-168-58\*-18.66; P. C. Fearnley 17-3-236-60-16.85; D. W. Headley 11-4-117-32-16.71.

Bowling-D. W. Headley 191.5-57-461-46-10.02; J. S. Waters 230.5-73-519-37-14.02; S. D. C. Haynes 184-56-380-26-14.61; A. D. Baker 128-37-311-20-15.55.

### RUGBY SCHOOL

Played 14: Won 4, Lost 1, Drawn 9. Abandoned 3

Master i/c: K. Siviter

Cricket professional: W. J. Stewart

Batting-M. G. Semmens 9-5-148-44\*-37.00; \*B. C. A. Ellison 15-1-514-104\*-36.71; S. P. Corkill 14-4-297-75\*-29.70; R. R. Montgomerie 15-1-405-83-28.92; G. A. D. Whittaker 15-0-423-96-28.20; G. W. Jepson 12-3-221-61\*-24.55; G. W. Roberts 11-3-136-32\*-17.00; S. D. A. Drewett 11-1-148-36-14.80.

Bowling-B. C. A. Ellison 230.2-59-631-51-12.37; M. G. Semmens 87.1-15-326-23-14.17; A. L. C. Winchester 171.2-44-491-24-20.45.

#### RYDAL SCHOOL

Played 12: Won 6, Lost 2, Drawn 4

Master i/c: M. H. Stevenson

Cricket professional: R. W. C. Pitman

Batting-J. R. Hogg 12-2-411-66\*-41.10; \*A. G. Moore 11-1-409-109-40.90; R. L. Stewart 10-3-135-45-19.28; H. S. L. Bradley 12-2-162-63-16.20; M. J. Anwyl 10-0-113-31-11.30.

Bowling-A. G. Moore 81-25-190-17-11.17; R. L. Stewart 168.5-40-388-32-12.12; P. J. Acheson 148.3-21-481-27-17.81.

#### ST ALBANS SCHOOL

Played 17: Won 7, Lost 3, Drawn 7. Abandoned 1

Master i/c: N. A. Woodsmith

Cricket professional: G. Cooper

Batting—A. L. Dalwood 17-4-541-82\*-41.61; \*T. E. Preest 15-2-405-82-31.15; M. Henchley 12-1-240-62-21.81; G. J. Dill 17-2-227-43-15.13; E. B. Le Fleming 12-2-150-28-15.00; K. D. Black 11-2-109-36-12.11; E. J. Foster 10-0-102-16-10.20.

Bowling—H. E. Sherman 60–12–200–13–15.38; E. J. Foster 167–40–565–33–17.12; E. B. Le Fleming 113–19–310–18–17.22; G. J. Dill 121–25–406–23–17.65; W. Wilkins 65–12–188–10–18.80.

### ST DUNSTAN'S COLLEGE

Played 16: Won 7, Lost 1, Drawn 8. Abandoned 3

Master i/c: C. Matten

Batting—G. R. S. Scovell 13–2-538–104\*–48.90; M. J. Dowse 16–2-579–105\*–41.35; H. Davies 15–1–348–58–24.85; L. Tyler 10–3–166–56\*–23.71; \*J. J. Platford 14–1–213–56–16.38.

Bowling—S. Cooper 35-5-102-12-8.50; G. R. S. Scovell 142-38-367-29-12.65; T. Evans-Argent 142-31-382-25-15.28; N. Middleton 100-18-260-17-15.29; H. Davies 124-29-338-17-19.88; J. Andrews 121-17-423-18-23.50.

#### ST EDMUND'S SCHOOL, CANTERBURY

Played 13: Won 2, Lost 3, Drawn 8. Abandoned 1

Master i/c: D. E. Knight

Cricket professional: D. V. P. Wright

Batting—J. D. Bowden 13–2–594–162–54.00; \*M. J. E. Horton 12–2–286–57–28.60; N. C. Kennett 11–0–309–53–28.09; P. J. Mitchell 12–1–217–88–19.72; D. K. Stewart 13–1–187–65–15.58.

Bowling—G. P. Semadeni 50.3-9-153-11-13.90; N. C. Kennett 94-21-292-16-18.25; R. Hayes 61-6-220-10-22.00; P. J. Mitchell 115.4-17-399-17-23.47; D. K. Stewart 89-5-455-14-32.50.

#### ST EDWARD'S SCHOOL, OXFORD

Played 12: Won 3, Lost 3, Drawn 5, Tied 1

Playea 12: Won 3, Lost 3,

Master i/c: P. G. Badger Cricket professional: S. N. V. Waterton

Batting—T. H. C. Hancock  $6-1-296-70^*-59.20$ ; A. E. R. Craven-Smith  $11-2-285-65^*-31.66$ ; \*M. J. J. Wethey  $11-1-313-77^*-31.30$ ; A. C. Dobson  $12-1-319-86^*-29.00$ ; J. M. E. Lawes 10-1-236-81-26.22; R. J. C. Hawkins 10-2-200-65-25.00.

Bowling—T. H. C. Hancock 63-14-156-11-14.18; J. M. E. Lawes 149-40-408-15-27.20; G. A. Wright 120.2-27-395-11-35.90; M. S. Ghalib 81-13-376-10-37.60.

#### ST GEORGE'S COLLEGE, WEYBRIDGE

Played 13: Won 4, Lost 1, Drawn 8. Abandoned 5

Master i/c: B. V. O'Gorman

Batting—I. D. Turner 13-0-481-94-37.00; J. Sayers 13-2-343-101\*-31.18; M. Church 9-4-137-46-27.40; A. Hollioake 9-2-188-62-26.85; C. Bennett 13-0-339-124-26.07; T. Clark 7-1-110-29-18.33; T. Segal 11-0-169-39-15.36; B. Williams 12-0-172-52-14.33; P. Smyth 12-3-111-43-12.33.

Bowling-T. Clark 203.4–50–544–34–16.00; A. Hollioake 111–24–310–18–17.22; I. D. Turner 164–26–513–28–18.32; R. Aspinall 115–34–311–15–20.73.

#### ST JOHN'S SCHOOL, LEATHERHEAD

Played 12: Won 3, Lost 6, Drawn 3. Abandoned 1

Master i/c: A. B. Gale

Cricket professional: E. Shepperd

Batting—T. S. S. Walton 6-2-135-82\*-33.75; \*I. B. George 11-1-272-76\*-27.20; T. P. Fairclough 8-1-143-33-20.42; M. E. Randall 11-1-192-55-19.20; M. N. Cooper 12-2-120-26-12.00.

Bowling—A. C. Hill 103.2–30–251–15–16.73; R. E. Smart 142–35–403–23–17.52; G. J. Parkinson 69–20–185–10–18.50.

#### ST JOSEPH'S COLLEGE, IPSWICH

Played 14: Won 1, Lost 2, Drawn 11

Master i/c: A. C. Rutherford

Cricket professional: J. Pugh

Batting—B. Chilcott 13-2-372-106\*-33.81; J. McLoughlin 13-3-211-54\*-21.10; D. White 9-2-130-49-18.57; D. Hamer 13-0-226-56-17.38; J. Newland 10-1-125-73-13.88.

Bowling—J. McLoughlin 84–11–282–19–14.84; J. Cockburn 89.3–18–271–18–15.05; W. Webb 125–19–399–22–18.13; A. Dupont 112–16–355–18–19.72.

#### ST LAWRENCE COLLEGE

Played 11: Won 3, Lost 2, Drawn 6. Abandoned 2

Master i/c: N. O. S. Jones

Cricket professional: L. A. C. D'Arcy

Batting—R. J. Elliott 8-2-235-73\*-39.16; L. M. Willsmer 8-1-232-64\*-33.14; R. S. Chhabra 10-1-208-42-23.11; P. N. Unachukwu 10-1-184-65\*-20.44; G. P. Carson 10-1-111-44-12.33.

Bowling—L. M. Willsmer 188–56–478–33–14.48; \*A. Bird 121–18–348–12–29.00; C. P. Burr 119.3–32–375–10–37.50.

#### ST PAUL'S SCHOOL

Played 15: Won 2, Lost 3, Drawn 10. Abandoned 3

Master i/c: G. Hughes

Cricket professional: E. W. Whitfield

Batting—N. E. Gomm 8-5-110-50-36.66; D. J. Gordon-Smith 13-7-198-43\*-33.00; D. H. L. Edwards 8-1-180-51-25.71; J. M. York 13-0-332-70-25.53; S. C. Klein 9-1-169-44-21.12; J. M. Porteus 8-2-117-29\*-19.50; I. C. Colak-Antic 13-0-211-56-16.23; P. W. T. Neate 13-0-211-43-16.23; T. L. Morris 12-0-193-38-16.08.

Bowling—D. J. Gordon-Smith 179.3–28–527–27–19.51; N. E. Gomm 116–31–338–15–22.53; S. A. Vogt 150–28–472–18–26.22; J. M. Porteus 72.3–13–272–10–27.20.

#### ST PETER'S SCHOOL, YORK

Played 18: Won 4, Lost 2, Drawn 12. Abandoned 2

Master i/c: D. Kirby

Cricket professional: K. J. Mohan

Batting—W. J. Robinson 16-3-638-125\*-49.07; R. Hutchinson 16-2-424-84\*-30.28; \*N. D. Muirhead 16-2-409-64-29.21; T. E. J. Cooper 17-1-464-74\*-29.00; J. N. Renshaw 13-3-196-39\*-19.60; M. D. Donoghue 11-1-177-41-17.70.

901

Bowling—P. F. Wand 232.3–87–530–33–16.06; M. D. Donoghue 213.5–47–674–32–21.06; N. D. Muirhead 205.2–31–712–27–26.37.

# SEDBERGH SCHOOL

Played 13: Won 3, Lost 2, Drawn 8. Abandoned 1

Master i/c: M. J. Morris

Batting—S. D. Gawthorpe 15–2–388–73–29.84; A. J. Meadows 10–4–175–90–29.16; J. R. C. Dakin 13–1–320–59\*–26.66; C. St J. S. Peppiatt 11–2–227–115\*–25.22; J. N. Ayton 10–1–178–47–19.77; \*R. A. E. Scott 13–2–193–58–17.54.

Bowling—J. R. C. Dakin 100.4–32–222–21–10.57; J. N. Gundill 147–39–328–25–13.12; A. M. Skinner 221.3–69–494–32–15.43; M. S. Wrigley 150.4–30–430–23–18.69.

#### SEVENOAKS SCHOOL

Played 17: Won 3, Lost 3, Drawn 11. Abandoned 1

Master i/c: I. J. B. Walker

Bowling-S. T. S. Smith 123.5-27-415-22-18.86; J. D. Fry 230.2-52-692-30-23.06.

#### SHERBORNE SCHOOL

Played 17: Won 6, Lost 3, Drawn 8. Abandoned 1

Master i/c: G. C. Allen

Cricket professional: C. Stone

Batting—P. Hodges 10–3–253–84–36.14; \*T. R. Ashworth 13–3–273–66–27.30; S. J. Leeke 12–3–237–88\*–26.33; B. D. Atwell 14–1–316–71–24.30; T. A. Batchelar 15–0–355–70–23.66; M. C. Evans 7–2–117–84\*–23.40; J. E. Pratt 12–3–182–64–20.22.

Bowling—R. P. O. Springfield 165–51–389–31–12.54; T. R. Ashworth 81.4–16–229–17–13.47; P. Hodges 156.2–47–376–26–14.46.

#### SHIPLAKE COLLEGE

Played 12: Won 3, Lost 4, Drawn 5

Master i/c: P. M. Davey

Batting—D. S. Simmons 12–1–367–69–33.36; E. J. Rydon 10–2–201–59–25.12; D. E. Hyman 11–2–225–52–25.00; J. L. Edgar 11–3–148–42–18.50; M. H. Nunn 9–0–138–69–15.33.

Bowling—M. H. Nunn 103–31–264–22–12.00; \*T. J. Wilson 103–17–354–23–15.39; D. S. Simmons 47–9–150–12–12.50; S. J. Clark 58–5–253–10–25.30.

#### SHREWSBURY SCHOOL

Played 17: Won 7, Lost 2, Drawn 8. Abandoned 2

Master i/c: J. M. Williams Cricket professionals: P. H. Bromley and Y. Manack

Batting—\*J. M. Jones 16–1–504–93–33.60; D. J. Bowett 16–3–435–99–33.46; E. J. W. Maxwell 10–0–229–69–22.90; P. J. Heyworth 10–0–223–87–22.30; D. P. Lightning 14–2–231–53–19.25; A. D. Browne 17–1–267–69\*–16.68.

Bowling—D. J. Bowett 194.3-48-497-40-12.42; D. M. W. Roberts 144.3-28-400-27-14.81; J. L. Wagstaff 122-27-330-18-18.33; P. S. Bullock 113.1-25-369-20-18.45.

#### SIMON LANGTON GRAMMAR SCHOOL

Played 16: Won 10, Lost 1, Drawn 5. Abandoned 5

Master i/c: R. F. Harriott

Batting—D. G. Newton 15-1-618-95\*-44.14; L. J. Scales 3-0-112-68-37.33; N. S. Cox 14-2-427-103\*-35.58; \*P. C. Relf 13-2-375-105-34.09; N. R. Henn 14-2-397-65-33.08.

Bowling—A. D. Judge 139.4–37–351–29–12.10; P. C. Relf 127–25–435–31–14.03; M. D. Bentley 54.1–8–163–11–14.81; A. R. Danes 75.2–9–231–15–15.40; T. J. Stevens 89–14–239–12–19.91; R. C. Stevens 83–16–245–11–22.27.

#### SIR ROGER MANWOOD'S SCHOOL

Played 8: Won 4, Lost 2, Drawn 2. Abandoned 1

Master i/c: P. Firminger

Batting—\*A. Crofts 5-3-160-54\*-80.00; M. May 7-1-298-95\*-49.66; S. Wellard 6-3-122-54\*-40.66; L. Marsh 8-1-239-70\*-34.14; D. Deadman 7-2-118-32\*-23.60.

Bowling-T. Squire 73.2-11-222-12-18.50; D. Hill 104.1-21-317-17-18.64.

#### SOLIHULL SCHOOL

Played 15: Won 5, Lost 5, Drawn 5

Master i/c: M. R. Brough

Cricket professional: G. Briant

Batting—D. C. Pritchard 14–3–402–93\*–36.54; P. Wheeler 8–1–247–100\*–35.28; J. M. A. Inglis 10–2–227–48\*–28.37; D. J. Kelly 15–2–281–61–21.61; E. J. M. Jones 14–1–225–103–17.30; R. E. Hatcliffe 11–1–166–57–16.60; P. Goodson 11–0–148–39–13.45.

Bowling—R. E. Hatcliffe 78-13-280-21-13.33; J. M. A. Inglis 69.2-12-216-15-14.40; S. K. Bushell 71.1-24-211-11-19.18; D. C. Pritchard 117-13-492-24-20.50; S. A. Randall 79-13-272-13-20.92; N. Heath 108-16-351-15-23.40.

#### STAMFORD SCHOOL

Played 13: Won 1, Lost 6, Drawn 5, Tied 1. Abandoned 2

Master i/c: S. N. Webster

Batting—\*D. M. Aldridge 14–1–346–60–26.61; D. Richardson 14–2–271–75\*–22.58; M. S. Lock 10–2–177–33–22.12; R. D. Simpson 6–0–103–41–17.16; J. J. Mackie 9–1–127–34–15.87; B. G. Martin 12–1–157–34–14.27; A. T. Forster 13–0–180–48–13.84.

Bowling—D. Richardson 111–27–341–20–17.05; B. G. Martin 159–30–457–21–21.76; D. M. Aldridge 158–38–540–17–31.76; T. Atkinson 115–24–415–11–37.72.

#### STOCKPORT GRAMMAR SCHOOL

Played 14: Won 3, Lost 6, Drawn 5

Master i/c: C. Dunkerley

Batting—\*I. Millner 14–4–398–85–39.80; P. Duckworth 13–3–224–44–22.40; H. Grayson 13–1–290–44–24.16; M. Baulkwill 12–0–170–33–14.16; R. Patel 11–2–111–24–12.33; J. Healey 12–0–120–29–10.00.

Bowling—R. Patel 154.5-30-416-32-13.00; P. Duckworth 91-8-338-21-16.09; B. Anderson 139-25-481-24-20.04.

#### STONYHURST COLLEGE

Played 8: Won 2, Lost 1, Drawn 5. Abandoned 1

Master i/c: J. M. Fairburn

Batting—\*G. O'Driscoll 9-2-536-146\*-76.57; P. Flood 8-1-190-45\*-27.14; B. Hammond 9-1-177-54-22.12.

Bowling—P. Keown 44.3–12–117–12–9.75; L. O'Doherty 87.3–24–235–14–16.78; J. Wareing 72–16–224–12–18.66; B. Hammond 131–31–338–12–28.16.

#### STOWE SCHOOL

Played 14: Won 2, Lost 3, Drawn 9. Abandoned 5

Master i/c: G. A. Cottrell

Cricket professional: M. J. Harris

Batting—\*W. J. P. Atkinson 11–0–477–98–43.36; R. B. Pumfrey 11–0–383–66–34.81; H. P. V. Scott-Gall 10–3–236–70–33.71; G. J. Amdor 12–3–194–53\*–21.55; D. T. H. Rotheroe 10–1–152–68\*–16.88.

Bowling—H. P. V. Scott-Gall 114–26–376–18–20.88; R. B. Pumfrey 136–9–399–18–22.16; B. I. DeWynter 106.2–24–361–11–32.81; M. J. T. Jefferson 148–7–495–10–49.50.

#### STRATHALLAN SCHOOL

Played 15: Won 5, Lost 4, Drawn 6. Abandoned 1

Master i/c: R. J. W. Proctor

Batting—R. B. Moffat 12–2–352–63–35.20; R. G. Eason 12–1–314–60\*–28.54; J. A. Jacobsen 14–2–256–56\*–21.33; \*G. M. Adam 10–1–185–64–20.55; G. D. Wallace 10–3–103–22\*–14.71; S. Neish 9–0–119–49–13.22.

Bowling—R. A. Hatfield 152.4–39–384–22–17.45; R. G. Brown 200–42–568–30–18.93; G. M. Adam 95–13–288–15–19.20; J. C. M. van Beusekom 81–23–264–13–20.30; G. N. Reid 121.3–35–350–15–23.33; D. G. Thorburn 67–11–248–10–24.80.

# SUTTON VALENCE SCHOOL

Played 17: Won 9, Lost 2, Drawn 6

Master i/c: D. Pickard

Batting—J. Cowell 8-3-204-49\*-40.80; J. Barr 16-1-449-55-29.93; A. Barr 16-2-412-62-29.42; Y. Patel 15-4-208-53-18.90; M. Chambers 13-1-198-37-16.50; P. Heine 15-0-192-39-12.80.

Bowling—C. Dennison 32-6-72-10-7.20; J. Barr 168.1-37-471-39-12.07; A. Barr 78-20-191-15-12.73; D. Patel 190.2-44-483-34-14.20; Y. Patel 157.1-33-376-26-14.46; R. Girling 181.5-43-502-27-18.59.

# TAUNTON SCHOOL

Played 12: Won 8, Lost 1, Drawn 3. Abandoned 4

Master i/c: R. P. Smith

Batting—\*P. C. L. Holloway 12-2-568-152\*-56.80; A. Habib 11-4-394-84\*-56.28; M. J. Amor 11-3-263-52-32.87; A. Maynard 9-4-124-44-24.80; B. Scofield 12-0-215-49-17.91; N. A. Blake 10-1-135-28-15.00.

Bowling—G. Bennett 132.5-40-275-24-11.45; J. Seward 112.4-25-280-21-13.33; B. Scofield 109.4-24-298-20-14.90; T. Joy 80.1-23-162-10-16.20; J. Neale 102.5-30-254-12-21.16.

#### TIFFIN SCHOOL

Played 21: Won 5, Lost 3, Drawn 12, Tied 1. Abandoned 1

Master i/c: M. J. Williams

Batting—\*N. J. B. Howell 21–2–902–124\*–47.47; J. Matthews 20–1–722–113–38.00; R. D. Nash 21–2–501–77–26.36; D. K. Jones 16–2–320–113–22.85; A. N. Hones 12–6–113–26–18.83; T. C. M. Phillips 19–5–254–62\*–18.14; A. W. Kennis 20–1–296–47–15.57; M. J. Watts 11–1–123–29–12.30.

Bowling—R. H. Beeching 56–14–154–11–14.00; T. C. M. Phillips 194.1–39–671–32–20.96; A. N. Hones 386.2–93–1,047–46–22.76; R. M. Evans 150–41–443–19–23.31; R. D. Nash 133.2–31–449–16–28.06.

#### **TONBRIDGE SCHOOL**

Played 19: Won 6, Lost 4, Drawn 9

Master i/c: S. J. G. Doggart

Cricket professional: H. Mutton

Batting—D. R. Penfold 20–5–799–101\*–53.26; C. J. Hollins 18–1–654–107–38.47; R. D. Gill 18–0–622–146–34.55; C. J. M. Bates 13–3–326–59–32.60; J. A. Richardson 10–3–200–46\*–28.57; M. S. Nolan 18–2–403–55–25.18; M. C. Cook 8–3–115–37–23.00; R. Nayar 10–2–124–35–15.50; J. P. Arscott 13–2–123–34\*–11.18.

Bowling—J. S. Durling 241–76–568–30–18.93; C. J. Hollins 92–28–291–13–22.38; A. G. Hunn 234.4–48–721–31–23.25; J. R. Honeyfield 141–27–469–20–23.45; R. Nayar 151–30–553–22–25.13; P. Beaumont 91–12–336–11–30.54.

### TRENT COLLEGE

Played 16: Won 7, Lost 2, Drawn 7

Master i/c: T. P. Woods

Batting—T. C. White 14-2-565-135\*-47.08; I. R. Birch 10-3-319-71-45.57; T. A. Ellis 12-4-313-83-39.12; A. W. Bocking 15-2-296-68\*-22.76; J. D. Evans 11-0-234-45-21.27.

Bowling—M. A. Slade 131.3–46–243–18–13.50; C. G. Pye 82.4–20–208–15–13.86; A. W. Bocking 37.5–9–158–11–14.36; I. R. Birch 167.2–34–460–32–14.37; T. A. Ellis 141.2–35–414–28–14.78.

### TRINITY SCHOOL

Played 21: Won 8, Lost 2, Drawn 11. Abandoned 2

Masters i/c: A. Gist and B. Widger

Batting—J. D. Morley 19–0–759–132–39.94; \*P. A. Gardner 15–6–248–51\*–27.55; M. A. Butcher 7–1–150–55\*–25.00; A. J. Budge 20–0–471–74–23.55; J. D. Good 14–7–148–25\*–21.14; A. P. Hubbard 20–1–367–110\*–19.31; D. M. P. Turner 20–1–331–86–17.42; J. B. Orpin 19–0–285–62–15.00; C. Stokes 20–4–204–40–12.75.

Bowling—J. D. Good 286.3-76-685-50-13.70; P. A. Gardner 186-59-381-26-14.65; D. M. P. Turner 102.1-12-343-23-14.91; M. A. Butcher 66-12-192-12-16.00; P. B. Wren 128-34-374-14-26.71.

#### TRURO SCHOOL

Played 10: Won 1, Lost 8, Drawn 1

Master i/c: A. J. D. Aldwinckle

Batting-\*J. A. Johnston 9-0-186-55-20.66; R. J. Smart 9-1-164-44-20.50.

Bowling-J. A. Johnston 68.5-6-260-16-16.25; D. J. B. Johns 111.5-18-348-19-18.31.

# **UNIVERSITY COLLEGE SCHOOL**

Played 15: Won 2, Lost 8, Drawn 5. Abandoned 3

Master i/c: S. M. Bloomfield

Cricket professional: W. E. Jones

Batting—A. J. Stewart 13–1–502–132–41.83; R. J. Ayre 12–1–270–103\*–25.54; S. K. Cattermole 12–0–261–67–21.75; \*A. G. B. Bloch 12–0–227–94–18.91; J. E. Freeson 10–2–131–40\*–16.37.

Bowling—S. Rush 140.5–25–468–24–19.50; K. Schofield 114.3–24–382–16–23.87; S. K. Cattermole 125–20–401–14–28.64; D. Sibson 151.2–28–448–14–32.00.

### **UPPINGHAM SCHOOL**

Played 15: Won 3, Lost 5, Drawn 7. Abandoned 4

Master i/c: I. E. W. Sanders

Cricket professional: M. R. Hallam

Batting—J. H. Renison 12–2–284–104\*–28.40; R. J. Howe 15–1–381–47–27.21; N. M. Leppington 13–4–213–41\*–23.66; \*M. C. Renison 11–1–209–58–20.90; E. R. Fowler 14–0–232–74–16.57; W. A. J. Wauchope 8–0–115–50–14.37; P. J. E. Spencer 10–2–115–30–14.37; M. R. Dodson 10–0–106–58–10.60.

Bowling—P. J. E. Spencer 190–51–489–32–15.28; G. M. Leather 136.3–28–429–22–19.50; E. R. Fowler 73–14–201–10–20.10; J. E. R. Scott 173.1–47–451–18–25.05; N. M. Leppington 93–10–352–14–25.14.

# VICTORIA COLLEGE, JERSEY

Played 25: Won 8, Lost 3, Drawn 14

Master i/c: D. A. R. Ferguson

Cricket professional: R. A. Pearce

Batting—\*P. J. Le Cornu 22–3–920–126\*–48.42; A. J. Clarke 25–4–947–111–45.09; D. J. Pearce 23–3–482–71\*–24.10; G. C. Ferguson 17–4–283–56–21.76; N. F. Le Feuvre 15–2–246–46–18.92; S. L. J. Weithley 20–5–209–40–13.93; S. F. Thomas 16–1–140–27–9.33; S. A. A. Gothard 18–2–138–29\*–8.62; B. M. Vowden 20–1–145–34–7.63.

Bowling—S. L. J. Weithley 91-23-280-20-14.00; A. J. Clarke 232-49-711-42-16.92; D. K. Bower 81.3-34-367-21-17.47; P. J. Le Cornu 274-69-797-43-18.53; S. A. A. Gothard 216.2-40-753-30-25.10; B. M. Vowden 101-12-453-18-25.16.

### **WARWICK SCHOOL**

Played 18: Won 5, Lost 4, Drawn 8, Tied 1. Abandoned 1

Master i/c: S. P. Sutcliffe

Cricket professional: N. Horner

Batting—\*C. G. Stanton 17–1–543–119–33.93; C. G. Oswald 17–5–336–84\*–28.00; G. Rawstorne 14–5–237–80–26.33; J. D. Moffatt 15–0–307–60–20.46; C. J. French 17–0–301–69–17.70; A. J. Bolton 9–1–129–31–16.12; B. Dalby 17–0–217–39–12.76.

Bowling—C. G. Oswald 329-86-959-62-15.46; J. R. Quinn 246-55-662-34-19.47; J. Ward 78-20-220-10-22.00; N. J. Corstorphine 139-28-434-19-22.84.

# WATFORD GRAMMAR SCHOOL

Played 15: Won 1, Lost 3, Drawn 11

Master i/c: P. G. Lidington

Batting—A. Griffin 15-5-613-115\*-61.30; P. Windmill 15-0-367-87-24.46; B. Watson 15-0-357-78-23.80; S. Easterbrook 12-3-211-39-23.44; C. Funnell 9-0-190-46-21.11; G. Warren 14-3-127-25-11.54.

Bowling—N. Walker 132.3-29-477-32-14.90; S. Easterbrook 185.4-43-527-30-17.56; R. Harradine 112-23-379-18-21.05; J. Dunstone 118-30-361-15-24.06.

# WELLINGBOROUGH SCHOOL

Played 21: Won 8, Lost 1, Drawn 12. Abandoned 3

Master i/c: C. J. Ford

Cricket professional: J. C. J. Dye

Batting—J. M. Attfield 20–9–608–80\*–55.27; \*M. Ingram 15–4–586–93–53.27; S. McMillan 19–4–281–56–18.73; N. Haste 15–5–175–38\*–17.50; M. Chacksfield 15–3–202–59\*–16.83; A. Woodward 12–2–142–34–14.20.

Bowling—R. Cousins 329.5–98–693–72–9.62; J. M. Attfield 241.2–75–615–35–17.57; J. J. Attfield 125–23–420–19–22.10; N. Haste 182–44–478–20–23.90.

# **WELLINGTON COLLEGE**

Played 15: Won 1, Lost 2, Drawn 12. Abandoned 2

Masters i/c: K. M. Hopkins and C. M. St G. Potter Cricket professional: P. J. Lewington

Batting—M. C. K. Hodgson 16-2-568-111\*-40.57; H. C. E. Green 11-0-240-50-21.81; D. R. Blomfield 16-2-301-48-21.50; E. V. Quibell 13-2-194-53-17.63; A. P. D. Wyke 14-4-143-46-14.30; S. M. Chew 10-1-100-20-11.11; C. J. G. Yeldham 12-1-115-40-10.45; \*R. W. A. Sleigh 13-0-130-27-10.00; J. D. C. Carr-Smith 13-0-119-28-9.15.

Bowling—J. D. C. Carr-Smith 86–14–277–16–17.31; E. V. Quibell 179–49–482–22–21.90; T. A. Marden 161.3–19–558–25–22.32; R. J. H. Brett 196.4–38–575–21–27.38.

### WELLINGTON SCHOOL, SOMERSET

Played 13: Won 4, Lost 3, Drawn 6. Abandoned 2

Master i/c: P. M. Pearce

Batting—\*J. Govier 13–0–346–72–26.61; S. Comins 12–2–248–46–24.80; J. Austin 12–3–210–45\*–23.33; J. Smith 13–0–269–61–20.69; C. Vellacott 13–0–265–96–20.38; N. Loudon 13–5–159–33–19.87.

Bowling—N. Hutchins 67-20-187-12-15.58; J. Govier 108.5-17-425-26-16.34; N. Loudon 146.2-34-486-27-18.00.

# WESTMINSTER SCHOOL

Played 13: Won 4, Lost 3, Drawn 6

Master i/c: J. Cogan

Cricket professional: R. Gilson

Batting—D. J. Cogan 13-1-425-104\*-35.41; A. Breach 12-0-240-78-20.00; A. Coles 12-0-179-45-14.91; \*J. Hyam 13-1-158-50\*-13.16; J. M. Cogan 13-1-134-35\*-11.16

Bowling-W. Brooks 68-9-266-13-20.46; D. Earle 86.3-15-328-12-27.33.

#### WHITGIFT SCHOOL

Played 19: Won 4, Lost 8, Drawn 7. Abandoned 1

Master i/c: P. C. Fladgate

Cricket professional: F. Angles

Batting—N. S. Auer 20–3-631–100\*–37.11; A. R. Biswas 20–1–376–83\*–19.78; D. J. Fredrickson 12–0–188–49–15.66; J. S. Harford 12–1–166–38\*–15.09; T. G. A. Griffiths 16–0–233–49–14.56; A. J. Bustard 12–0–163–54–13.58; C. E. Bruin 18–4–188–42–13.42; \*S. J. Hill 18–2–193–50–12.06; G. M. Ward 14–5–102–26–11.33.

Bowling—C. E. Bruin 174.3–29–391–25–15.64; N. S. Auer 169–46–422–25–16.88; R. J. Targett 183.4–41–496–29–17.10; S. J. Hill 302.1–69–798–27–29.55; A. J. S. Baxter 90–10–390–12–32.50.

# WILLIAM HULME'S GRAMMAR SCHOOL

Played 20: Won 8, Lost 8, Drawn 4. Abandoned 2

Master i/c: I. J. Shaw

Batting-\*D. M. J. Timm 17-4-791-144\*-60.84; N. J. Ridings 15-1-461-88\*-32.92: N. J. Partington 8-1-166-47-23.71; I. R. Jordan 12-3-171-61\*-19.00; I. D. Butler 14-3-207-49-18.81; A. W. Kloss 11-0-184-38-16.72; D. Loveland 10-2-119-27-14.87.

Bowling—D. Loveland 65-10-220-13-16.92; I. R. Jordan 122-31-348-19-18.31; A. D. Cleary 85-19-241-13-18.53; S. V. Kapadia 161-37-458-24-19.08; A. S. Partington 155-31-445-21-21.19; D. M. J. Timm 136-28-462-19-24.31; A. K. Hollingworth 76-8-258-10-25.80.

### WINCHESTER COLLEGE

Played 15: Won 2, Lost 8, Drawn 5. Abandoned 1

Master i/c: P. J. Metcalfe

Cricket professional: K. N. Foyle

Batting-D. A. de Lanoy Meijer 15-2-507-88-39.00; J. Collett 6-1-144-42-28.80; D. O. D. Williams 10-2-161-50-20.12; B. T. H. G. Pollard 14-1-256-51-19.69; \*R. J. E. Hall 15-0-294-87-19.60; J. P. Maclay 14-1-241-54-18.53; M. A. Raison 14-0-187-53-13.35; R. A. Sanders 15-0-186-31-12.40.

Bowling-J. P. Maclay 99-13-375-15-25.00; A. R. B. Large 179-34-636-23-27.65; D. A. de Lanoy Meijer 119-10-493-16-30.81; G. Baker 98-14-424-12-35.33.

#### WOODBRIDGE SCHOOL

Played 10: Won 2, Lost 1, Drawn 7

Master i/c: M. Lubbock

Batting-B. Sindell 10-0-298-74-29.80; \*J. Harper 10-1-260-61-28.88; J. Carpenter 9-1-182-51-22.75; S. Dunn 10-0-114-34-11.40.

Bowling-J. Harper 131-46-366-22-16.63; P. Donnison 125-33-309-15-20.60; R. Hallam 115-30-265-11-24.09.

# **WOODHOUSE GROVE SCHOOL**

Played 11: Won 4, Lost 1, Drawn 6. Abandoned 3

Master i/c: E. R. Howard

Cricket professional: R. Dani

Batting—J. L. Gomersall 11-3-370-87\*-46.25; M. A. Beever 6-3-136-73\*-45.33; \*C. A. Miller 10-3-261-101\*-37.28; J. C. M. Dobbs 9-2-171-51\*-24.42; D. M. Lawson 11-0-243-62-22.09; S. J. P. Amos 8-2-107-36\*-17.83.

Bowling—B. D. Cadman 61-16-178-14-12.71; S. N. Lee 107.2-18-404-28-14.42; M. W. Richardson 101.4-20-314-16-19.62.

#### WORKSOP COLLEGE

Played 13: Won 2, Lost 3, Drawn 8. Abandoned 1

Master i/c: N. S. Broadbent

Cricket professional: A. Kettleborough

Batting—R. A. Kettleborough 12-3-546-95-60.66; J. D. Goode 12-3-271-100\*-30.11; M. D. Holden 9-2-199-51\*-28.42; C. R. G. Oldfield 6-0-111-32-18.50; D. H. Ellis 8-2-106-41\*-17.66; J. D. Beardsley 10-1-158-35\*-17.55; P. K. R. Patel 11-0-137-34-12.45.

Bowling-D. H. Ellis 95-20-304-13-23.38; J. D. Goode 117-21-359-13-27.61; J. Theobald 122-23-340-12-28.33; R. A. Kettleborough 126-38-347-10-34.70.

#### WREKIN COLLEGE

Played 15: Won 7, Lost 2, Drawn 6. Abandoned 4

Master i/c: R. Yates-Ward Cricket professional: T. J. Harrison

Batting-C. C. P. Davies 2-0-116-74-58.00; \*S. R. Jackson 14-3-435-69-39.54; J. A. D. Mallinson 15-1-244-50-17.42; A. L. Tilsley 11-5-101-26\*-16.83; M. R. Savage 14-2-189-42-15.75; S. R. D. H. Lander 9-0-125-40-13.88; G. R. Shafto 10-1-122-37-13.55; P. J. Garvey 11-1-127-40-12.70; J. B. Dixon 10-0-125-28-12.50.

Bowling-A. L. Tilsley 81.2-14-252-16-15.75; S. R. Jackson 216.4-47-686-36-19.05; G. R. Shafto 55.2-4-216-11-19.63.

### WYCLIFFE COLLEGE

Played 18: Won 3, Lost 5, Drawn 10. Abandoned 1

Master i/c: P. Woolley

Cricket professional: K. Biddulph

Batting-\*S. G. Cady 9-1-229-64-28.62; J. F. P. Tovey 13-1-265-62-22.08; G. A. McDade 8-1-154-59-22.00; G. M. Collins 13-0-278-58-21.38; M. H. Workman 8-1-132-33\*-18.85; R. M. Clements 12-2-167-49-16.70.

Bowling-S. G. Cady 137-14-392-23-17.04; J. M. Thomas 106-9-310-17-18.23; J. F. P. Tovey 85-8-334-14-23.85.

### WYGGESTON & QUEEN ELIZABETH I SIXTH FORM COLLEGE

Played 7: Won 5, Lost 0, Drawn 2. Abandoned 5

Master i/c: G. G. Wells

Batting-\*J. L. Green 5-0-177-77-35.40; L. R. F. Ewen 4-0-104-68-26.00

Bowling-J. L. Green 60.3-20-126-23-5.47; M. Bulsara 33-1-114-12-9.50.

# CRICKET ASSOCIATIONS AND SOCIETIES

- AUCKLAND CRICKET SOCIETY: Secretary J. H. Palmer, Eden Park, PO Box 2860, Auckland 1, New Zealand.
- AUSTRALIAN CRICKET SOCIETY: Chris Harte, GPO Box 696, Adelaide, 5001, South Australia.
- BLACKLEY CRICKET SOCIETY: Secretary D. N. Butterfield, 7 Bayswater Terrace, Halifax, West Yorkshire, HX3 0NB.
- CAMBRIDGE UNIVERSITY CRICKET SOCIETY: Secretary R. Wheal, St John's College, Cambridge.
- CHELTENHAM CRICKET SOCIETY: Secretary N. Cooke, Wickets, 10 Welland Lodge Road, Cheltenham, Gloucestershire GL52 3EZ.
- CHESTERFIELD CRICKET SOCIETY: Secretary J. S. Cook, 44 Morris Avenue, Newbold, Chesterfield, Derbyshire S41 7BA.
- COUNCIL OF CRICKET SOCIETIES, THE: Secretary J. Featherstone, 205 Hyde Park Road, Leeds, Yorkshire LS6 1AH.
- CRICKET MEMORABILIA SOCIETY: Secretary A. Sheldon, 29 Highclere Road, Crumpsall, Manchester M8 6WS.
- CRICKET SOCIETY, THE: Secretary E. B. Budd, 180 Grove End Gardens, London NW89LS.

# JOHN WISDEN & CO LTD 1864-1989

ISBN 0-947766-13-8



**£14.95** net in UK only